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1. In which of the following streams, the course of flow is determined by the original
slope of land ?

(1) Insequent (2y Obsequent
(3) Subsequent (4) Consequent
P & & foe a1 F sae = AF S B 9@ e @ PieiRa &k
g7
(1) erspaec (2) Segartt
(3) waedt (4) Srgactt
2. Which one of the following is the largest fresh water lake ?
(1) Caspian sca (2) Mediterranean sea
(3) Superior (4) Victoria
fFrafafga & 33 -5 mad 2h fi2 oh 6 a8 ?
(1) dfegga wme (2) YHE "I
(3) guitaz (4) R
3. Match the following Volcanoes and country where they are located :
Volcanoes Country
a. Cotopaxi (1) Tanzania
b. Kilimanjaro (1) laly
¢. Mount Elbrus (1i1) Ecuador
d. Mount Etna (1v) Russia

a b - d
(1) Gi)  (v) (i) (1)
(2) (i) (v) (1) (i)
(3) (i) (1)  (v) (i)
@) () (i) (v) (i)
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i saramgfeal ol awdh feerer Aar ar frrer wt

ST At
a. AR (i) cfonferar
b. e (i) et
c. HI¥T T (iii) gFTSIX
d. HARE¥T T (iv) &F

a b C d
(1) Gy  Gv) G @)
2) Gy Gv) @O (i)
3) (i) (@) (iV). (ii)
4) (@) @i @Gv) ()

4. Match the following rivers and their tributaries :

River Tributary
a. Rhine o (i) Aare
b. Amazon ' : (if) Tao
c. Colorado - (iii) Madeira
d. Yellow ' (iv) Green

a b ¢ d
(1) Gii) @Gv) @@ @
@) () @Gv) @ (D)
@) @) @) v @
@ @ @) Gv) )
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Rr=ferRaa Al ofv Swah aems aRkAt @ e HY

TR qogs A&
a. EA (i) AR
b. TATH (ii) amalr
c. BRI (iii) 7ERT
d. 9=t (iv) sl

a b ] d
) Gi) @ G 6
@ G) v O G
@) Gi) G @ O
@@ Gi) @) G

5. Match the fdlloWing climatic symbols and climatic regions as -per Koeppen's

classification :
Symbol Climatic region
a. Bwh (i) Sub - Arctic Taiga
- b. Aw (ii) Mediterranean
c. C ' (iii) Desert
d. Dfe (iv) Tropical Savana

a b c . d
() @i Gv) G Q)
) () @Gv) (i) @)
3) (i) @) ) @
@ G (@Gv) (@) (i)
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DT B @l & srpare FrafoRad owamy s oft srearg A H FErE

HL
BRICH STRTETg, A
a. Bwh (i) S9U-aThfesh &M
b. Aw (i) gHemErTa
c. C (iii) IPEA
d. Dfe | (iv) SoTHRE ST TG

a b C d
(1) Gi)) (@v) () @) .
() () Gv) @) (@)
(3) Gi) () @) (@)
@ @O aGv 3G (i)

6. Which of the followiﬁg types of clouds are situated at the highest in the sky and seldom

produce rain on earth ?
(1) Stratus (2) Nimbus
(3) Cirrus (4) Cumulus

ﬁmﬁf@aﬁa%ﬁm%wammﬁmé%wwﬁqaaﬁ%
AR g ux HH-HHAT a9t Hd B 7

(1) Sew () Fraa
(3) R (4) T
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r ::Zl,ih?mw of the following feature is nof associated with the process of underground
(1) Dolines (2) Uvalas
(3) Polljes (4) Eskers
Frafafaa § @ H-W Qe sftre s @ gl & defoa 787 2 2
(1) S | (2) SawEr
(3) QS (4) wEpd

8. Which of the following countries has the longest coastline ?

(1) USA (2) Canada
(3) Russia (4) China
Prafefag & @ feg 39 & qeler 999 o« § 7
(1) guag (2) =T
@) & (@) &

9. Which is the correct arrangement of the atmospheric layers from nearest to farthest

from earth surface ?

(1) Troposphcrc.- Ozonosphére - Stratosphere ; Ionosphere

(2) Troposphcre - Stratosphére - Ozonosphere.- Ionosphere

(3) Stratosphere - Troposphere - Ozonosphere - Ionosphere

(4) Stratosphere - Tropospheré - Ionosphere - Ozonosphere
g&ﬁﬁmﬁﬁwﬁwmmqﬁaﬁﬂamﬁa—ﬁ
g7 |

(4) E9aTY HSH - SHHSH - AETHSH - ANSHEREAY
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10. Match the following winds and their geographical areas :

Winds Geographical areas
a. Mistral (i) Egvpt
b. Sirroaco (ii) Central plateau of France
c. Bora (iii) Blowout from Szhara desert towards Mediterrancan sca
d. Khamsins (iv) Adriatic sea region

a b c d
(D) (i) Gv) () ()
(2) (i) (i) (V) ()
(3) (i) (i)  Gv) (D)
(4) (i) Gv) () ()
Rrfafaa pastt e 398 deifes &8 e fem T

gand difas &
a. e (i) =%
b. &g (i) wia @ e 9=
c. @ (iii) WETA MR 8 §EE @r & AT Eende

d. @afEa (iv) ofgafes w58 &3

(1) (i) (v) () @)

(2) (i) (i) (v) (@)

(3) (i) (i) @Gv) )

@) () (@(v) (@) ()
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11.  Which of the following statement is nof correct :

(1) Fogs arc dricr than mists and they are prevalent where warm currents of air come
in contacts with cold currents

(2) Frozen dcw is known as hoverfrost

(3) Transformation of water vapour into water is called condensation
(4) Evaporation is the loss of heat
frafafag & @ f9-a1 HuF F& F8 8 7

(1) e g # g ¥ aifes gh Aar ¥ R g' el wEfew e ¥ Stel
gl @ T gRIE S gRiel & Hudh F oIRh

2) S &2 offe & BFTHE B HY F AT Al B

(3) ST sy Hr g F aRacH Hew wedr ®

(4) aTSfRIoT H H ETE @

12. Match the occan currents and their geographical areas :

Ocean Currents Geographical areas
a. Bengucla (i) South eastern South Africa coast
b. Labrador (ii) Japanese coast
c. Kurosiwo (iii) South Western Africa continent
d. Agulhas | (iv) South of Greenland

a b C d
(1) i) G @ @)
) () (v @@ (i)
3) (i) (v) @) @
@) () i) @) Gv)
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merarTdy wrialt ok g Ao A @ e B

ABEFTNY g A 8=
#: R (i) afaror it aferer SR T
b. AR (ii) ST @
c. FARFEA (i) <o af=R ST FETAT
d. oTIcTeTd (iv) A=de & afror

a b C d
(M) Giy G @ (V)
) () (v) @@ (i)
@3) (i) Gv) @ (@0
@ () Gi) () (1v)
13. The characteristics of Doldrums belt is best explained by :
(1) Moderate pressure’
(2) High pressure and high speed winds
(3) Low pressure and calm winds
(4) Low pressurc and strong winds
Wéﬁaﬁﬁﬁﬂaﬁﬁma@aﬁ%mw%:
‘( 1) A =9
(2) =1 < i) g=a T AR T
(3) %9 @@ oY i g

(4) %9 e S} AT T
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14. Flat topped sca mounts are called as :
(1) Platcaus (2) Shoals
(3) Ocean shclves (4) Guyots
qare Y et AP Tdal B HeT S ¥ o
(1) =) (2) o
(3) HE™ErT" qrEn (4) TEEE
15. In earth's intcrior, Asthenosphere is situated between :
(1) Earth crust and Mantle (2) Mantle and inner core
(3) Inner core and outer core (4) Mantle and outer core
get & T A H, T fras S Ree R 7
(1) geit &t qugt iR Hew (2) Few &R STl HX
(3) oTaRe HY AR Al B (4) Few X "Bl B
16. Which instrument is used to measure relative humidity ?
(1) Vacuum bulb thermometer
(2) Pedometer
(3) Barometcr
(4) Wet and dry bulb thermometer
mgam@m@%mmmmmmw%?
(1) B = S
(2) JEHIX
(3) AR
@) e e = i P.T.O
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17. Which of the following planct's average distance from sun is wrongly mentioned ?

Planet Average distance from sufl in miles

(1) Mercury | 36,000,000

(2) Venus 87,000,000

(3) Earth 92,900,000

(4) Mars 141,500;000

Frffaa § & Ree e & o & olea g 7w I T ¥ 7
B gf & ofwa g e A

(1) g% 36,000,000

(2) g=h 87,000,000

(3) gesft | 92,900,000

(4) =T 141,500,000

18. Approximate distance between two longitudes on earth's equator is :

(1) 111.3 Kms (2) 121.7 Kms

(3) 101.7 Kms (4) 105.3 Kms

geefl @ YHEd @1 UX A IR B dE H FAFACT g4 e 8 7
(1) 111.3 T (2) 121.7 &+

(3) 101.7 = ' (4) 1053 Tt

| 19. What is the time difference between two longitudes on earth ?

(1) 1 Minute (2) 2 Minutes

(3) 3 Minutes (4) 4 Minutes
gedl G¥ 7 A & A FHF Hl HAR FT B 7

(1) 1 fFFe (2) 2 B

(3) 3 fAe ‘ 4) 4 e
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20. Which of the following is not a feature of wind crosion ?

(1) Hammada (2) Inselberg
(3) Zeugen ' (4) Kame
Freffeg & @ - g oraRad & [ 78 ' 7
(1) &=m=T (2) AT
(3) ST (4) &7
21. Roche Mountonnces are the feature developed by the process of :
(1) Glacier : (2) River
(3) Wind (4) Underground water
Jer ARG PR wfpar g Rela g @
(1) =R ) 5
(3) = (4) g S
22. The grams of water vapor per cubic meter volume of air is known as :
(1) Static humidity (2) Relative humidity
(3) Absolute humidity (4) Specific humidity
m%ﬁwﬁﬁawﬁwm%mﬁwwﬁmm%:
(1) Wfereh ST @) wRe e
(3) F=ae ST (4) fafare ofistan
23. During the parabolic dune formation, the dominant wind direction is :
(1) Poly-directional (2) Multi-directional
3) Bi-directional (4) Uni-directional
mﬁﬁzﬁa%%ﬁﬁw%w,qg@smaﬁﬁsn%:
(1) UTe-STEaRTTe (2) AEE-BEARTA
(3) aTE-SERERT (4) Fh-sERET
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24. Which of the following define the Fjords : - 2
(1) Series of cirques
(2) Series of insclbergs

. . svers
(3) A deep V-shaped valley formed due to vertical cutting by TIvet

) inland results trom
(4) A deep, narrow and elongated sea commonly extending far 1

marine inundation of glaciated valley
Frafafea & & @9 woigs & aiig & & 7
(1) hd & =jEga
(2) @@t & e
(3)mm3mm%wﬁ@nﬁa_maﬁﬁ

(@Qzﬁm,ﬁa?rvie?ﬁwwg;aﬁamw%mwﬁﬁw%w
W%Wawﬁaﬁsﬁam%m%

e o . . N . . ” r)
25. Which of the following activities is associated with exogenetic forces

(1) Earthquakes (2) Continental formation
(3) Volcanic activities (4) Monadnocks
Frafefaa § @ @m-w@ ofafafe afeota at & oqft 8 °?

(1) &9 (2) werErdy et

(3) saremgEia Afafate (4) HETETR

26. In which of the following decade, India recorded negative growth of population ?

(1) 1891-1901 (2) 1901-1911

(3) 1911-1921 (4) 1931-194]

Frfforfga 7 @ A s A 91 7 SHE@ § TH50ds gie oot o) 18
(1) 1891-1901 (2) 1901-1911

(3) 1911-1921 . (4) 1931-1941
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27. Which of the following statement is true ?

(1) ISc(;t'lc:mcms which have population of over 2000 are considered urban by census of
ndia

(2) Person who work less than 183 days in a year is considered as main worker by
census of India

(3) A person who can read and write a simple passage with understanding in any
language is considered as literate by census of India

(4) Census of India defined sex ratio as number of males per thousand females

fFr=fafeag & @ f9-91 F29 gF © ?

(1) AR & FTOAET & AJAR 2000 & At e al afaal H el
AT ST 8

(2) ARE & ST B SFGAR Th g9 F 183 RFT A HH HH HA A Afh
T gEA Affeh FET S

(3)Waﬁm%aﬁﬁﬂ@aﬁﬁcﬁ%&ﬁ%ﬂﬂmﬁw%wa@
AT I B 9 IR R Ahar ¥, IQ AR AW AT B

(4) WG @ STTorET R ere @ oaRy e Afeeredl ox ges it d@e

| % @y ¥ qftefua foar 2

28. Arrange the following states of India according to descending order of density of
population in 2011 census :
Uttar Pradesh, Bihar, West Bengal, Kerala

(1) i-West Bengal, ii-Bihar, iii-Kerala, iv-Uttar Pradesh
(2) i-Kerala, ii-Bihar, iii-Uttar Pradesh, iv-West Bengal
(3) i-Bihar, ii-West Bengal, iii-Kerala, iv-Uttar Pradesh
(4) i-Bihar, ii-Kerala, iii-West Bengal, iv-Uttar Pradesh
2011ﬁmﬁmﬁw%m%mﬁtﬁw%ww%

L

(1) i-ufeed @, ii-freTe, iii-@a, iv-IaX SR
@) i-3@, ii-feer, -3 uRer, iv-aiEd S
(3) i-fer, ii-afed S, ii-H, VST SCEll
(4) i-RER, i-H, i_qfeem &, iv-STY SRSl

' PG-EE-July-2024/(Geography)(SET-Z)/(A) P.T.O.
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29. Arrange the following states according to descending order of their geographical arcas
Madhya Pradesh, Rajasthan, Maharashtra, Andhra Pradesh
(1) i-Madhya Pradcsh, ii-Rajasthan, iii-Maharashtra, iv-Andhra Pradesh
(2) i-Rajashan, ii-Madhya Pradcsh, iii-Maharashtra, iv-Andhra pradesh
hra Pradesh
(4) i-Maharashtra, ii-Rajashan, iii-Andhra Pradesh, iv-Madhya Pradesh
qem gRel, JTRA, HERISE, Al Ha
(1) i-9e7 S99, ii-ToTEq, iii-Hewwsg, iv-3Tf 9a2
(2) i-ORA, ii-Aed 99, iii-TERI, iv-3Td SCH)

(3) -V, ii-TeTTeg, iii-"eq A, iv-3Ar SEE

(3) i-Rajasthan, ii-Maharashtra, iii-Madhya Pradesh, iv-And

(4) i-HBRISg, ii- T, iii-Aly q_e, iv-Te SCHy|
30. Arrange the order of the following rivers of India from south to north :
Cauvery, Godavari, Periyar, Krishna
(1) i-Periyar, ii-Cauvery, iii-Krishna, iv-Godavari
(2) i-Cauvery. ii-Periyar, iii-Krishna, iv-Godavari
(3) i-Krishna, ii-Cauvery, iii-Periyar, iv- Godavari
(4) i-Krishna, ii- Godavari, iii- Cauveri, iv- Periyar
waﬁﬁﬂ%@aaﬁﬁfﬁﬁmﬁwaﬁaﬁtmﬁmﬁmﬁz
HA, MeEd, IRAR, FO
(1) i-AR@R, ii-HEd, ii-Fem, iv-Tmara<l
2) i-@Ead, ii-afRAm, 1%, iv-Traresd
3) i-em, ii-HEd, {Hi-ARER, iv-TerEd
(4) i-gem, ii-MmaEd], iii-zprerdy, iv-aiEmT

PG-EE-July-2024/(Geogra phy)(SET-Z)/(A)
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31. Arrange the location of the following northecastern states of India from north to south
direction :
Mizoram, Nagaland, Manipur, Arunachal Pradesh
(1) i-Manipur ii-Nagaland iii-Arunachal Pradesh iv-Mizoram
(2) i-Arunachal Pradesh ii-Manipur iii-Mizoram iv-Nagaland
(3) i- Arunachal Pradesh ii-Nagaland iii-Manipur iv-Mizoram
(4) i-Manipur ii-/\runa-chal Pradesh iii- Nagaland iv-Mizoram

qRa B Prefifeg @R T B e & Sox @ &R Rem # aEied
H e

frelRw, ArTels, ARYR, STHUTE FRsT
(1) i-ARYR ii-"FTE iii-oTeeTee SR iv-FeiE
(2) i-oTEoUTER SR ii-ARTYR dii-FHeH V- S
(3) i-~STEOTET WRY ii-ANNS iii-ARTYR ESE
(4) i-APTR ii-aTEoTE WA (i~ iv- P

32. Match the following :

State Coal Areal Mine
a. Jharkhand (i) Birampur
b. Maharashthra (ii) Karanpura
c. Orissa ' (iii) Wardha valley
d. Chhatisgarh (iv) Talcher

a b ¢ d
G Gi) @) 0
@ () Gv G 0
@) Gi) v G O
@ () G @) @)

PG-EE-July-2024/(G cography)(SET-Z)/(A) P.T.O.
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Fr=feaRae w1 Bem &3
g HIOeT =g Gard
a. HRES (i) Frge
b. RS (i) YA
c.. IEHT CHECIRIE
d. sNaTe (iv) TR
a b c d o
(D () G Gv) @)
(2) (i) (@Gv) @) ()
(3) Gi) @v) G ()
4) () @i @[v) (D)

33. Match the following iron ore mines and their state of location :

Irpn ore Mine
a. Bailadila
b. Mayurbhanj
c. Chikmagloor
d. Singhbhum

a b C
(1) (i) Gv) @
2) (i) (v) (i)
3) () (i) (v)
(4) (i) (@) (iv)

State
(i) Jharkhand
(ii) Chhatisgarh
(iii) Orissa

(iv) Karnataka

PG-EE-J uly-2024/(Gcography)(SET—Z)/(A)
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34.

Fr=fefad @6 erer @e ot o e @ ReRl @ frae wX

SR & T
a. Smfen () =mEs
b. HITHA (ii) s<freTE
c. REET (i) ST
d. THegH (iv) FATEH

a b c d
I Gi)y (v G Gi)
(2) (i) (@v) Gi) ()
(3) (i) (i) (v) ()
(4) (i) @G Gv) (@)
Assertion (A) : Narmada river form estuary not delta
Reason (R) : Narmada river flow in rift valley
(1) Both A and R are correct and R explain A
(2) Both A and R are correct but R does not explain A
(3) Aistruc but Ris false
(4) A is false but R is true
e (A) : e @ 3w A afen ger an ¥
Frer (R) ¢ Tar @ aw aré & Fed &
(1) A 3T R S wér ¥ ST R, A & @meA & B
2) A 3T R aﬁ'aﬁ%éﬁmR,Aaﬁmaﬁm%
3) A a8 dfdT R 38 [4

(4)Aamr~q%€rﬁs=fkw%

PG-EE-July-2024/(Geography)(SET-Z)/(A)
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35. Assertion (A) : Maharashtra state is the largest producer of cotton in India.
Reason (R) : Black soils are found in Maharashtra.
(1) Both A and R are correct and R explain A

(2) Both A and R are correct but R does not cxplain A
(3) Aistruc but R is false

(4) A is false but R is true

SREHET (A) : TERTSE Tow WKE F HUE Bl G qT IEH T |
HROT (R) : 7R & @t BE a8 o 2

(1) A 3T R A @& € IR R, A & e B o

(2) A 3T R 9 & T ARBT R, A o =wear 72 HE ©

B) A §9 2 QfpT R o1 ®

4) A I8 & AfFT R a7 ®

36. Assertion (A) : Punjab state is the largest producer of paddy in India.

Reason (R) : Punjab has hot and humid climatic condition during Kharif season
supported by well-developed irrigation system.

(1) Both A and R are correct and R explain A

(2) Both A and R are correct but R does not explain A

(3) A is true but R is false

(4) A is false but R is true
W(A):Wﬂwwﬁmaﬁrmwm%l

HROT (R) : Gormer § @O Arad & AR T Sl o Siwerg, H R e
| S S ol oXe § Reiud RO WOl BN @i e ¥

(l)AGﬁTRﬁW&ﬁ%aﬁ'{R,Aaﬁa@_m%
(2)Aaﬁ11{aﬁfa€r%%ﬁm&Aa&maﬁm%
(3)AW%WRW%
(4)A3W%WRW%

PG-EE-July-2024/(G cography)(SET-Z)/(A)

(¥ Scanned with OKEN Scanner



—

—

e .

19

37. Assertion (A) : Maharashtra state has the largest arca under sugarcane cultivation in
India.

Reason (R): Black soil, good rainfall and irrigation facilitics are suitable for
sugarcane cultivation

(1) Both A and R are correct and R explain A

(2) Both A and R are correct but R does not explain A

(3) A s truc but R is false

(4) A is falsc but R is true

AR (A) : WRT H T AN B il qud a1 8 AeRrg 79 H
HROT (R) : He B, o=l ant IR Ri= gRud ™ &t &R & g Iugt |
(1) A R R Q1 @& & X R, A & &weAr & 8

2) A X R A @& ¥ AfHT R, A = AT TR BA B

(3) A & 8 QfFT ReTad ©

(4) A 3Tad B AfPT R 94 8

38. Assertion (A) : Karnataka state is the largest producer of coffee in India.

Reason (R) : Coffee is cultivated in Nilgiri hills region in India

(1) Both A and R are correct and R explain A

(2) Both A and R are correct but R does not explain A

(3) A is truc but R is false

(4) A is falsc but R is true
W(A):Wﬁﬁmwﬁmaﬁrﬂaﬁwm%l
W(R):Wﬁ:ﬁaﬁl‘ﬁw@aﬁﬁmaﬁ@?ﬁﬁm%l
(1)Aaﬁ11{ﬁaﬁ%aﬁrR,Aaﬁmm%
(2)AaﬁTRiﬁ=ﬁﬂé’r%%ﬁmR,AaﬁaT@T=r€fm%

3) A T& & AfFT R T ©

4) A T & AfFT R T8 2

PG-EE-July-2024/(G cography)(SET-Z)/(A) P.T.O.
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39. Assertion (A) : Kerala state is the largest producer of spices in India.
all and moderyye

Reason (R) : Well drained alluvial or red and laterite soils, H““‘.l rainl
hilly areas in Kerala are suitable for spices cultivation.

(1) Both A and R are correet and R explain A

(2) Both A and R are correet but R does not explain A

(3) Aistrue but R is false

(4) Ais false but R is true

STT (A) : At o W § vl B dEd TS S © |

FROT (R) : AR F ool o/t P arelt oweiie a1 o 9l devge i, ared
ant R e wEr A TEEr @ O B /e 3ug € |

() A 3R R 91 @& § ok R, A 3% =arean &<a ©

(2) A SR R 1 9 ¥ afe R, A & e e s ¥
3) A ¥81 8 AfpT R wrora B

(4) A e @ AfFT R &8 B

40. Assertion (A) : Green revolution was successful in certain states of India only.

Reason (R) : Provision of HYV seceds, assured irrigation and institutional reforms
were the main factors of the success of green revolution.

(1) Both A and R are correct and R explain A

(2) Both A and R are correct but R does not explain A

(3) A istrue but R is false

(4) A is falsc but R is true

ITf¥pee (A) : BRA Wi IRT & HB T H & q6a W

HROT (R) : LYV st &1 waue, ghitea REd iR dwrm gur ele
HiftT I TAHTAT B T HRD o |

(1) A 3R R 1 @& & T R, A & =ar&r &

2) A X R S q& ¥ AR R, A W e TE w ¥

(3) A g9 8 AfFT R o16F B

(4) A 36T B AFT R &9 8

PG-EE-July-2024/(Geography)(SET-Z)/(A)
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41. Broadly, Indian agriculture practices :
(1) Commercial farming
(2) Subsistence agriculture
(3) Plantation cultivation
(4) Shifting cultivation
A IR W, TRANT HN gskET ¢
(1) afrgs @t
(2) Prate P
(3) IFTE @l
(4) T &

42. Nagarjuna Sagar Dam is constructed on :

(1) Krishna river (2) Tapti river

(3) Cauvery rivef (4) Mahanadi river

AT AR St a1 Frtr e o e T R 7 '
(1) F=m Th | (2) areh T

3) wrEd T (4) FeFd W

43. Which state has the longest coastline in India ?

(1) Tamil Nadu Fart 5. ~.(2) Andhra Pradesh
(3) Maharashira (4) Gujarat
aa § gEd o qeven fHe e @ g7
| (1) afFTg . (2) TiE IR
(3) HBRTSX (4) Terad

PG-EE-July-2024/(Geography)(SET-Z)/(A) P.T.O.
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44. Kakrapar is an cnergy plant of :
(1) Hydro clectricity
(2) Coal bascd thermal plant
(3) Nuclear plant
(4) Wind encrgy plant
HRR Rkl Folt A B
(1) s« foga
(2) Hraen ke adEa |49

(3) 9T dIH
(4) T et dqaH

45. At which of the following places confluence of Alaknanda and Bhagirathi is located ?

(1) Prayagraj (2) Karn Prayag

(3) Dev Prayag (4) Rudra Prayag
ﬁmﬁ@ﬁﬁaﬁmwﬁwmaﬂtﬂmﬁwwm%?
(1) sAFTST (2) @t HATT

(3) qa ST (4) B& ST

46. Which of the lollowing is not situated in Himalayan Mountains ?

(1) Karakoram (2) Namcha Barwa
(3) Nanda Devi (4) Kanchenjunga
Crefefaa § @ @ A wda F R 7@ R 7

(1) HTEHIH (2) A= S=aT
(3) far & (4) e

PG-EE-July-2024/(Geography)(SET-Z)/(A)
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49.

50.
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Which ol the following is nof a pastoral community ?

(1) Bhutias (2) Bakkarwals
(3) Gaddis (4) Khasis
Frsffefaa & @ O us =wae agea 787 8 7
(1) sgfe= (2) FTEFERTAT
(3) T (4) @

Largest arca under forests in India is in the state of :

(1) Orissa (2) Madhya Pradesh
(3) Karnataka (4) Chhattisgarh
Wﬁaﬁ%aﬁvﬁaﬁa@aﬂﬁmmﬁ%?
(1) S (2) e TRST

(3) FAEH (4) sTATE

Which one of the following port is not located on eastern coast of India ?

(1) Paradecp (2) Okha (3) Ennore (4) Tuticorin
Wﬁaﬁ?—wwﬂiﬂﬁ%@ﬁ?ﬂﬁﬂﬁ FE e ?
(1) IR (2) STrEn (3) TER (4) TRRA

Where is Sir Creek located on Indo-Pakistan border ?

(2) Rajasthan

(1) Gujarat
(4) Jammu and Kashmir

(.3) Punjab
maﬁasnmf«m‘mﬂzﬂmwwﬁﬁuﬁ%?

(1) o (2) TR

(3) doTmE (4) sty SR B

P.T
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1. Match the following countries and their geographical arcas :

Country Geographical areas (million sq. kms.)
a. Brazil (i) 9.98
b. Australia (i1) 7.74
¢. Canada (1ii)9.59
d. China (iv) 8.51

a b C d
(1) Gi)  Gv) (i) (1)
@) Gv) () () (i)
G) (i) () () (i)
4) @ G Gv) (i)
Frfoiee Qe ofik oo IMfers &5 w1 Re &Y

- At & (RifRvee et o)
a. SfE (i) 9.98
b. ST (ii) 7.74
c. AT (iii) 9.59
d. == (iv) 8.51

) @) v G Q)

@ @) G O i)

®) Gi) O v G)

@0 G @) G
PG-EE-July—2024/(Gcography)(SET-Z)/(A)
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52. Match the following countries and their population :

Country Approximate population (in millions)
a. Indonesia (i) 220
b. Bangladesh (i1) 270
c. Mexico | (iii) 170
d. Nigeria (iv) 120

a . b c d
(1) Giy Gi) (@Gv) (@)
) () (Gv) (@) (i)
3) Gi) (@)  (@v) (D)
@) () Gi) Gv) D)
ﬁfﬂﬁf@ﬁbﬁaﬁmaﬂﬁ@wﬁaﬁﬁ:

39T srgefe s (R #)
| 2 e (i) 220 |
\ b. SRS (i) 270
. AfFEE (iii) 170
4. ArshRan (iv) 120

a6 G @ O
: o @ G O 0
; 3 @iy O @ @

@ G i) @) (ii)
* PG-EE-July-2024/(Geography)(SET-Z)/(A)

P.T.O.
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53. Match the following Countries and their population ratio of children below 15 yeq,

age :
Country Ratio of children below 15 years age
a. Chad (i) Less than 20 percent

b. Japan (i) 20-30 percent

¢. Ghana (iii) 30-40 percent

d. India (iv) 40-50 percent

a b c d
() () Gv) Gi)) ()
@) () Gv) @) (i)
B) Gv) () D) (i)
(@) @  Gi) @Gv) (i)
Frafafaa 29 ok 573 15 af @ &9 a1g & a==t & SrTEET U @

e &Y
Lty 15 af & HW Mg D T=AT H1 U
a. =S (i) 20 ufeead & &9
b. ST (ii) 20-30 wfersrer
c. HIHT (iii) 30-40 Ffcrera
d. AT (iv) 40-50 sifarsrer
a b C d .

(D) Gy (@(v) (i) (@)

(2) () @Gv) @) (i)

(3) Gv) (@ i) (D)

4) () @) (@Gv) (i)
PG-EE-July-2024/(Geography)(SET-Z)/(A)
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54. Match the following occupation of workers and associated collor colour

Workers occupation
a. Plumber

b. Clerk

c. Doctor

d. Mining worker-

a b c
(1) @) @Gv) (i)
(2) (iv) Gi) ()
3) (i) (@@  (@Gv)
4) () Gi)) (v

Collor colour

(i) Gold

(i) Black
(iiii) White
(iv) Blue

d

(1)

(1)

(i1)

(i1)

M%Wmmﬁmwwmﬁﬁ=

sifept &1 HAAd

a, TER

b. D

c. Sfrx

d. @ FHEA

a b ¢

(1) (i) (iv) (i)
@ (v @ 0
@) @ O @
@ G G @)

B T
(i) |
(ii) e
(iii) THE
(iv) e

d

(i)

(ii)

(ii)

(ii)

cography)(SET-Z)/(A)

P.T.O
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i I
55. Match the following Country /region and mining arca of coa

Country/region Mining area of coal
a. France (i) Ural mountains
b. Germany‘ (ii) Saar basin

c. Canada (iii) Ruhr area

d. Russia (iv) Saskatchewan

a b ¢ d
(D) Gy Gv) Gi) (@)
2) G) @Gv) @@ (i)
(3) () (i) Gv) @
4) (i) Gi) (@Gv) (i)
W%&T/mmm%w%ﬂmﬁaﬂﬁ:

ReT/8 O B G A
a. Wil (i) T« o
. b. SR (i) | At
c. HATST ' (i) 58T a=
d. &4 (iv) TEhaa™

a b ¢ d
(1) () @(v) G @
@) G @G @ (D)
@) (i) i) @) @)
@) () (iiiS (iv) (i)
PG-EE-July-2024/(Geography)(SET-Z)/(A)
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56. :’:’:‘;‘1 ::?:try in Africa continent is largest by population size ?
(2) Ghana
i?;ﬁi::t:g/;::aﬁ SR & fearE ;4) ki
TEd g1 W HE-AT 8 7
(1) AArEshiar @) T
(3) <féror aThieRT () e
57. Which language is the mother tongue of the largest number of people in China ?
(1) Tibetan (2) Wei
(3) Hebrew (4) Mandarian
a9 F e aifte @it @ mrgwEmr de-dr ¥ 7
(1) Ryt ()
(3) fe=s (4) Haf=
58. Which religion has the largest followers in Japan ?
(1) Budhisam (2) Soka Gokai
(3) Shfnto (4) Judaism
Wﬁmuﬁ%maﬁwma@nh%?
(1) ghead (2) @eT BT
3) fRidY (4) Fgd o
59. Which of the following is considered the best quality coal 2
(1) Anthracitc (2) Bituminous
(3) Peat (4) Lignite
ﬁqﬁaﬁn—mmmﬁamﬂgmmwm%?
(1) TBETEe (2) Righre
._ (3) 9 (4) fermge
? PG-EE-July-2024/(Gcography)(SET-Z)/(A) e ‘0‘

f
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N . . " . . . . . ' ’
60. Which onc of the [ollowing countrics is known for dairy farming :

(1) France . (2) Denmark

(3) Ttaly (4) Colombia

Prst & & -ar ey 3ol by & forg o ot ¥ 7
(1) e (2) THT

(3) gt | (4) =it

61. In which of the following countrics iron producing areas of Pyrences ar¢ located ?

(1) USA ' (2) U.K.

(3) Germany (4) France

Frer & @ Bhd 31 & ase & Are Saiees & Red € 7
(1) g @) o Fo

(3) st (4) e

62. Which one among the following is nof a condition to "clesignate a settlement urban in
India ?

(1) Minimum population of 10,000

(2) At least 75% male population is working in non agriculture activities

(3) Density of population should be at least 400 persons per sq. km.

(4) There should be a municipality or it should be notified as urban by government
Prfifad § Q@ A9-41 0% 9Ra § Rl Rt @ el 9| S @ o
TET T ?

(1) =™ SrEe 10,000
(Z)Wﬁaﬂ%%gﬁqmﬁ?iﬁﬂﬁﬁfﬁﬁﬁm%
(3)Wwwmwﬁm400aﬁﬁq%aﬁmammﬁm

(4)@@WWWWW@WWQ@%W£N@@H
fpr ST @Ry

PG-EE-July-2024/(Geography)(SET-Z)/(A)
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63. Which among the following is/are correct 2
I Rio de Jancrio is the capital of Brazil
II. Damascus is the capital city of Saudi Arabia
III. Ankara is the capital of T'urkiye
(1) I, I and 111 (2) Mand I
(3) Only 111 (4) All are correct
Frefafaa J @ SH-ar gg 8/8 °
I A & IR geha A qoar B
1. afees Todl o & TSTHT @
1. SieRT gat & Torar B
(1) L1 &= 11 (2) 1 &7 11
(3) dasr 11 (4) ol wd &

64. Which among the following is/arc correct statements ?
I. New York is the largest city of USA
II. Ottawa is the largest city of Canada

[II. Christchurch is the largest city of New Zcaland

(1) Only | (2) Tand II

3) L1 and 111
PR A 3 e wuw @d 8/ 7

I.mem@@sﬁ?%
1. ahammwmagrsm%

Ill.wﬁnﬁﬁgﬂm@i’m%

3) 1, 11 i 1 (4) ST F A FE T

ography)(SET-Z)/(A)

(4) None of the above

P.T.O.
PG-EE-J uly-2024/(Gc
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85, Which of the fallowing is sed lovated i Popdan Gt '
(D Nuwaut () Oak
(D) Yomen (h U
Rratiarg 0 QO wiy al spd) 1 e aelf B
(D A (1) i
(3) W (1) v

66.  ln Indonesia, shifting cultivation s known as |

(1) Milpa (2) Caingin

(3) Ladang (1) Ray

SRR N, wpeiaRe &l @ g A s ana b
(1) P (2) B

(3) SR (h Y

67. Which one ivare correct about Malthus theary of population

1. Population increase in geometrical progression

1L Positive cheeks inelude nse of birth conolling  methods like  vasectomy,
tubectomy ete,

111, Population double itsellin 23 yoars

(1) Only 1 ) () tand 1

(3) Only 111 (1) Allare oorreat

SreeE @ e R @ SR ea - ) R

. sl s W S gl

1L werern e W ogen s, el anie S ot e et
g eniie B

N 2§ et A asreie Qg @ o) @

(1) @ | (2) 1 afe
(3) et 1l () Tl wd)

PG-EE-July-2024/(Geogra phy)(Slﬁ'l‘%)l(A)
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68. Which onc ol the fi
ol the lnllowing iS not a ty (i
(1) Hematite atype ofron ore:
(3) Birnessite (2) Magnetite
(4) Limonite

Frr=feiRaa |

(1) BHege -
(3) FAaEEe >
(4) fermge
69. Which one of the f 054
ne of the following is a major iron ore mining arca of Australia ?
(1) Western Australia (2) Darling Basin
3) Queens
(3) Queensland (4) New South Wales
Prefead & @ Dr-ar SR & s A STwh T &1 § 7
(1) ufdesft siregfemn () st At
(3) FHadts (4) =g |y aed

70. Which one of the following is nof major oil pfoducing area/region ?

(1) North Sea (2) Southern Sahara

3) Pennsylvania: (4) Masjidi -Sulaiman

%ﬂ%@ﬁﬁﬁﬁ?—mw%maﬁ/ﬁﬂ TET 2 7
(1) ST AR (2) =fErelt B
(3) Yfaeafar ' (4) ARSTE-GrH

. 71. Which of the l'olloWing statement is correct ?

d simultaneously in the samc

(1) Mixed framing is when different crops arc cultivate

field
(2) Vegetablc an
charactcristic 0
atjon in Haryana isach

jon in North America 1s
phy)(SET—Z)/(A)

d flower cultivation in the periphery of big urban centrcs is a

f intensive agriculture
(3) Rice cultiv aracteristic of intensive agriculture

(4) Wheat cultivat
| PG-EE-July-2024/(Geogr?

based on dry farming
P.T.O.
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fFrafaftaa O a-ar s gdft 7

() Wiy Qf ag O B org s & Aa 7 oH A fa
ameh ®

(2) &2 wwd B A Rfy F geh o g @ AR T
(3) eRamm A GEw & AN TE H A AdET ¥
(Maaﬁaﬁfiwﬁﬁéa%@ﬁg&s@eﬁwamﬁﬁ%

g‘;fﬁraé'fﬁm%

72. Which one of the following statement is correct :

(1) Paddy cultivation in Punjab is successful because geographical conditions are most

suitable for paddy cultivation

(2) China is the largest producer of tea in the world

(3) Russia is the largest producer of wheat in the world

(4) India is the largest producer of Maize in the world

frfafag § @ SA-a1 B e e ?

(1)@@#%@%%%@%%%%#@@%%&
qEd IIgh %»

(2)%ﬁ=r_gﬁmﬁamzméa@asrm%

(3) =g gFrEm § A B FEH T IAEH

(4)Wgﬁmﬁqa€5raﬁraa@fagrm%

73. Which country has the largest network of railways in the world ?

(1) USA (2) Russia - (3) China (4) India
g & YR B EE q9T Aeas fhw WA 7 7
(1) gTaT (2) & (3) == (4) ¥Rd

PG-EE-July-2024/(Geography)(SET-Z)/(A)
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74. In which of the [ollowing countries, Falkland island is a political dispute :
(1) India-Mynamar
(2) Russia-Japan
(3) China-Japan
(4) Argentina-Britain
H A PR R ¥ ofdte fo o TR e ¥ 7
S SRR (2) TG-S
(G S STE (4) SRtET-RRA
75. Which of the following countries border aré separated by Radcliffe line ?
(1) India-Tibet (2) India-Pakistan
(3) Afghanistan- Pakistan (4) India- Nepal
: ﬁﬂ%@ﬂﬂﬁ%ﬂ%ﬂ#@mmi@%mﬁ%?
(1) wra-faeaa (2) SRA-IRRET
(3) STHEMARTA- T (4) HRE-ATA
76. Which of the two countrics are separated by Palk straight ?
(1) India and Srilanka
(2) Malaysia and Vietnam
(3) Indoncsia and Malaysia
(4) Myanmar and Indonesia
mmwﬁﬁra%ﬁﬁmm%?
(1) \a 3T ieient
(2) wafREr 3T feraaH
i (3) gSMATE SR AR
. (4) = 3N FEANA
[ PG-EE-July-2024/(Gcography)(SET-Z)/(A) R
i

e —
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770 Which of the following In correct sntement
(1) Russin i the Targest producer of petrolenm in the world
(2) Venezneln i the Tnrgest producer of Lithium in the world
(3) Sovkhoz was the stite owned farm fn former Soviet Unlon
() Kolkhoz was the state owned farm In former Soviel Union

Prafetenc O Al et gd) B 7

() & glen i QR e usd s Seae B

(2) Agpoen gl Rl e dad syl S ®

(3) weraor yd Qe o 31 o @ el arer @

(@) ever@or el afawe e W o @ i awn ad

78. Which ol the lollowing is correet stutement ?

(1) Grasslands in USA are known as Pampas

(2) Grasslands in Africa are known uy Steppes

(3) Australian forests are known as Veld

(4) Equatorial forests in Brazil are known as Llanos and Selva

rsifefe A @ der-ar ot gl ¥ T

(1) g 7 vig @ A @) e i wq  oner o ¥
(2) ot 7 vt & el @i @ wa ® o ot B
(3) aft@fereng ol @ des @ wa A o o ¥

@) arofler 7 aprere o il o v ol Qe @ wa N oner omen

PG-EE-July-2024/(Geogra phy)(SET-Z)/(A)
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79. Which one of the follo

wing i F
location ? 8 1S wrong statement Von Thunen model of agricultural
1) Itis M 3
(1) Ttis based on ISotropic physical surface

2) Tr 0S|
(2) Transport COSL1s proportional to distance

(3) Von Thune
n .
model of agricultural location was not a normative model

(4) Von Th .
uncn model is based on the prevailing condition in central Germany

?h(mwm%mﬁﬁw%ﬁaaﬁéaﬁ?—ww TAT T ?
(1) 7% i SR aae o e

2) ”tﬂglm{&%mm%
(3) P WM & 99 oW dtew wp qH drew TE e
(4) AT AT Afew Ty sl F v Refy 9x omaRa @

80. Which one of the following city is headquarter of Food and Agriculture Organization

(FAO) 2

(1) Rome (2) Paris (3) London (4) Zurich
ﬁwﬁr@aﬁﬁaﬁ?—ﬁwwaﬁt‘rgﬁw (qFasT) w1 gEad B ?
(1) A9 2) IR= (3) s 4) =R=

81. Which one of the following is the correct explanation of the concept of demographic
dividend ?

(1) There is cxponential growth of population

(2) There is balanced growth of population

(3) Per capita income is very high

(4) When working population ratio is high which has the potential for high economic

growth

" PG-EE-July-2024/(Geography)(SET-Z)/(A) P.T.O.
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Rrerfeftrg § @ a-an orifeEig anter @1 ST l

(1) seea i i gfe et @

(2) sEE i g ghe exdr 8

(3) wftr =fw omg agad oiftes & B

(4) S/ wrdeNie SeEEaT oTu 3w
GHEAT B 8

o 3, fore e o T

82. Which one of the following options about geographical area inhabitcd by Eskimos is
most suitable answer ?

(a) Greenland

(b) Greenland and North Canada

(c) Greenland. North Canada and Eastern Siberia

(d) Greenland, North Canada, Eastern Siberia and Alaska

(1) Onlya (2) aand b

(3) a,band c (4) a,b,candd
.Qﬁwﬁmwmmﬁaﬂ%aﬁﬁﬁrﬂ%@ﬁﬁﬁﬁ?—wﬁw
el I9YTH I 8 7 ~ ,
(a) TS

(b) Ml &R I HATST

(©) s, e Feer o i WA
(d)mﬁz,mm,tgﬁa@méﬁwaw
(1) shee a @) adikb
(3) a, balRc (4) a,b,c3qXd

PG-EE-July-2024/(G cography)(SET-Z)/(A)
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83. Which of the f ollowin . ne :
g regions is Inhabited by Nordic race people ?
(1) Northern Europe

(2) Mediterranean
(3) West Asia

(4) Tundra region
ﬁqiﬁf@ﬁﬁéﬁﬁ—m%ﬁmaﬁ%aﬁﬁmW@n%?
(1) 98 2g

(3) 9i¥== TEmn

(2) = AR
@) <1 &=

Which one of the following is not an example of sedentary subsistence cultivation ?
(1) Ganga-Kosi plain in Bihar
(2) Indus basin Pakistan
(3) Wheat cultivation in Australia
(4) Paddy cultivation in Bangaldesh
it # & o ow e Pras Qw1 S TE S ?
(1) faer & sm-Frs & AT
(2) Rig A= ewT
(3) sigferan & A @ @
(4) seRw § g@ @ aW

85. 'Oriza Sativa' is associated with which of the following crops ?

2) Maize
(1) Wheat )
= (4) Tobacco
(3) Rice o s
3 & e wEw @ de ¥ 7
e Sfear Frte
3 (2) =R
1 .
Y. (4) TR
(3) FE

P.T
'PG-EE-J uiy-zozu(ceognphnyET-l)/(A)
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"Conurbation" ?

86. Which of the following statement correctly define
y cities in its suburb mcrge

: : cth
(1) When at lcast onc metropolitan city and man together

with expansion of citics duc to population growth.
(2) When ofc metropolitan city connected with many suburb citics by cfficient
highways and rail routes

(3) When there are number of small towns developed between two metropolitan cities

(4) A city with a population of more than ten million
Pr=ferfaa & @ HH-a1 HAT ‘Ww’a?raé‘ra'rr%qﬁmﬁﬁm%?
(l)wwﬁwwmﬁﬂwﬁ?aﬂ%mﬁaﬁéﬁmm@‘”
qﬁ%ws@%%ﬂ%m@wﬁ?ﬁ?éﬁﬁ%l
(Z)W@Wﬁﬂsma%wms@ﬁ@mmwﬁaﬂ?%a—qﬁﬁ%

ST B |
(3)aaaqawrﬁqsmﬁ%aﬁﬂzss‘@%smﬁzﬁ%ﬁ€fl

(4)mﬁﬁwaaﬁé¢mﬁwmal

87. Donbas region or Donets Basin is famous for the production of :

(2) Iron ore

(1) Coal
(3) Gold (4) Bauxite
memmmw%mm%?
(1) e (2) A& TIEH
(3) @ OEIESIES
88. Which country is largest producer of milk ?
(1) Brazil | (2) Denmark
(3) India (4) USA
guaﬁrﬂ%r%asrm%ﬂaﬁ?—m%?
VELIS (2) ST
(3) | (4) IEEQ
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89. The enormous volume of dust swept across steppe lands of Asia and deposited in the

north-central China is known as -
(1) Loess (2) Regur
(3) Terra Incognita (4) Terra Rossa soil

@W%éﬁgﬁﬁmw—qwiﬂ?ﬁwﬁﬁgﬁaﬁﬁsﬂﬂwaﬁ

9 ©9 H SE1 AT 8 o
(1) <™ ) ¥R
(3) 37 g (4) 20 e @2

90. Which of the following countries has Savanna type climates :

(1) South Africa (2) Vietnam

(4) Argentina

(3) Sudan
i
m%@aﬁamasrﬁmmwaﬁ
(1)a—favTGTiﬁzﬁf (2) P
(4) TSI

(3) gt

I i 1 ation .
( ) I y i i ( )

(3) Mercator

P.T.!

]

(¥ Scanned with OKEN Scanner



42

92. Which onc of the following is a large scale map ?

(1) Cadastral map (2) An atlas map

(3) Wall map (4) Topographical
ﬁmﬁﬂiﬂﬂﬁﬂaﬁﬂ—m@@ﬁqﬁmwn%?
(1) DSEA TR0 (2) weerd TFM
(3) FEX TR (4) TEAPITF

g3. On which of the following map projections the great circle is shown by straight line ?

(1) Mercator
(2) Bonne
3) Cylindrical equal area
" (4) Polar Gnomonic stereographic

‘ﬁw%%ﬁﬁﬁmqmﬁaqaquwqﬁaﬁﬁ
27

o Y@ g g T

94. Which of the following is not the property of Bonne' projection ?
| (1) Scale remain true on all the latitudes and central meridian

(2) Itisnot equal area projection
(3) Equator is shown by simple line
(4) Shape and area remain frue even away from central meridian

PG-EE-J uly-2024/(Gcography)(SET-Z)/(A)
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HET A A e Ay )
(1) W ) sy el B2
(2) us ol ofve al meme Yo e EA R
2) U8 W AN wiyger w1 D
3 . -
3) sEe X &) e Y@ @ R e
(4) MHR 3
ﬁtﬁa%ﬁuqmmﬁgwﬁaﬁﬁaﬁ

95. Whati :
at is the cquivalent of 0 degrec Celsius in Fahrenheit scale ?

(1) 8 degree (2) 12 degree
(3) 32 degrec (4) 28 degree
FrEeEe w7 0 el afewad 3 aET o B 7
(1) 8 f&h ) 12 A
(3) 32 & (4) 28 &

96. Which of the following is used to measurc wind velocity ?

(1) Hygrometer | (2) Barometer
(3) Barograph (4) Anemometer

ﬁﬁﬁﬁﬁmﬂﬁrmﬁm

g7. If atmospheric lines show a value of 1022 mb at Delhi and 116 mb in Kerala, what will

be the month in India ?

(1) January " (2) August

(3) May (4) June

qﬁa-rgd‘sFﬁ“i@ﬁﬁFv‘ﬁﬁwﬂ@EﬁaﬁTWﬁ 116 oo @1 A R

¥ ar Ad 3 e ar "o I \

(1) s (2) ST

3) 78 (4) T
PG—EE-July—2024/(Gcography)(SET—Z)/(A) p.T.O.
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98.

99.

*100.

pG-EE-July-2024/(Geo

, ] 4 . L) . ' [ 4 & . ., o . o .
What is the scale of India and adjacent countries Series maps plmluuul by survey of

India ?

(1) 111,000,000 (2) 1:50,000
(3) 1:25,000 (4) 110,000
g3 offe R a1 dar @By g Wi at erra-ard @ 29 @ e §
Ry @ QA @ ¥ 7

(1) 11,000,000 (2) 1:50,000

(3) 1:25,000 ' (4) 1:10,000

Which type of method is most suitable to show population distribution on map ?

(1) Choropleth ‘ (2) Choroschematic

(4) Circle diagram

mewmﬁmmwﬁmwﬁm%?
(1) PR (2) BRI

(4) g ST

(3) Dot method

(3) sfe faf

What are the bands in visible region of clectromagnetic spectrum ?

(1) Blue, Violet, Green (2) Red, Blue, Yellow

(3) [nfra-Red, Green, Yellow (4) Blue, Green, Red
ﬁgﬁg@aﬁﬂ@a@?%@u%ﬂﬁa‘gw%?

(1) =, ¥, B (2) @, e, de

(3) FHR1-38, T et (4) S, B, S
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1. Which of the following statement is correct ?

(1) Mixed framing is when different crops arc cultivated simultaneously in the samc
field |

(2) Vegetable and flower cultivation in the periphery of big urban centres is a
characteristic of intensive agriculture

(3) Rice cultivation in Haryana is a characteristic of intensive agriculturc

(4) Wheat cultivation in North America is based on dry farming

frrafafaa § 9@ 9-a1 99 &t e ?

(1) g Ot 99 31 8 99 T & @9 8 U 9y [y wae @ @ @t
ST B

(2) IS 9B Faf FH aRfT F @l ofR Hell Sl Ted HiY H fadwar @
(3) sRa™N # e FHr Sf Teq Hu /i [AxuAr B
(4) S8 SARE F T B AR gep AN W enaRa ¥

2. Which one of the following statement is correct :

(1) Paddy cultivation in Punjab is successful because geographical conditions are most
suitable for paddy cultivation

(2) China is the largest producer of tea in the world

(3) Russia is the largest producer of wheat in the world |

(4) India is the largest producer of Maize in the world

fr=fafaa § & -1 &9 @8l & 7

(1) 9o F o @ Sl wwel ¥ it ARl aRRakEr a9 & it & /g
qad I9gTh o |

(2) &9 g/ # 9™ %1 999 99T SRS ©

(3)wgﬁrmﬁﬁézmaaﬁa:ﬂm%

(4) 9Ra g | HeFpT @ 99 98l SRS ©
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. Which country has the largest network of railways in the world ?

(1) USA (2) Russia (3) China (4) India
P F X 1 e st e e 2w F B 7
(1) Ie&a (2) =1 . (3) == (4)

In which of the following countries, Falkland island is a political dispute :

(1) India-Mynamar (2) Russia-Japan

(3) China-Japan - (4) Argentina-Britain
Frafifea '@ fha 3sr ¥ widts 29 oo ToriRe e ® 7
(1) IRT-=HR (2) ©F-IUH

(3) FH-S9= | (4) s™ieHT-fsres

Which of the following countries border are separated by Radcliffe line ?

(1) India-Tibet (2) India-Pakistan

(3) Afghanistan- Pakistan (4) India- Nepal

Frfdfaa 5 @ e 291 @ 91 efes T @ o G S 7
(1) ART-fkr=a (2) \WRA-Yifehe=

(3) STHMH-qIfhe= (4) IRI-A9

. Which of the two countries are separated by Palk straight ?

(1) India and Srilanka - (2) Malaysia and Vietnam

(3) Indonesia and Malaysia (4) Myanmar and Indonesia
qrh STsHEHE B Q1 9T Y ST Har & 7

(1) o efY =ficiar (2) 7RM@ET o Rraem
(3) SMfmr ofk AafRmr - (4) =R MR ZSRRMT
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7. Which of the following is correct statement ?
(1) Russia is the largest producer of pctroleUm‘in the world
(2) Venezucela is the largést producer of Lithium in the world
(3) Sovkhoz was the state owned farm in former Soviet Union
(4) Kolkhoz was the state owned farm in former Soviet Union
FrfiRaa & @ He-ar wu7 @87 ? ?
(1) = P F AREA B qwy T I B
(2) FgueT g F R &1 99q ger IdEE §
(3) dEEsT gd |ifad |99 § 79 @ @iiEe aeT O e
(4)-®a@?rgéﬁrﬁwﬁaffm%wﬁam@am

8. Which of the following is correct statement ?
4( 1) Grasslands in USA are known as Pampas
(2) Grasslands in Africa are known as Steppes
(3) Australian forests are known as Veld
(4) Equatorial [orests in Brazil are known as Llanos and Selva
Fr=fafea & @ S=-a1 ®u9 g&h & ?
(1) gueT § o/ 3 Vo= B o B w9 F o= ofer $
(2) emben § T 3 Aaeit B Rd S W F o ST 3
(3) SRR e A Ies B W A o o B
(4) aie & smerRdE st @ ar ofik et & w9 ST S ®
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9. Which onc of the following is wrong statement Von Thunen model of agricultural
location ? ‘
(1) Itis based on isotropic ph.ysical' surface
(2) Transport cost is proportional to distancc
(3) Von Thuncn model of agricultural location was not a normative modcl
(4) Von Thuncn model is based on the prevailing condition in central Germany
P W F AW gA Wiew § FrefRed § A Bw-ar HOA TAT & 7
(1) ¥ SMEAEINE A T o e B
(2) aR@e ArTT gl & |qETgART en ¥
3) I W @ 9 g Aiew UH A Aed AE o
(4) A gA Afew "er o § waRe Rafy ox emaRa ¥

10.  Which onc of the following city is headquarter of Food and Agriculture Organization

(FAO)? .
(1) Rome (2) Paris  (3) London (4) Zurich
Frfefed O @F-a1 e’ @ IR Y e (qwHeel) H geed 8 7
(1) 3= @ IRa (3) e (4) =g
11.  Match the following countrics and their geographical arcas :
Country : Gcographicél areas (million sq. kms.)
a. Brazil - (1) 9.98
b.  Australia ' (i1) 7.74
c. Canada - (ii1) 9.59
d. China - (iv) 8.51

a b. c d
) @ (v G @
@) Gv) () O (i)
@) Gi)y @ Gv) (i)
@ G) Gi) Gv) i)
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ﬁw%@a%&ﬁaﬂtw%ﬂﬁmé}sﬁwmmﬁ:-

Q9T Mk & (MR a=f )
a. seiie ' (i) 9.98
b. Siigferar (ii) 7.74
c. HATST (iii) 9.59
d. == | (iv) 8.51
a b ¢ d

(D () Gv) i) ()
@G GG i)
@) Gi) () Gv) (i)
@ @) Gi) Gv) )

12. Match the following countries and their pppuiation :

Country Approximate population (in miliions)
a. Indonesia ' | (i) 220 |
b. Bangladesh | (ii) 270
¢, " Méxicty (iii) 170
d. Nigeria - (iv) 120

a b ¢ d
(1) Gi) Gii) Gv) @)
@ G v ) G
@) Gii) () Gv) (i)
@ G) (i) Gv) (i)

PG-EE-July-2024/(Geography)(SET-Z)/(B)
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FrsfciRead 29 oMY S9ah st @ fiersr Y
1 argifve e (ffeaer #)
a. sSMfam (i) 220
b, IR (ii) 270
c. AR (iii) 170
d. =rgsiiRan ~ (iv) 120
a b Cc d
(1) () G Gv) @)
@) ()  Gv) () (i)
() (i) G  Gv) (i)
@) @®  Gii) Gv) (i)
13. Match the following Countries and their population ratio of children below 15 vears
age :
Country - Ratio of children below 15 years age
a. Chad (1) Less than 20 percent
~b. Japan (if) 20-30 percent
c. Ghana 4 (iii)36-40 percent
.d' India | | (iv) 40-50 percent

a b ¢ | d
(1) () Gv)  Gii) @)
(2) (i) (v) (@) (i)
(3) Gv) () (i) (i)
(4) () (i) (Gv) (i)
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fFrafafaa 9 ok 91 15 ad @ &9 oy & d=dl & SEEH] U 6l
BT

a.

29T

RISS

() G (v) (i)
(2) () @Gv) ()
() Gv) () (i)
4) () (i) (v)

14. Match the i‘ollowing occupation of workers and associated collor colour :

Workers occupation

a.
b.
c.

d.

Plumber

Clerk

Doctor

Mining worker

a b C

(1) (1) -(@v) (i)
) @(v) (i) ()

(3) (i) ()  (iv)
4) (i) (i) (iv)

PG-EE-July-2024/(Gcography)(SET-Z)/(B)

d

(1)

(iii)
(i)
(ii)

d
)
(i)
(i) |
(ii)

15 a4 Q %A 3G & Tl HT AFART

(i) 20 "gfcrgra @ FH
(if) 20-30 uferere
(iii) 30-40 uferere
(iv) 40-50 gfererer

Collor colour
(i) Gold
(i) Black

(iii) White

(iv) Blue

P.T.O.



¥Rl @ TTET pie T
a, @R (i) @
b. aTD (ii) =hreT
c. Sfgex | (i) TR
d. @@= F HHA™ (iv) =T

a b c d
1) @) v G 6
@ @ Gi) O G
@) Giy G (v G
@ O Gi) G G

15. Match the following Country /region and mining area of coal :

Country/rcgioh . Mining area of coal
a. France | (i) Ural mountains
b. Germany (i1) Saar basin
c. Canada ' (iii) Ruhr area

d. Russia (iv) Saskatchewan
2 b g 4 |
(1) Gi) @Gv) Gi) ()
(2) Gy @av) @@ (i)
(3) (i) @i @Gv) @)
(4) () (i) (@v) (i)
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fFrfaRaa QA/8F 3N DI B @9 a4 Bl B HT

Aar/A P o @ A
a. Wig (i) guer gdda
b. S+ | (ii) @re afas
c. HATST (iii) B8T &=
d. =q (iv) T

(1) G Gv) (i) @)
2) G) (@Gv) (@) (i)
() G) @i @Gv) @)
4) @ G (@Gv) (i)

16. Which country in Africa continent is largest by population size ?

(1) Nigeria ‘ P (2) Ghana

(3) South Africa ' (4) Egypt
WWﬁW%WQMWﬁTEﬁ?—W%?
() TR (2) =

(3) =f&roT eThieRr ‘ '4) =

17. Which languagc is the mother tongue of the largest number of people in China ?

(1) Tibetan | ' (2) Wei

(3) Hebrew (4) Mandarian
99 F d9d 31fEeE Rl @l ARG Be-E ¥ 7
(1) fereareh | (2) ¥

(3) fe=m (4) HaIRA
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18. Which religion has the largest followers in Japan ?

(1) Budhisam (2) Soka Gokai
(3) Shinto | (4) Judaism.
s & frd o & qed otftes ofgardt € 7
(1) ghsaH (2) At MR
3) & (@) Tl o
19. Which of the following is considered the best quality coal ?
(1) Anthracite (2) Bituminous
(3) Peat (4) Lignite
ﬁwﬁ%aﬁq—waﬁwwﬁe@gﬁmmwm%?
(1) ToEEe (2) e
(3) dre (4) RFge
20. Which onc of the following countrics is known for dairy farming :
(1) France (2) Denmark
3) Italy (4) Colombia
frer & Q Hi-ar I 3T T F R ST SIRm w7
(1) s (2) T
(3) geht (4) =raiferaT

21. Arrange the location of the following northcastern states of India from north to south

direction :

Mizoram, Nagaland, Manipur, Arunachal Pradesh .
(l‘) i-Manipur ii-Nagaland iii-Arunachal Pradesh iv-Mizoram
(2) i-Arunachal Pradesh ii-Manipur iii-Mizoram iv-Nagaland
(3) i- Arunachal Pradesh ii-Nagaland iii-Manipur iv-Mizoram
(4) i-Manipur ii-Arunachal Pradesh iii- Nagaland iv-Mizoram

PG-EE-July-2024/(Gcography)(SET-Z)/(B)




B 11
A & sl gaioe el & e @ 9o @ aferor Ren § eae
H ~ |
RN, smmdis, wfgR, srevire ser

(1) i=-9PgR {i-ARlS ili-arsunee e iv-fisim

(2) i-orsvirae AL AR dii-fFRie iv-Arets

(3) i-OTSUTEE W_9T ii-AFAS iii-AfgR iv-frsn

(4) i-9PIQR ii-srEvmES SRQT jii-ATners iv-fehe

22. Match the following :

State ‘ Coal Arcal Mine
a. Jharkhand (1) Birampur
b. Maharashthra =~ - (i) Karanpura
C. Orissa (iii) Wardha valley
d. Chhatisgarh . (iv) Talcher

a b C d
(D G @) - 3Gv) ()
(2) (1)) (v) (i) ()
@) Gi)) @Gv) () @)
(4) ) (i) (iv) (i)
Fr=faRea 1 A= &%

T g §EY "' e
a. FARES = (i) frRAgR
b. HABRI (ii)Amﬁgm
c. Israr ' (i) a4t e
d. i - (iv) aeER

a b c d
(1) Gi)y (i) @{v) ().
@) (i) (iv) (i) ()
() Gi)) (v) Gi) (i)
(4) (i) (i) (v) (i)
PG-EE-J uly-2024/(Geography)(SET-Z)/(B) ' P.T. O.
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23. Match the following iron orc mines and their statc ol location :

Iron ore Mine State

" a. Bailadila (i) Jharkhand

b. Mayurbhan] (ii) Chhatisgath

¢. Chikmagloor (iif) Orissa

d. Singhbhum (iv) Karnataka
o a b c dk

W Gy @ 6 G

@ G) (v G 0

@) G) G @) @

e STIEh e W
a. Fenfee () sEs
b. FETH (i) BT
c. PRI (i) ST

W G ™ @ G

@ @ @ G 0

3) (i) (i) @) @)

@) @Gi) @) @) @)
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24. Assertion (A) : Narmada river form cstuary not delta

25.

Reason (R) : Narmada river flow in rift valley
(1) Both A and R are correct and R explain A

(2) Both A and R are correct but R does not explain A
(3) Ais truc but R is falsc

(4) Ais falsc but R is true

SREHET (A) : T T Ieer W A gERET A 2
HROT (R) @ a1 98 &) 978 § gedt
(1).Aaﬁtl{€lﬂ‘fﬂ‘€f§eﬁ‘{R,Aqﬁ?ﬂT@TEﬁﬁT%

(2) A R R 291 a8 ¥ afFT R, A ¥ e =8 &ar @
3) A T T ARBT R ot B '

(4) A 9T B dfp9 R a1 B

Assertion (A) : Maharashtra state is the largest producer of cotton in India

Reason (R) : l%i_ack soils are found in Maharashtra.
(1) Both A and R are correct and R explain A

(2) Both A and R are correct but R does not explain A
(3) Aistrue but R is false

(4) A is false but R is true
W(A):Wwwﬁwwmeqam%l
HROT (R) : A8RTE & e B O o 3

(1) A &% R aF @& ¥ ofx R, A9 arrer ocar &

2) A X R S @& & ARpT R, A 3 =mEr 96 war o

(3) A ¥& ® dfdT R ota™ ®

(4)Aw%€r%km%

PG-EE-July-2024/(Gcography)(SET-Z)/(B)

P.T.O.
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26. Assertion (A) : Punjab state js the largest producer of paddy in India. o
' ¢ - arif scason
Reason (R) : Punjab has hot and humid climatic condition during |

supported by well-developed irrigation system.
(1) Both A and R are correct and R explain A

(2) Both A and R are correct but R does not cxplaiﬁ A
(3) Aistruc but R is false

(4) Ais false but R is true A
WW(A):WWWﬁmmeG““"%l

PR (R) = U & @l Arem & AR ol o ond weErg W Refy O
' %,ﬁa@m%ﬁmﬁmmmw%@?ﬁ%l
(1) A IR R 7 @& T &R R, A &5 oqre st

(%Aaﬁﬂ{aﬁﬁvﬁ%%ﬁﬂR,Aﬁa@mﬁm%
B) A ¥ 2 AT R e o
(4) ASTH B AfFT R | o

27. Assertion (A) : Maharashtra state has the largest area under

India. ’

Reason (R): Black soil," good rainfall and irrigation facilitics are suitable for
sugarcane cultivation

sugarcanc cultivation in

(1) Both A and R are correct and R explain A

(2) Both A and R are correct but R does not cxplain A
(3) Aistruc but R is false '

(4) A is falsc but-R is true

W(A):ﬂmﬁﬂ%a&@?ﬁ%aﬁiﬁma@%ﬂmma%,
Wm):ww,ewwwmw'ﬂ%ﬁéﬁ%mmﬁ%
(1) A SR R 2+ @& ¥ &R R, A % =1rem st & ,
(Z)AafrrRa:ﬁaéi%émR,Aaﬁar@naﬁm%
(3)AW%WR.GW%
(4) A STET & QMBI R & ®
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28. Assertion (A) : Karnataka statc is the largest produccer of coffee in India.

Reason (R) : Coffee is cultivated in Nilgiri hills rcgion in India
(1) Both A and R are correct and R explain A |
(2) Both A and R are correct but R does not explain A
(3) Ais true but R is false
~ (4) Ais falsc but R is true
HARHYT (A) : FHlesh IO R F HG H G99 987 IARH ¢ |
BHROT (R) : 9Ra F FialFR qeEt & § i & @<l P SR 3
(1) A IR R 47 981 € R R, A & IRAT BT 8
(2) A I R AT ¥ T QBT R, A 9 =AreT 787 &3ar @
3) A @E 2 AfFT R TTora B |
(4) A T B AT R 981 8

29. Assertion (A) : Kerala state is the largest producer of spices in India.

Reason (R) : Well drained alluvial or red and laterite soils, good rainfall and moderate
hilly areas in Kerala are suitable for spices cultivation.

(1) Both A and R are correct and R explain A

(2) Both A and R are correct but R does not explain A

(3) A istruc but R is false

(4) A is falsc but R is true

ARYFTT (A) : BT T ARG H AR B G TS IAEH S|

BT (R) : 3 H T8l o0 Fprdl anit Sieile a1 @i oiR dexge fAgl, ot
: out oMY A Uerel &9 A9 @l Sl B Riw Iuges T

(1) A 3R R &1 @&l § X R, A & =rear &»3am 8

(2) A 3R R T4 @& € kT R, A I =arEar 81 & @
(3) A 9& & dfT R o @

(4) A Toa & AT R FE B

PG-EE-July-2024/(Gcography)(SET-Z)/(B) P.T.O.
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ndia only.
30. Assertion (A) : Green revolution was successful in certain states of I

5 2 institutional reforms
Reason (R) : Provision of HYV sceds, assured irrigation and 1

were the main factors of the success of green revolution.
(1) Both A and R are correct and R explain A

(2) Both A and R are correct but R docs not explain A

(3) Aistruc but Ris false

(4) Ais falsc but R is true

SREET (A) @ eRT HR WRG B F A § & aHA W

F (R) : 1YV S5t omaer, giafeea e ofx @ ﬁW’W
il I AHTT B F& HRD A 1.

(1) A 3R R 97 @8 ¥ aX R, A & =ren &3l 8

2) A AR R S5 T8 ¥ Qe R, A @1 e g S ©
(3)Am%éﬁml{em%

(4) A T9 B AT R 9 ®

31. Which of the l‘olloWing statement is not correct :

(1) Fogs arc dricr than mists and they are prevalent where warm currents of air come

in contacts with cold currents
(2) Frozen dew is known as hoverfrost .
(3) Transformation of water vapour into water is called condensation

@ E vaporduon is the loss of heat
ﬁwﬁ@ﬁﬁﬁaﬁq—wmmwﬁ ve?‘%?

(1) e ga 3 g T AWE Yh B T AR U8 gef y=ee e ol
gar A AR B gl & wud ¥ o ¥

(2) 5T g% o H TATHE B w9 H S S ¥

(3) T ared & A 7 OREcE HEAE wEenr ®

(4) TR HET HT T B |
PG-EE-July—2024/(Gcography)(SET-Z)/(B)




32. Match the occan currents and their geographical arcas

Ocecan Currents

Bengucla
Labrador
Kurosiwo

Agulhas

a b

(1) i) (i)

@) (1) (@v)

() (i)  (iv)
4) () (i) |
AT gRIeT ofiR S9& Iriferes &= @7 e &Y -

a.

b.

C.

d.

TREFRY gRy

.g
REISIES
ITTE
a b

(1) Gii) (i)
() i) (iv)
3) (i) (iv)
4).() (iii)

PG-EE-J uly-2024/(G cography)(SET-Z)/(B)

c
(i)
(@)
(ii)
(ii)

(i)

(if)

d
(iv)

(i)

(@)
(iv)

d
(iv)
(iii)
(i)

(iv)

Geographical arcas
(i) South castern South Africa coast
(ii) Japanesc coast
(iii) Sou‘th Western Africa continent

(iv) South of Greenland

ﬁ??ﬂ%ﬁl &=
() <ot oot e o g
(ii) ST e
(iii) =fRrer aferdt aTssieer weTET
(iv) IFcis & aferor &

17
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33 The characteristics of Doldrums belt is best explained by
(1) Moderate prcss(n‘c
(2) High pressure and high speed winds
(3) Low pressurce and calm winds
(4) Low pressurc and strong winds
S A o RATGN A wad o) oxE & e
(1) 5ea &amd o
(2) S=a gEE R T Ry Awn @l
(3) HH TaEE X A T

(4)maa1aaﬁtéﬁamﬁ'

34. Flat topped sca mounts are called as :

(1) Plateaus - . () Shoals
(3) Ocean shclves o . (4) Guyots
gure ofid at | qéﬁr T HBT AR & °

(1) 9B (2) =T

3) TeErHE aEr ) TeE

35. In earth's intcrior, Asthenosphere is situated between : |

(1) Earth crust and Mantle ~ (2) Mantle and inner core
(3) Inner corc and outer core (4) Mantle and outer core
gaﬁ%aﬂaﬁmmﬁ,@aﬁwmaﬁaﬁaﬁ%?
(1)gazﬁa‘ﬁ‘maﬁ’{ﬁm (2) Hed SR IARE HR

(3)3@&%@?3?'?3@@? (4) Fewt R ad )

PG-EE-J uly-2024/(Gcography)(SET-Z)/(B)




36. Which instrument is used to measure relative humidity ?
(1) Vacuum bulb thermometer

(2) Pedometer

(3) Barometer

| (4) Wet and dry bulb thermometer

} AT ST A B R B STHRET 1 STANT Rear St 2 7
5 (1) Yogm oo et

2) ez

(3) Rrfex:

(4) e MR FgaEr T FAiiex

37. Which of the following planet's average distance from sun is wrongly mentioned ?

Planet - Average distance from sun in miles

(1) Mercury 36,000,000

(2) Venus 87,000,000

(3) Earth 92,900,000

(4) Mars 141,500,000

PriRe & @ fra 7o & @ @ o g 7o aarE T R ?
e S _ gt § e o Hiw &

(1) 3o | 36,000,000

Q) W - 87,000,000

(3) gt » 92,900,000

4) W | 141,500,000

. PG-EE-July-2024/(Gcography)(SET-Z)/(B) ) P.T.O.
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. ' ; ' ris:
38. Approximate distance betwcen two longitudes on carth's equato

(1) 111.3 Kms (2) 121.7 Kms
(3) 101.7 Kms (4) 105.3 Kms
Qet Y sprer Yar W A i @ dv @ orgAE g0 et 8 7
(1) 1113 &= (2) 121.7 fpH
(3) 101.7 Redt | 4) 1053 i

39. What is the time difference between two.longitudes on carth ?

| (1) 1 Minutc ‘ ' A.(2) 2 Minutes

(3) 3 Minutes (4) 4 Minutes
gt W & Rl B G iR Y 2
(1) 1 F=e (2) 2 B
33 fe. 4) 4 Frre

40. Which of the following is not a feature of wind crosion ?
(1) Hammada ' (2) Inselberg
(3) Zeugen - ' (4) Kame
Freifoiaa & ¥ H-0 arg oo @ A 58 S 7
(1) &1 (2) FATET
(3) v | 4 &7

-41.  Which one of the following projection is most suitable for navigation ?

(1) Simple cylindrical (2) Polyconic

(3) Mercator " (4) Bonne's
ﬁﬁ%f@aﬁﬁﬁﬁ—wq%w%ﬁﬁsﬁ%%{qmm%?
(1) T SATRR (2) drefrepitres

(3) THeT ' (4) AT

PG-EE-July-2024/(Geography)(SET-Z)/(B)
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42. Which one of the following is a largé scale map ?

( 1)4 Cadastral map | (2) An atlas map
(3) Wall map - (4) Topographical
fFr=fciaa & & f9-91 t a2 Y9 @ a7
(1) BsTer Toem ' (2) Teed SR

(3) Far =R (4) TATHRIS. (

43, On which of the following map projections the great circle is shown by straight line ?
(1) Mcrcator
(2) Bonne
(3) Cylindrical equal area
(4) Polar Gnomonic stcréographic

ﬁwﬁr@aﬁﬁmwﬁaq%wwwaﬁﬁeﬁ%@mﬁ@mw
52

(1) Ahex

(2) 9=

(3) ATETHR T &

(4) gt =ifes RS

44, Which of the following is noft the property of Bonne' projection ?

(1) Scale remain true on all the latitudes and central meridian

(2) Itis not cqual area projection

(3) Equator is shown by simple line

(4) Shape and arca remain true even away from central meridian

G-EE-July-2024/(Gcography)(SET-Z)/(B) P.T.O.
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Rrfefed § @ @e-ar @ S&aer & er 787 ¢ 7
(1) YT qoft arerial odX B HeATE Y@r qv qd el ©
(Z)QEW'E?{BImqﬁ%
(3) HEA @ B WIS @1 w0 Rerar @ @
(QGWGﬁTa;TWHW:{"@T@{gTQﬂmﬁW%%

45. What is the cquivalent of 0 degree Celsius in Fahrenheit scale ? |

(1) 8decgree (2) 12 dcgree
(3) 32 degrcc (4) 28 degree
wRTEEe IR F 0 Rl Afvead $ awEr R 7
(1) 8 f= L(2) 12 =
(3) 32 f&=m (4) 28 fealt

46. Which of the following is used to measure wind velocity ?
(1) Hygromcter (2) Bar.ometer
(3) Barograph - (4) Anecmometer
= & & fraesr ITENT ag 31 A & fg ey Sem g 7
(1) B (2) e
(3) AT © () TR

47. If atmospheric lines show a value of 1022 mb at Delhi and 116 mb in Kerala, what will

be the month in India ?

(1) January | (2) August

(3) May (4) June

gk grgHsE 3@ el ¥ 1022 el MR e F 116w faraTet
I I N SE =

(1) S=ad (2) ST

3) & 4) S
PG-EE-July-2024/(Geography)(SET-Z)/(B)
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48. What is the scale of India and adjacent countrics series maps produced by survey of

India ?
(1) 1: 1,000,000 (2) 150,000
3) 1:25,000 4) 1:10,000

T off Rar e’ QR e @ wRa SR erE-urE & 29 # e &
AEEET & YT | w7
(1) 11,000,000 - (2) 1:50,000

(3) 1:25,000 (4) 1:10,000

49. Which type of method is most suitable to show population distribution on map ?
(1) Choroplcth (2) Choroschematic

(3) Dot method | (4) Circle diagram

AR W e BT RE $ Riw fhe ger @ Ry el sugs § 7
(1) BRI o (2) IRIERAfRS

3) e =By (4) g9 o=

50. What are the bands in visible region of electromagnetic spectrum ?

(1) Blue, Violct, Green . (2) Red, Blue, Yellow
(3) Infra-Red. Green, Yellow | (4) Blue, Green, Red
R rareiia @ & g A § ¥ ¥ 2

(1) =fram, &0, & (2) @, e, Qe
(3) -3, &1, 4 (4) ¥, B3, WA

' PG-EE-July-2024/(G cography)(SET-Z)/(B) - P.T.O.
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‘ . .os are located ?
51. In which of the [ollowing countrics iron producing arcas of Pyrenccs
(1) USA (2)-U. K,
(4) I'rancc

(3) Germany
o F @ R 29§ qEXer B e o A9 R €7
(1) guaT ~(2) go Ho

(3) s | (4) hid

. Aol urban in
52. Which onc among the following is not a condition to designatc a scttlement

India ?

(1) Minimum population of 10,000

(2) At least 75% male populétion is working in non agriculture activities

3) Dénsity of population should be at least 400 persons’ per sq. km.

(4) There should be a municipality or it should be notified as urban by government
ﬁwﬁmﬁﬁ@ﬁ?—%ﬁ@ﬂﬂﬁﬁmﬂaﬁﬁs@@ﬁﬁaﬂﬁﬁm
TFEFE ?

(1) =gma™ sTdeEr 10,000
(2)mﬁw75%wamm§mﬁﬁmﬁrﬁaﬁw%

(3) STEEAT &7 g HH A FHA 400 ARG " - S =nfey |

(4)a§@wm%wéﬁm%qm'sﬁwms@%mﬁeﬂgﬁm
fopar ST =R

53. Which among the following is/are correct ?
I. Rio de Jancrio is the capital of Brazil
II. Damascus is the capital city of Saudi Arabia
I1I. Ankara is the capital of Turkiye
(1) I, 1 and 111 | (2) 1 and I1I
(3) Only III . " (@) All are correct

PG-EE-July-2024/(G cography)(SE’I‘-Z)/(B)



Frfifae & @ d-ar ad 2% 7

- L RAr &1 SRR aelier 8 ot ©

II. TP TS SR Y Torarh D

Il HAFRT gl Bl e &

() LI o= 111 (@) 11 &N 1
(3) Haw I 4) |Gt Tdr &

54. Which among the following is/are correct statements ?
I.  New York is the largest'city of USA
II. " Ottawa is the largest city of Canada
III. Christchurch is the largest city of New Zealand
(1) OnlyI . (2) Iand I
(3) I, Il and 111 (4) None of the above
Frefofea & & dm-ar samr af 38 7
. g1 Jquan &1 G99 F97 967
II. STeEr FHST 1 T F7 6T 2
1. sFEEead <eids & aad 997 e

() Faa 1 2) I &x I

3) L I &% 11 - (4) ST F F B T
55.  Which of the following is not located in Persian Gulf ?

(1) Kuwait | " (2) Qatar -

(3) Yemen (4) UAE

Frafife & & B9 B B @ § Rem 7S 7

(1) B - (2) FR

(3) @+ (4) g

G-EE-July-2024/(Gcography)(SET-Z)/(B) P.T.O.
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56. InIndonesia, shifling cultivation is known as :

(1) Milpa (2) Caingin

(3) Ladang I (4) Ray |
gEMRMET B, wWFiaRa ) @y g Fm Q ST o 8
(1) femar - (2) HARE

(3) it | @R

57. Which one is/arc correct about Malthus theory of population ?
I. Population increase in geometrical progression

II. Positive checks include use of birth controlling methods like vasectomy,
tubectomy ctc.

III. Population double itself in 25 years

(1) Only (2) Tand III

(3) Only 11 : (4) All are correct | |

STHEE & Ao Risid & R § Sa-ar/d qet 88 7

. S woifa | SeEen gis
II.Wﬁaﬁwwﬁ,a@aﬁﬂaﬂ%\ﬁ%mWWm

SYIART AT B |
I 25 gt & Seer AT & o & -
(1) B 1 ) 1 o 11
(3) daw Il (4) @+t 9 &

58. Which one of the following is not a type of iron ore :

(1) Hematite -~ (2) Magnetite
(3) Birnessite a ) Limonifc
frffeaa 5 4 &9-a1 die o796 A ThR 78 & 7
(1) ¥ (2) AEEe
- 3) AT - (4) fermmge

PG-EE-July-2024/(Geography)(SET-Z)/(B)



59. Which onc of the [ollowing is a major iron orc mining arca of Australia 7

(1) Western Australia (2) Darling Basin
(3) Qucensland (4) New South Walces
P # A Si-ar SIRERmET &1 wyE e oEwh Tee a9 B 7
(1) ofyesh s (2) sifelr afas
(3) Hiacis (4) =1 9y a<q
60. Which onc of the following is nof major oil producing arca/region ?

(1) North Seca - (2) Southern Sahara
(3) Pennsylvania (4) Masjidi -Sulaiman
FrefaRea &  Ho-a1 s a S 8 /Ry T8 § 7
(1) S0 9T (2) &ferelt Fer '

i (3) SRaaferar | (4) ARSTE-GRHTT

| 61. Which onc of the following is the correct explanation of the concept of demographic
| dividend ? '

(1) There is cxponcential growth of population
(2) There is balanced growth of population
(3) Per capita income is very high

(4) When working population ratio is high which has the potential for high economic
growth

PrfRa § & S-aT SRR A @ AR % @d s ¥ 7
(1) SR § o gie et @

(2) wreE # dgR gRE i B

(3) iy =afs oI agd faw ddl @

(4) s/ HEAME SHEEAT Siga oIt BT @, R S= onfies s &
dE B ¥

PG-EE-July-2024/(Gceography)(SET-Z)/(B) . P.T.O.
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62. Which onc of the following options about gcograﬁhical arca inhabitcd by Eskimos is
most suitablc answer ?
(a) Greenland
(b) Greenland ami North Canada
(c) Greenland, North Canada and Eastern Siberia
(d) Greenland, North Canada, Eastern Siberia and Alaska
(1) Onlya ' | (2) aand b
(3) a,bandc - | (4) a,b,cand d
ol BN ga T AR A B ar § Freied § @ S fe
a9 IYYTH I © 7 | |
(a) Micis
(b) Tz SNX I FH=T |
(c) Fels, S FATST AR G At
(d) FFele, ITA HAST, T FRARAT I STAR
(1) e a | | (2) aafXb

(3) a,baiR ¢ (4) a, b, c A d

63. Which of the following regions is inhabited by Nordic race people ?

(1) Northern Liurope ~(2) Mediterrancan

(3) West Asia ~ (4) Tundra rc\gi()n

Frefofee § & - &= s TR & A aw @ gon @ 2
(1) ITa ga @ e R

(3) ufvem QM@ (4) g1 &=
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64. Which onc of the following is mof an example of sedentary subsistence cultivation ?
(1) Ganga-Kosi plain in Bihar
(2) Indus basin Pakistan .
(3) Wheat cultivation in Australia
(4) Paddy cultivation in Bangaldesh |
Frfdfed & @ SF-wr o Tl fafe @t @ Saer T8 S ?
(1) R 7 -7 @1 ==
(2) Riy AR wifrea
(3) oTregferar § A = @T‘ﬁ_
4) Erf’Fﬂ%gT q 99 B @t

65. 'Oriza Sativa' is associated with which of the following crops ?

(1) Wheat (2) Maize

(3) Rice | (4) Tobacco

‘amﬁ%m’ﬁ’?ﬁiﬁaﬁﬁ@fﬁm%ﬁm%?
NOR @

(3) =maw | (4) g

66. Which of the following statement correctly dcﬁnc "Conurbation" ?

(1) When at lcast one inetropolitan city and many cities in its suburb merge together
with expansion of cities due to population growth.

(2) When oric metropolitan - city connccted with many suburb cities by efficient
highways and rail routes

(3) When there arc number of small towns developed between two metropolitan cities

(4) A city with a population of more than ten million

. PG-EE-July-2024/(Gcography)(SET-Z)/(B) P.T.O.
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Rraffad 3 & S-ar o e e @ ad g @ g P &
(1)@@@@@@@@3@&.@%3@11??%‘9@ T

q@%wsﬁ%ﬁw%ma@mwﬁﬁﬂ?@aﬁ%‘l

(2)@@Wamﬁmm,éﬁﬂmmamﬁ"qﬁa
ST B | |

(3) 5T A e e B G B B el A o |

(4)mﬁﬁmﬁaﬁﬁmeﬂmﬁms@|

67. Donbas region or Donets Basin is famous for the production of :

(1) Coal (2) Iron ore

(3) Gold (4) Bauxite

SFaE 8= a1 SHed AR frad S & e afas B 7

(1) shrE=T (2) B STIEH

(3) | (4) dferdrse

68. Which country is largest producer of milk ?

(1) Brazil (2) Denmark

3) fidia (4) USA

geramwﬁagrwm%%ﬂﬁq—w%?
(1) s (2) 597

3) 9Rd (4) quEg

PG-EE-July-2024/(Gcography)(SET-Z)/(B)
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69. The enormous volume of dust swept across steppe lands of Asia and deposited in the

north-central China is known as :
(1) Locss (2) Regur
! (3) Terra Incognita . (4) Terra Rossa soil

cREr & R i A wewR FA-wer d= § oo gdoger @ fagmer "o
g 9 H ST Sl @ |

(1) e (2) TR

(3) 2T FmifPer - (4) 1 T BrE
70. 'Which of the following countries has Savanna type climates :

(1) South Africa (2) Vietnam

(3) Sudan ' (4) Argentina

FreifeRaa § & fpa Q91 1 STe@rg, T 6N BT 7

(1) Ef&7oT SThIhT (2) g™
3) g8 ' (4) STt

71. Broadly, Indian agriculture practices :
(1) Commercial farming
(2) Subsistencc agriculture
(3) Plantation cultivation
(4) Shifting cultivation
A2 X W}, IRAT HY g=iwEr
(1) anferfsaes @it
(2) Frafe
(3) arm=E @l
| (4) 77 ol
PG-EE-July-2024/(Gceography)(SET-Z)/(B)
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72. Nagarjuna Sagar Dam is constructed on

(1) Krishna river (2) Tapti river

(3) Cauvery river ' (4) Mahanadi river
AEMSA AR iy g Pmter R g B mar 7

(1) F&m 72 (2) @t T

() TR T8 (4) weTEr

73.  Which state has the longest coastline in India.?

(1) Tamil Nadu (2) Andhra Pradesh
(3) Maharashtra (4) Gujarat

AR A TR o e R o @ B 7

(1) aterTg | (2) e T

(3) merTg e (@) TR

74. Kakrapar is an cnergy plant of ;

(1) Hydro clectricity
) lCoal basced thermal plant
(3) Nuclear plant
(4) Wind encrgy plant
BIRIR fhaemt ot d@xy 3
(1) st ferga
(2) HrEe SRS ardy dasy
(3) wRATY wHd=A
(4) vaT SHoll dEA

PG-EE-July-2024/(Geography)(SET-Z)/(B)
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75. Atwhich of the [ollowing places confluence of Alaknanda and Bhagirathi is located ?
(1) Prayagraj (2) Karn Prayag
(3) Dev Prayag (4) Rudra Prayag
W@Hﬁﬂ%({ﬂﬂ?emaﬁmeﬁmﬂt@mmqﬂm%?
(1) W (2) ot AT

(3) ¥= waAr (4) BF T

76.  Which of the following is not situated in Himalayan Mountains ?
(1) Karakoram (2) Namcha BarWa
(3) Nanda Dcvi (4) Kanchenjunga
e § @ i RBRee w&@d § Rea 787 3 ?5\
(1) HTRRA ' @ T W<

(3) =T &t , (4) IS

77. Which of the following is not a pastoral community ?

(1) Bhutias ' - (2) Bakkarwals
(3) Gaddis (4) Khasis

fr=fefaa § 9 @9 T =ael gaE T8 & 7

(1) gfean (2) SeRRRETRT
(3) Tl (4) @R
PG-EE-July-2024/(Geography)(SET-Z)/(B) P.T. O.
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78. Largest arca under forests in India is in the statc of :

(1) Orissa (2) Madhya Pradesh
(3) Karnataka (4) Chhattisgarh
TR § et B oferka qEd wwT 8 e v R 7
(1) s<rm | (2) A SR

G) e (4) s

79. Which one of the following port is not located on castern coast of India ?

(1) Paradecp (2) Okha - (3) Ennore 4) Tuticorin
Frfafea & & Fi9-ar dewme WRa & g e )R TET® 7
(1) R (2) ot . (3) TR (4) TR

| 80. Where is Sir Crcck located on Indo-Pakistan border ?

(1) Gujarat | ‘(2) Rajasthan

(3) Punjab (4) Jammu and Kashmir
AT i AR W O e Rew ¥ 7

(1) o | (2) T

(3) dst= (4) 579 SR HIHR

81. Roche Mountonnees are the feature developed by the process of :
(1) Glacier ' (2) River
(3) Wind (4) Underground water
Q9T AR Prfiee SRAT ERT Rl fdr ¥

(1) wifEx ' (2) i

(3) ®&ar ) 4) 9T S
| PG-EE-July-2024/(Gcography)(SET-Z)/(B)
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82 grams of water vapor per cubic meter volume of air is known as :

(1) Static humidity (2) Relative humidity

(3) Absolute humidity (4) Specific humidity

T H AR O W oo orer arer @ o @Y 56 @9 H AT S ¥

(1) ¥R armdan (2) wer e
(3) MR smdan (4) fafare emar

83. During the parabolic dune formation, the dominant wind direction is :

(1) Poly-dircctional (2) Multi-directional

(3) Bi-directional (4) Uni-directional

WA At & T $ AR, wgE At @ Rew @
(1) dici-sSRREFREw (2) AEEI-SERERA
(3) TE-SRREE : (4) T-STERERT

84. Which of the following define the Fjords :
(1) Series of cirques
(2) Series of insclbergs
(3) A deep V-shaped valley formed due to vertical cutting By rivers

(4) A deep, narrow and clongated sea commonly extending’ far inland results from
marine inundation of glaciated valley '

Prefofae & & B Foied B AR HLar § 7

(1) Tba W = |

(2) FAATEET B AT

(3) ARET TR HEEER HE B BROT T TH Tl R-oACBR B AT

(4)@m,ﬁﬁﬁahwwvhémﬁ1w%qmﬁﬁw%wgﬁ
ST $ GRSy g3 a9 ofasid ae $en o ¥

35

PG-EE-July-2024/(Geography)(SET-Z)/(B) P.T.O.



36

85. Which of the lollowing activitics is
(1) Earthquakcs

. . ¢ > ?
associated with exogenetic forces

(2) Continental formation

(3) Volcanic activities (4) Monadnocks
MR F A - R afs adt a & B 7
(1) y=g | (2) werddy fafor
Q) SagE TRRkfEr (4) M¥TSHART

86. In which of the lollowing decade, India recorded negative growth of population ?

(1) 1891-1901 (2) 1901-1911

(3) 1911-1921 (4) 1931-1941
hw%@aﬁamawﬁwmﬁmﬁwﬁwqﬁ;ﬁﬁ@?
(1) 1891-1901 (2) 1901-1911 -

(3) 1911-1921 (4) 1931-1941

87. Which of the following statement is trye 9

(1) Settlements which have po

pulation of over 2000 are considered urban by census of
India '

(2) Person who work less than 183 days in a

year is considered as main worker by
census of India

(3) A person who can read and write a simple passa

ge with understanding in any
- language is considered as literate by census of India

(4) Census of India defined sex ratio as number of males per thousand females

FrifeRaT & @ Hr—a1 sem TT e ?

(2) 9RA B ST B SEAR
ﬁg@%ﬁmwaﬁr%

'(3)mﬁwvm%ew@aﬁﬁvﬁmﬂﬁrwﬁm%m@
WWQTﬁWGﬁT%@W%,@WWW%

A H 83 R X A oy ary when
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88 rrangcf the lollowing states of India according to descending order of density of
population in 201 ] census :

| Uttar Pradesh, Bihar, West Bengal, Kerala
(1) i-West Bengal, ii-Bihar, iii-Kcrala, iv-Uttar Pradesh
(2) i-Kerala, il-Bihar, iii-Uttar P
(3) i-Bih

radesh, iv-West Bengal
ar, ii-West Bengal, iii-Kerala, iv-Uttar Pradesh
(4) i-Bihar, ii-Kcrala, iii-West Bengal, iv-Uttar Pradesh 4
2011#Wmﬁmw%'m%amﬁam%eﬁaww%
- SR R, RER, Rem s, av
(1) i~9f=r e, i-Rrem, di-gRE, jv-geR SR
(2) -3, ii-fER, ii-sax Ry, iv-aRem ST
(3) i-ReR, ii-afem s, ik, iv-gex SR
(4) iR, ii-®«, ili-9es S, iv-gax SRer
89. . Arrange the following statcs according to descending order of their geographical areas :
Madhya Pradesh, Rajasthan, Maharashtra, Andhrd Pradesh |
(1) i-Madhya Pradesh, ii-Rajasthan, iii-Maharashtra, iv-Andhra Pradesh
(2) i-Rajashan, ii-Madhya Pradesh, iii-Maharashtra, iv-Andhra Pradesh
(3) i-Rajasthan, ii-Maharashtra, iii-Madhya Pradesh, iv-Andhra Pradesh
(4) i-Maharashtra, ii-Rajashan, iii-Andhra Pradesh,‘iv-Madhya Pradesh
Heg TRQT, TSR, HERTSE, STl u_eT |
(1) i-9e R, ii-XoRAM, [i-TeRTs, iv-3tfs s
) i-TorET, ii-99 939, {ii-TeRI,  iv-STe S}
(3) i—XORA, ii-AeRTE, ii-"e w291, iv-atiEer sRer
(4) i-HERTs, -, iii-Stier uaw, iv-"e sRaT

PG-EE-July-2024/(Geography)(SET-Z)/(B) | ~ P.T.O.
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. o rth :
90. Arrange the order of the following rivers of India from south to no

Cauvery, Godavari, Periyar, Krishna
(D i-I’criyal', ii-Cauvery, iii-Krishna, iv-Godavari
(2) i-Cauvery. ii-Periyar, iii-Krishna, iv-Godavari
(3) i-Krishna, ii-Cauvery, iii-Periyar, iv- Godavari
(4) i-Krishna, ii- Godavari, iii- Cauveri, iv- Periyar
%m?r 5 Pr=fafed Afdr @ afier ¥ Sut H AT FH
FE, MEE, IRAR, F&
(1) i-ARAR, ii-HRQ, iii-F=m, iv-TaEd
2) i-HR9, [i-ARAR, iili-Fem, iv-TEEst
(3) i-Fom, ii-HEd, 1ii-IRAR, VA ACEA
(4) i-Fwm, ii-MeE, iii-Hed, v-aRar

ﬁmﬁ*’lﬂiﬁ:

91. In which of the following streams, the course of flow is determined by the original

slope of land ?

(1) Insequent (2) Obsequent
(3) Subsequent (4) Consequent
?ﬁ@aﬁﬁmmﬁmwwﬁ@%gﬁwﬁﬁﬁﬁﬁm
?

(1) sTpaadt (2) srgert
(3) Gt (4) ST

92. Which one of the following is thé largest fresh water lake ?
(1) Caspian sca (2) Mediterranean sea
(3) Superior (4) Victoria '_
P # & B9 T 99 0 ae A e B 7
(1) SR TR @ e AR
(3) ghRex i (4) RerRET

PG-EE-July-2024/(Geography)(SET-Z)/(B)



. g93. Match the follmving Volcanoces

a.

Volcanocs
Cotopaxi
Kilimanjaro
Mount Elbrus
Mount Etna

d b C

(1) ()  @v) (i)
2 )  Gv) ()

@) Gi) (G  ((v)
@O G ) |
Frfafea sSaemRedt ok I Rea 91 & Fa a6

(1) G Gv) (D)
@) Gy @G @

@ () (i) (V)

Country

(i) Tanzania
(11) Italy.
(iii) Ecuador
(iv) Russia

d

(1)

(iii)

(i)

(ii)

T
(i) cenferar
(ii) o<t
GHEREISIES
(iv) &F
d
@)
. (iii)
(ii)
(ii)

i’G-EE-J uly-2024/(Geography)(SET-Z)/(B)
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94. Match the I‘ollowing rivers and their tributarics :

River Triimlnry
a. Rhinc (i) Aarc
b. Amazon ' (ii) Tao
¢. Colorado - (iii) Madeira

d. Yellow | (iv) Green
a. b c d
WG o G G
(2) (i) (iv) () (1ii)
G) Gi) ) v @
@O Gy v G
Frifeafea At ofik e geres ARGt @ Frams EIgE

T HaTgeh gl
a. EA | ) em
b. T | - (i) arer
c. BARET | (i) i
d. drh | (v)zd

(1) Gi) (@v) (@) ()

2) (i) -Gv) () (i)

3) (i) () Gv) (@)

4 @ G >Gv) (i)
PG-EE-July-2024/(Geography)(SET-Z)/(B)
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95. Match the l‘ollowing clime

classification :

Symbol

a. Bwh
b. Aw
c. C
d. Dfe
q
(1) (i)
(2) (i)
(3) (iii)
4) (@)

H :
<
a. Bwh

d. Dfe -

a
(1) (ii)
(2) (i)
(3) (iii)
4) (i)

b

(iv)
(iv)

(ii)

(iv)
. & BT B AR FrafaRe siwarg st o serarg &= &1 FHe

b

(iv)
(iv)
(ii)
(iv)

C
(ii)
(iii)
(iv)
(ii)

C
(if)
(iii)
(iv)
(if)

(iii)

(iii)

41

+ A 4 . ' '
ic symbols and climatic regions as pcr Kocppen's

Climatic region
(i) Sub - Arctic Taiga
(i) Mecditerrancan
(iii) Desert

(iv) Tropical Savana

STeraTg A

() Su-aTReE B
(i) ‘ﬂ;ﬂrwwﬁa ;
Gy

(iv) ST

PG-EE-J uly-2024/(Geography)(SET-Z)/(B)

P.T.O.
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86. Which of the following types of clouds are situated at the highest in the sky and scldop,

produce rain on carth ?

(1) Stratus (2) Nimbus

(3) Cirrus (4) Cumulus

Frafifes & @ Rew SR & g o & wed S8 @ T RET @7 g
SR gt X FHofi-ofy aul o=y & 7

(1) ¥eq (2) Fr=rg
3) = | o (4) R

. 97. Which one of the following feature is not associated with the process of underground|

water ? |
(1) Dolines | (2) Uvalas
(3) Polljes | (4) Eskers E
Frffes & @ P-ei Rdar 9 o 91 sfea @ et FE 7 |
n SR (2) ST
3) TS| (4) TERd

98. Which of the following countries has the longest coastline ?

(1) USA (2) Canada
(3) Russia (4) China
frrfafaa & @ feg 3 & de@r 999 < 8 °
(1) Te&T (2) et
(3) &4 (4) ==

PG-EE-July-2024/(Geography)(SET-Z)/(B)



Vhich is the corree
g9. Whi the correct arrangement of the atmospheric layers from nearest to farthest
from carth surface 9

Troposphere - O, 3
(1) Troposphere Ozonosphere - Stratosphere - Tonosphere

(2) Troposphere - Stratosphere - Ozonosphere - lonosphere

(3) Stratosphere - Troposphere - Ozonosphere - lonosphere
(4) Stratosphere - Troposphere - Ionosphere - Ozonosphere

%ﬂﬁw@mﬁgﬂaquﬁﬁwm%ﬁ—ﬁl
?

(1) TS - NP - Foer Heet - AATHSA
(2) SIS - WA Hew - AR - ST
(3) THAM HSA - & - SNSIHEHER - SaaHsd
(4) 999 HST - e esd - STEeHSE - SNSHIEhaY

100. Match the following winds and their geographical areas :

Winds Geographical areas
a. Mistral (i) Egypt
b. Sirroaco (i) Central plateau of France
c. Bora '(iii) Blowout from Sahara desert towards Meditcrranean sea
d. Khamsins (iv) Adriatic sea region

a b ¢ d
(D) Gi)  @Gv) @Gy @
@) Gy Gi) Gv) Q)
(3) i) @Gi) Gv) (@)
| @) () (v) (G (i)

 PG-EE-July-2024/(G cography)(SET-Z)/(B) ' P.T.O.
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FeliRea gamell ofk o= e &= &1 e &Y

g

LRI SIS
8. e (i) Pora
b. R (ii) F 1 BET B ,
c. = iy s X F e W H ST ST
d whET  (v) oRRe T o |

W @) G 6
@@ G @ 0
G G G @) )
@@ G G G
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1. Broadly. Indian agriculture practices :
(1) Commercial farming
(2) Subsistence agriculture
(3) Plantation cultivation
(4) Shifting cultivation
A AR W), YRAE P gmferEr -
(1) T S
(2) Frate iy
(3) ST ©<h
4) g9 =f

2. Nagarjuna Sagar Dam is constructed on

(1) Krishna river (2) Tapti river
- (3‘) Cauvery river (4) Mahanadi river
ARSI @R dre & At fha o) foear = & 2
(1) Fo T | 2) are =@
(3) WA AT (4) ABMET

3. Which state has the longest coastline in India ?

(1) Tamil Nadu (2) Andl}ra Pradesh
(3) Maharashtra (4) Gujarat

q7E § e e aeEr B o ) R 7

(1) aferg (2) 3T H_9T

(3) e (4) oI

PG-EE-July-2024/(G cography)(SET-Z)/(C) P.T.O.



4. Kakrapar is an encrgy plant of :
(1) Hydro clectricity
(2) Coal bascd thermal plant
(3) Nuclear plant
(4) Wind energy plant
FHHAIR [T Sott &4 § -
(1) wiwr fagd
(2) HEwT IRT a4
(3) WA HIA
(4) 9a oIl |@ad

5. At which of the following places confluence of Alaknanda and Bhagirathi is located 7

(1) Prayagraj (2) Karn Pravag
(3) Dev Prayag " (4) Rudra Prayvag

Prefeitag § 9 bg WE R STaHHar ofX 9FIREl & 9§99 Reg © 2
(1) AR (2) ot =T

(3) 3T WA 4) X TR

A

6. Which of the [ollowing is nof situated in Himalayan Mountains 9

(1) Karakoram _ (2) Namcha Barwa
(3) Nanda Devi (4) Kanchenjunga
Frefafag § Q @9 Raey gda J Rea q8f g ?

(1) HTHIHA (2) AT SRy
(3) =T a4 (4) HEASE

PG-EE-July-2024/(G cography)(SET-Z)/(C)



7. Which of the following is nof a pastoral community ?

(1) Bhutias (2) Bakkarwals
(3) Gaddis - (4) Khasis
Fr=fefe # @ D9 b = wEE 7@ e 7

(1) e (2) EeRpAT
(3) Tl | (4) @

8. Largest arca under forests in India is in the state of :

(1) Orissa (2) Madhya Pradesh
(3) Karnataka ' (4) Chhattisgarh
W % o % siet ww TeT A R o F 7
(1) Sgrar (2) 9= RS

(3) HAleH . (4) =T

9. Which one of the following port is not located on eastern coast of India ?

(1) Paradeep (2) Okha (3) Ennore ‘ (4) Tuticorin
fFrfaiad & 9 S-a1 de¢e IR & Yat de o Req 787 & ?
(1) IR 2) sivar (3) TR (4) TR

10. Where is Sir Creek located on Indo-Pakistan border ?

(1) Gujarat (2) Rajasthan
(3) Punjab : (4) Jammu and Kashmir
AY i AR -TIhed | T ¥ el R B 7

(1) 7o (2) TSR

(3) d=t= (4) S 3 heHX

PG-EE-July-2024/(Geography)(SET-Z)/(C) : P.T.O.



11.  Roche Mountonnees are the feature developed by the process of

(1) Glacier (2) River
(3) Wind | (4) Underground water
g1 ARGET Fr=faRaa wftear g R Qe @
RSIEIRES < (2) &1
(3) == (4) e ST
12, The grams of water vapor per cubic meter volume of air is known as :
(1) Static humidity | (2) Relative humidity
(3) Absolute humidity _ (4) Specific humidity
BT B Ul g9 Hex ovaad ¥ STl arsq @ T 39 ®Y F ST AW 2
(1) B emdar ' (2) Eer ST N

(3) Fuer emEar (4) fafarse smdar

13. During the parabolic dune formation, the dominant wind direction is :

(1) Poly-directional 2) Multi-directional
(3) Bi-directional (4) Uni-directional
RaeiE A F FrET & ERM, SyE wer @ Ra ¥
(1) diefi-sroReFmT (2) AT -SRI
(3) SE-SERE (4) TA-STERERE

14. Which of the following define the Fjords :
(1) Series of cirques
(2) Series of insclbergs
(3) A deep V-shaped valley formed duc to vertical cutting by rivers

(4) A deep, narrow and elongated sea commonly extending far inland results from
marine inundation of glaciated valley

PG-EE-July-2024/(Geography)(SET-Z)/(C)



P @ BT ety @) gRonfie @ 7

(1) F=a @ =jaam

(2) sae=Et A =jgen
(D*fﬁ?frm‘mwm%ma‘rﬁ@ﬂgﬂéﬁ—amﬁw

(4)@@,@%@%@9@3&@%@%@%@%@
SIS & IRIRaay g7 a6 ofadels a% Sem S 2

15. Which of the following activities is associated with exogenetic forces ?

(1) Earthquakes (2) Continental formation
(3) Volcanic activities 4 Monadnocvks
e & § =i ety afestr oot & o 2 ?
(1) 3Thy (2) wETErdT femfor
() SSrTET wfafft (4) AATSTRT

16. In which of the following decade, India recorded negative growth of population ?
(1) 1891-1901 | (2) 1901-1911
(3) 1911-192] ' (4) 1931-194]
ﬁrﬁfﬁﬂﬁaﬁﬁ@fm?{fﬂa%ﬁWﬁwﬁﬂ'wrﬁ‘dwum%qﬁaaﬁﬁﬂé?
(1) 1891-1901 | (2) 1901-1911 |
(3) 1911-1921 | (4) 1931-1941

17.  Which of the following statement is true ?

(1) Settlements which have population of over 2000 are considered urban by census of
India

(2) Person who work less than 183 days in a year is considered as main worker by
census of India

(3) A person who can read and write a simple passage with understanding in any
language is considered as literate by census of India

(4) Census of India defined sex ratio as number of males per thousand females

PG-EE-July-2024/(G cography)(SET-Z)/(C) P.T. O.



Frafafag § Q@ D9-91 Hee g ¢ 7

(1) ¥RT &) SFHAVEAT & SRR 2000 F atferep STETHEAT areft afierdt
HqET STl @ .

(DWa‘ﬁmvw%awqasadﬁ183%ﬁa;qaﬁrq-zsﬁerr?raqﬁ~ﬁ
B g A qET S B

(3) SRS & ST B AR ©F AR o Bpe o wrar 7 aEe & A o
TR T B Ug o0} g WA ¥, 9@ @k " S & |

(MWH%WUHT%%hTaﬁqmaﬁqﬁrmq%?mﬁwgﬁfﬁﬁ@r
% w9 # gfeniva fear @

ITE4T

18. Arrange the following states of India according to descending order of density of

population in 2011 census :
Uttar Pradesh, Bihar, West Bengal, Kerala
(1) i-West Bengal, ii-Bihar, iii-Kerala, i\./-Ut_tar Pradesh
(2) i-Kerala, ii-Bihar, iii-Uttar Pradesh, iv-West Bengal
(3) i-Bihar, ii-West Bengal, iii-Kerala, iv-Uttar Pradesh
(4) i-Bihar; ii-Kerala, iii-West Bengal, iv-Uttar Pradesh

2011 & STEPHET H SHEET % S b STANIEl hH & FgER ORI B
FrfeiRad T=a) @l AdRIT B |

IIX oy, feerR, ufdgH Swe, &

(1) i-~ufy=s &, ii-fee, -, iv-ITX TR0
Q) -3, ii-fEer, iii-suY uesr, iv-ui¥=Es e
3) i-Frer, ii-afed =, ii-SE, iv-geT uReT
(4) i-faerx, ii-&@, iii-gi¥=d ST, iv-S7iX "esT

PG-EE-July-2024/(G cography)(SET-Z)/(C)



19.  Arrange the following states according to descending order of their geographical arcas
Madhya Pradesh., Rajasthan, Maharashtra, Andhra Pradesh
(1) i-Madhya Pradesh, ii-Rajasthan, iii-Maharashtra, iv-Andhra Pradesh
(2) 1-Rajashan, ii-Madhya Pradesh, iii-Maharashtra, iv-Andhra Pradesh
(3) 1-Rajasthan, ii-Maharashtra, iii-Madhya Pradesh, iv-Andhra Pradesh
(4) i-Maharashtra. ii-Rajashan, iii-Andhra Pradesh, iv-Madhya Pradesh
R ot 1 g el 7 & e@d B9 B SR FafiTd HY o
HEY RRT, JSRA, HERTE, 3T 9397
(1) -7 991, ii-IoRAM, iii-HeRTs, iv-oTe a9
(2) -SRI, {i-AT SR, iii-HeRTS, iv-oTid g9t

(3) I-XTSTRA, ii-HeRTSE, iii-Hed u_eT, iv-STe 9_sT

(4) 1-FBIRTSE, {i-STRAM, iii-S7ier u_eT, iv-9ed uasT

20. Arrange the order of the following rivers of India from south to north :
Cauvery,' Godavari, Periyar, Krishna
(1) i-Periyar, ii-Cauvery, iii;Krishna, iv-Godavari
(2) i-Cauvery, ii-Periyar, iii-Krishna, iv-Godavari
(3) i-Krishna, ii-Cauvery, iii-Periyar, iv- Godavari
(4) i-Krishna, ii- Godavari, iii- Cauveri, iv- Periyar
aRe 1 Frafafae ARE S e § SR @ ofR B9 § FErad wt
FHIE, MaEd, IRIAR, FH
(1) i-9f=mR, ii-®HEd, iii-Fm, iv-TarEds
(2) i-=prErd, (i-URAR, iii-Fm, iv-&E.
3) i-pwm, i, AR, v
(4) i-pwm, ii-MerEd, iii-Had, iv-aRar

PG-EE-July-2024/(Geography)(SET-Z)/(C) P.T. O.
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21. In which of the-following streams, the course of {low is determined by the original
slope of land ?

(1) Insequent (2) Obsequent
(3) Subsequent (4) Consequent
Wﬁﬁ%mﬁmwmﬁs@%gﬂmﬁﬁm%
(1) SThHHaTT ?) sregart
(3) it (@) argaddt
22. Which one of the following is the largest fresh \vat;ar lake ?
(1) Caspian séa (2) Mediterranean sea
(3) Superior | (4) Victoria
 Fr=fafaa & @ S9-0 999 921 Wi o @ e ¥ 7
(1) HRTFT AR (2) 9HeA AR
(3) gaiax (4) TR
23. Match the following Volcanoes and country where they are located :
Volcanocs | Couhtry
a. Cotopaxi ' (i) Tanzania
b. Kilimanjaro (i1) Italy
c. Mount Elbrus , (iii) Ecuador
d. Mount Etna (iv) Russia

a b C d
(1) Gy (Gv) (i) (@)
2) () Gv) @) (i)
3) (i) (@)  Gv) (D)
4) () (i) (@v) (i)
PG-EE-July-2024/(Geography)(SET-Z)/(C)




FrfaRaa saamRaal ofw a1 Rercr der &wr fi@meT @t -

SHATE! 291
a.  HIAFRI (i) @S
b. fRikeism) (i) geelt
c. HIBT Tegd (iii) gEFTSIX
d. #AKEST wedr (iv) &9

a b c d

M G (v GG
@@ ™ 6 i)
G @) O v )
@GO G v )

24. Match the following rivers and their tributaries : |

River | | Tributary
a. Rhine - .(i) Aare
b. Amazon ' (i) Tao
c. Colorado | (iii) Madeira
d. Yellow | (iv) Green

a b ¢ d
(1) (i) Gv) () @)
(2) (i) (v) @(G) (i)
(3) (i) (i) @Gv) ()
@) Gy Gii) Gv)  Gi)
PG-EE-July-2024/(G cography)(SET-Z)/(C)
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frafaRaa aRkAT ok oo werms ARk} & B HY

ail e A4l
a. IR (i) e
b. TR (if) erafr
c. HARTES! (iii) 7T
d. di=h (iv) &8

a b c d
1) Gi)  Gv) ) @
@ G) (v @ Gi) -
@) Gii) (i)  Gv) Q)
@ @ G Gv) (i)

25. Match the following climatic symbols and climatic regions as per Koeppen's

classification :

Symbol Climatic region
a. Bwh ~ (1) Sub -.Arctic Taiga
b. Aw : - (ii) Mediterranean
c. C - (iii) Desert
d. Dfe (i) Tropicél Savana

a b ¢ d
(1) Gi) (@(v) @G @)
(2) (i) av) (i) @)
(3) (i) (i)  @(v) (D)
4) G) @Gv) @) (i)
PG-EE-July-2024/(Geography)(SET-Z)/(C)
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BT B FBROT & g FrafRaa swEry st o siearg, @ w0 e

B
Siteh STTeTy 8
a. Bwh (i) Su-afepiees 2
b. Aw (ii) ‘aggcr&mmﬁﬂ
c. C (iii) YT
d. Dfe (iv) Sorepfeseie Sl

a b C d
M G v @ o©
@ G) Gv)  Gi) G
@) Gi) ) (V) G
@ GO v GG

26. Which of the following types of clouds are situated at the highest in the .sky and seldom

produce rain on earth ?

(1) Stratus (2) Nimbus

(3) Cirrus (4) Cumulus

Wﬁﬁﬁfﬁww%waﬂwxﬁw%ﬁwwméﬁ%
T geAl 9T Hi-F+ T auf Fxd T 7

(1) &<d (2) =g

(3) faza (4) L

PG-EE-July-2024/(Geography)(SET-Z)/(C) P.T. O.
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27.  Which onc of the following [cature is not associated with the process of underground
)

water ?

(1) Dolines (2) Uvalas

(3) Polljes (4) Eskers _
PrfRa A A - R S or A SR A deRE 78 ?
(1 SIKES - | (2) Sa

(3) dierorE (4) Te=pd

28. Which of the following countries has the 1o'ngcst coast]ihé ?

(1) USA (2) Canada
(3) Russia S (4) China
Prefemad § @ Fea 21 9 dever aud o ¥ 7
(1) FTaY @ FTe
(3) &' : Ok

29. Which is the correct arrangement of the atlhospheric layers from nearest to farthest

from earth surfacc ?

(1) Troposphcre - Ozonosphere - Stratosphere - Ionosphere
(2) Troposphere - Stratosphere - Ozonosphere - lonosphere
(3) Stratosphere - Troposphere - Ozonosphere - Ionosphere
(4) Stratosphere - Troposphere - Ionosphere - Ozonosphere

gt =t Gae § febedd § qXRI % aigHSH URdl hl WEl SHae B
z?

(1) eodee - SISTFRHIER - GHAT Aed - STETHsd
(2) evesd - Gaag Hsd - STSIHRGIEAY — SEFTHSH
(3) AHAT Hed - EVHSA - SISHIEHEY — STEAHSH
(4) TEET Hew - sHEe - ST - SRR
PG-EE-July-2024/(Geography)(SET-Z)/(C)



30. Match the following winds and their geographical arcas :

Winds Geographical areas
a. Mistral (1) Egypt
b. Sin‘oaco' (11) Central platcau of Irance
c. Bora (iii) Blowout from Sahara descrt towards Mediterrancan sca
d. Khamsins (iv) Adriatic sea region
a b c d

M G GG @

@ G) G @) )

G) (i) () (v @)

@O  Gv G Gi) o
FrafaRad sarell ok Gﬂa‘o‘ %?Pﬁﬁrcﬁ BEl Esrﬁi?ﬂ? B

g AR A
2. Prea 0 Be .
b. R (ii)masr%aﬂam |
c. aNI (iii) T IR F qHA IR H SR =rense

d. wfE (iv) Qfganfess qYA A

(1) Gii)y Gv) G ()
(2) Gi) @i Gv) @) .
(3) (i) (i) (Gv) ()
4) (i) (v) (i) (‘iii)
PG-EE-July-2024/(Gcography)(SET-Z)/(C) P.T. O.
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31.  Which one ol the following projection is most suitable for navigation ?

(1) Simple cylindrical (2) Polyconic
(3) Mercator (4) Bonne's
FrfaRea & @ He-ar vdiger ARMe $ e Fed ST 8 ¢
(1) O SRR (2) dicienii=Ih
(3) "HHX . (4) =N B

32. Which one of the following is a largé scale map ?
(1) Cadastral map (2) An atlas map
(3) Wall map (4) Topographical
Fr=faRea & @ -1 o =2 Y9M & TR S 7
(1) PeE orm "' 'A(Z)Q’EFIHH?FSZTT
G3) &) qTFRT ORSSIEIRED |

33. On which of the follbwing map projections the great circle is shox%/n by straight line ?
(1) Mercator
(25 Bonne
(3) Cylindrical equal érea
(4) Polar Gnomonic stereographic

.ﬁﬂ:ﬁ%@aﬁémmﬁﬁﬁmﬁwwmgﬂaﬁtﬁﬁi@mﬁ@mw
2

(1) Fhex

(2) 9=

(3) FAATHIT FAT &

(4) g =i CIRgEithe

PG-EE-July-2024/(Gcography)(SET-Z)/(C)



34. Which of the lollowing is nof the property of Bonne' projection ?
(1) Scale remain true on all the latitudes and central meridian
(2) Itis not cqual area projection
(3) Equator is shown by simple line
(4) Shapc and arca remain true even away from central meridian
Fr=fafad & @ SH-ar a9 9&9or %1 o7 787 ¥ ?
(1) W7 @l oreisl ol g 7o War X AE @ §
(2) T8 T A= wEEr 6 2
(3) HSA @1 H GG I@T ERT R@w = ¥
4) amaﬁraaﬁqqm%@rﬁeg{%ﬁaﬁwﬁ%

35. What is the equivalent of 0 degree Celsius in Fahrenheit scale ?

(1) 8 degree ‘ ' @) 12 degree
(3) 32 degree (4) 28 degree
FRAsEeE UHq 0 B aftoaw & auER | ?
(1) 8 fem TN, @ 12 f&
(3) 32 fm | - (4) 28 T

36. Which of the foliowing is used to measure wind velocity ?

(1) Hygrometer (2) Barometer

3) Barogr;aph (4) Anemometer
ﬁqﬁﬁmma@aﬁmﬁ%mmw%?
(1) srEdniet ) Fnfrex

(3) IIH ‘ (4) TAMRER

PG-EE-July-2024/(G cography)(SET-Z)/(C)
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37. If atmospheric lines show a value of 1022 mb at Delhi and 116 mb in Kerala, what will
be the month in India ? '
(1) January ' (2) August
(3) May | (4) June

IR argrEE T Reell § 1022 ol ol dea F 116 Tl @ AT R
¥, A ara F AT |1 w6 A ? |

(1) s=at _ (2) ST
() = o W

38. What is the scale of India and adjacent countries series maps produced by survey of |
India ? | |
(1) 1: 1;000,000 o oy (2) 1:50,000
(3) 1:25,000 e 4) 1: 10000

ﬂ%awg%mmwmmwaﬁ?am—w%%sﬁaﬁm%
qERET @1 YA = R ? |

(1) 1:1,000,000 o (2) 1:50,000

(3) 1:25,000 . C(4) 1:10,000

39. Which type of method is most suitable to show population distribution on map ?-

(1) Choropleth . (2) Choroschematic

(3) Dot method pry 4) Circle,diagr;dm

AFfeE qv sidear feer Rem & R e aer @ By aad sagee § 7
(1) =Ty | % o (2) HRIEEHATeH

(3) e ff @) T e

PG-EE-July-2024/(Geography)(SET-Z)/(C)




C , | 17

40. What are the bands in visible region of electromagnetic spectrum ?

(1) Blue, Violet, Green (2) Red, Blue, Yellow
(3) Infra-Red. Green, Yellow (4) Blue, Green, Red
g g @W%@qa}wﬁa@w%?

(1) e, S, =3 (2) e, e, g
(3) =S, B, G (4) e, B4, @

41. In which of the following countries iron producing areas of Pyrenees are located ?

(1) USA QUK.

3) Germany | (4)'France
ﬁ‘?ﬁ@ffﬁﬂ?%ﬂﬁmﬁ%ﬁgmaﬁﬁﬂﬁ%?
(1) guda : (2) go Ho

(3) s o (4) i

42. Which one among the followmg is not a condltlon to designate a settlement urban in
India ?

(1) Minimum populatlon of 10,000 |

(2) At least 75% male popula‘uon is working in non agriculture activities

(3) Density of population should be at least 400 persons per sq. km.

(4) There should be a municipality or it should be notified as urban by government

Prefefad § @ a9-9 % 9Rg § B awl @ el S| & @ e

TET e 7

(1) ATH TAHEAT 10;000

(2)wﬁw75%waﬂaﬁﬂ1@ﬁvﬁrﬁﬁﬁfﬁm%

(3)aﬂmwaﬂaaﬁqﬁm4oowﬁﬁqﬁfaﬁ%ﬁéﬁma@ql

(4)aﬁmwmﬁwéﬁm@m§aﬂwms@%wﬁaﬁé@ﬁ
fepar STT =nfed .

PG-EE-July-2024/(Gcography)(SET-Z)/(C) P.T. O.
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43. Which among the [ollowing is/are correct ?
. Riode Jancerio is the capital of Brazil
II. Damascus is the capital city of Saudi Arabia
III. Ankara is the capital of Turkiye
(1) I.IT and 111 ‘ (2) Il and III
(3) Onl)r m (4) All are correct
=g 4 @ f9-ar ga@ /8 ?
L R €1 SARAT sofier & otemrh ©
II. S THar eRY & TSu B
1. Sf®RT gast at Waﬁ’r 2
(1) LI &= 11 4 (2) 11 &fx 11
(3). Saa 111 e (4) |+t T %

44. Which among the ‘f@llowing is/are correct statements ‘7
I. New York is the largest city of USA
II. Ottawa is the largest city of Canada :
III. Christchurch is the largest city of New Zealand
(1) OnlylI | (2) I'and II
(3) 1, I and I1I : (4) None of the above
Frefafaa § @ S=-a1 ®uT @8l 8/8 7
I. =dfeh guas &1 aud o1 8T 3
II. eferar - 1eT & 9o 8T BT ©

111, e =qoiias & qad 991 e ©

(1) Fad | 2) I &R 1II
3) I, I & 1l (4) SUAH F F B 7L

PG-EE-July-2024/(Geography)(SET-Z)/(C)
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45. Which of the [ollowing is nof located in Persian Gulf ?

(1) Kuwait (2) Qatar
(3) Yemen ‘ (4) UAE
Frfifed & & @ s = @t & Rewr 727 B 2
(1) Baq (2) FIT
(3) == (4) Iwg

46. In Indonesia, shifting cultivation is known as :
(1) Milpa (2) Caingin
(3) Ladang _ (4) Ray
gSMRMET H, wiaRa SR @ sq 99§ ST ST © o
(1) Femar - (2) HARE
(3) @ 4) X

47. Which one is/are correct about Malthus theory of population ?
I. Population increase in geometrical progression
II. Positive checks include usc of birth controlling methods like vascctomy,
tubectomy ctc.’
I1I. Population double itself in 25 years
(1) Only I (2) Tand III
(3) Only III | (4) All are correct
SHEET AR Heid & SR H sE-dar/d @@ /8 ?

. sonfach ot 8 SaEr gia
Il ST Sirg # g6 A9dal, Tgadedl onfe S s Femer fafet @

ITART 9Nt B
1. 25 auf & SA=rEEr A 8 Sl 8
(1) Faet | (2) 1 alx 111
(3) waw 11 4) afr g &

l’G-EE-July-2024/(Gcography)(SET-Z)/(C) P.T.O.
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48. Which onc of the following is not a type of iron orc :

(1) Hematite (2) Magnctite
(3) Birnessite (4) Limonite
Frafafad o A H-a1 «ie oEReh H WH TET 8 7
(1) Hege . (2) A_TEe
(3) AR (4) TR

49. Which onc of the following is a major iron ore mining area of Australia ?

(1) Western Australia (2) Darling Basin
(3) Queensland | (4) Ncew South Wales
Wﬁﬁ%waﬂmwwmewwéﬁé?
(1) gfg= \,maﬁm | (2) sl ARFA
3) FHradE (4) =1 Ewer A

50. Which onc of the following is nof major oil producing arca/region ?
(1) North Sca . | (2) Southern Sahara
(3) Pennsylvania, .~ (4) Masjidi -Sulaiman

| Prefafeg § @ P-AT WIE A9 SUEH 85 ,/R 78 Y ?

(1) ST AFIY s C(2) el wer
3) IR (4) ARSTE- e

51. Arrange the location of the following northeastern states of India from north to south
direction :
Mizoram, Nagaland, Manipur, Arunachal Pradesh
(1) i-Manipur ii-Nagaland iii-Arunachal Pradesh iv-Mizoram
(2) i-Arunachal Pradesh ii-Manipur iii-Mizoram iv-Nagaland
(3) i- Arunachal Pradesh ii-Nagaland iii-Manipur iv-Mizoram
(4) i-Manipur ii-Arunachal Pradesh iii- Nagaland iv-Mizoram

PG-EE-July-2024/(Geography)(SET-Z)/(C)
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TRa » FERiRag @Y T B W s Iew A afRror fRew § eqafigq
HR

P, mdts, nfigR, ereviERr SR
(1) -3RgY At iii-areomasr wRer iv-Feiw
(2) 1-STEMEA MR {i-ARIYR i~y iv-Armdis
(3) 1-ITHEA U=ST -1 -\ iv-fsi
(4) 1-APTYR ii-STSoT= WRST {ii-ArTaE jv-FEei

52. Match the following :

State Coal Areal Mine
a. Jharkhand (1) Birampur
b. Maharashthra (i) Karanpura
c. Orissa | (i) Wardha valley
d. Chhatisgarh (iv) Talcher

a b c d
1) Gy  Gi)  (Gv) @)
@) Gi) Gv)  Gi)) ()
(3) (i) (iv) (ii) (i) .
@ () (i) Gv) (i)
T ' HIOeT AT e

2. FRES | (i) feRAgR
b. e 4 - (i) g
c. IEmEr (iii) et =1t
d. BerETE (iv) qT=R

a b c d
() Gi)y i) @dv)y (@)
(2) i) (v) (@) (@)
(3) (i) (@Gv) @i @)
@) () (i) dv) (D)
PG-EE.) uly-2024/(Gcography)(SET-Z)/(C) r1.0.
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53. Match the following iron orc mines and their state of location :

a.

Iron ore Mine
Bailadila
Mayurbhan;j
Chikmagloor
Singhbhum

a b C d

M Gi) G @ )
2) (1) @4v) (iii) (1)
@) ()  Gi) @) @)
@ Gi) @ @ O

ﬁwﬁ%ﬁﬁgamwﬁwmrwﬁﬁ%wﬁwaﬁ{

o

SIS RIS
ENIIEKI

a b é d

(1) (i) Gy) (@) (D)
(2) (i) Gv) @Gi) ()
(3) Gy (i) Gv) ()
(4) Gi) () (v) ()

PG-EE-July-2024/(Geography)(SET-Z)/(C)
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State
(i) Jharkhand
(ii) Chhatisgarh
(iii) Orissa

(iv) Karnataka

o Iy

(1) IRGEs
(i) BT

(iii) ST
(iv) FTeen




54.

55.

Assertion (A) @ Narmada river form estuary not delta
Reason (R) : Narmada viver flow in rift valley

(1) Both A and R are correet and R explain A

(2) Both A and R are correet but R docs not explain A

(3) As true but R is false

(4) Ais false but R is true

SFAT (A) ;TR TR Swer € AR gEET TR B
FROT (R) @ T 78 R o1 § "= ¥

(1) A SR R 391 & ¥ olR R, A & =ame & &
(@) A TR R A WS ¥ e R, A 1 e 8w 3
(3) A ¥ © AT R o1 B "

(4) A ST ® @f%HT R @ 3

Assertion (A) : Maharashtra state is the largest producer of cotton in India.

Reason (R) : Black soils are found in Maharashtra.

(1) Both A and R are correct and R explain A

(2) Both A and R are correct but R does not explain A

(3) A istrue but R is false |

(4) A is falsc but R is true

BT (A) : FBREE [T 9RA H HIH Hl T T8 SRS 2 |
HRET (R) : "errg J He fFE a8 ol 1

(1) A fr R af @81 & el R, ATl == &iar @

(2) A efir R & @@l 8 QT R, A @1 aarear w8 &ar @
(3) A @A B dfthT R 919 &

4) A T ¥ ARRT R @ ¥

PG-EE-July-2024/(Gcography)(SET-Z)/(C)
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56. Assertion (A) : Punjab state is the largest producer of paddy in [ndia.

57.

Reason (R) : Punjab has hot and humid climatic condition during Kharif scason
supported by well-developed irrigation system.

- (1) Both A and R are correct and R explain A

(2) Both A and R arc correct but R does not explain A

(3) Ais truc but R is false

(4) Ais falsc but R is true _

SANFET (A) : G ™" 9RT ¥ o I gy g7 IAEH B |

FROT (R) : ™9 7 @0% Aqq & e 79 X onE Siearg & Rafer 2
8, . ot e ¥ Rrepiya Ri=d somelt &)1 a|iia 86 ¥

(1) A X R Q1 @& § ol R, A a5 & o ©

(2) A ST R S TS ¥ ARG R, A & ame T8 T 2
() A 99 2 AfFT R otay B |

(4) AT B @fT R &9 &

Assertion (A) : Maharashtra state has the lar,g.est area under sugarcane cultivation in
India. - ’

Reason (R) : Black soil, good rainfall and irrigation facilities are‘ suitable for
sugarcane cultivation .

(1) Both A and R are correct and R eXplain,A .

(2) Both A and R are correct but R does not explain A

(3) Aistrue but R is false - |

(4) A is false but R is true | _ |

W(A):Wﬁﬁﬂ%@éﬁ%eﬁﬁaﬂa%@%ﬂwwﬁ%n

BT (R) @ eprell ), oreddl ast oY fiend glend = ot &t & fe swe ¥

(1) A it R 21 @21 € oI R, A 31 &mesn aear &

(2) A St R Ff 921 € AT R, A & amen w€ sar &

(3) A 9 & afesT R emae @

(4) A 3769 & dfepT R 9 B

PG-EE-July-2024/(Geography)(SET-Z)/(C)
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58. Assertion (A) : Karnataka state is the largest producer of coffee in India.

59.

Reason (R) : Coffee is cultivated in Nilgiri hills region in India

(1) Both A and R are correet and R cxplain A

(2) Both A and R are correct but R docs not cxplain A

(3) Ais truc but R is false

(4) Ais falsc but R is true

STHHAT (A) : Flesh g ARG § H9 HF G TST IARH T |
FT (R) 2 9RT H ol qerdt a5 & o o O & o 2
(1) A 8T R 0 @& T ol R, A % =amear @ear &

(2) A X R 9 @& ¥ afpA R, Aﬁa@raﬁm%

(3) A W&l B IAfB9 R g

(4) A 9T © AR R @& ®

Assertion (A) : Kerala state is the largest producer of spices in India.

Reason (R) : Well drained alluvial or red and laterite soils, good rainfall and moderate
hilly areas in Kerala are suitable for spices cultivation.

(1) Both A and R are correct and R explain A

(2) Both A and R are correct but R does not explain A

(3) A is true but R is false

(4) A is falsc but R is true

ARFHET (A) : BT TT ARG H AARN B G4 TS IEH 8 |

BT (R) : 3l § S8l ST Feprdl il Siale a1 a8} Qevige ), oreh
gai S AAH el & AW H Al & e Iugehs ¥

(1) A X R 91 @&l & @I R, A & R &l B

2) A & R ST @& § @7 R, A &l =Aren 98t & @
(3) A 91 & @ R Tod &

4) A T B @fT R @8 ®

PG-EE-July-2024/(G cography)(SET-Z)/(C) P.T. O.
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60. Assertion (A) : Green revolution was successful in certain states of India only

61.

| Prefifag # 4 Ae-dr BT @@ E

Reason (R) : Provision of HYV sceds, assurcd irrigation and i.nstituti(mal reformg
were the main factors of the success of green revolution.

(1) Both A and R are correct and R explain A

(2) Both A and R are correct but R docs not cxplain A

(3) Aistruc but R is false

(4) Ais falsc but R is true

BT (A) : R iRy AR B fw oAl F & qHA B

SR (R) : HYV st o1 weemy, gifeea Riag oY WW ga whg
A B AHSAAT & & HRF I |

(1) A 3R R 97 @& & o R, A3 =aredr &al 8

(2) A SRR 3T ¥ ¥ QfsT R, A & earean &l Har 8

(3) A 99 @ AfFT R a9 ©

(4) A oT6H ? AP R T 2 '

Which of the following statement is correct ? |

(1) Mixed framing is when different crops are cultivated simultaneously in the same |
field ‘

(2) Vegetable and flower cultlvatlon in the periphery of big urban centres is a
characteristic of mtcnswe agriculture f

(3) Rice cultivation in Haryana is a characteristic of intensive agriculture

(4) Wheat cultivation in North America is based on dry farming

(1)m@ﬁwaﬁ%m@a@aﬁwwaﬁmmﬁ@mﬁaﬁ‘
SIcil |

(2)a%smﬁﬁﬁqﬁf€rﬁaaﬂaﬁrvgﬁﬁ@?ﬁm§m'ﬁﬁmg
(3) eREren d FEe @it Sl TeT B A e @ |
(4) T8 oAl # g @ Gl geh S WX anenRRyg |




62. Which onc of the following statement is correct :

63.

64.

27

de PR vt 3 , ’ ~ . o,
(1) Paddy cultivation in Punjab is successful because geographical conditions are most

suitable for paddy cultivation
(2) China is the largest producer of tea in the world
(3) Russia is the largest producer of wheat in the world

(4) India is the largest producer of Maize in the world

T 5 @ Si9-ar s g 2 ?

(1)Wﬁmﬁ@ﬁw%aﬁ%ﬁnﬁﬁmqﬁﬁaﬁﬁmﬁ@?ﬁ%m

g I9g<h ¥
(2) I IFET F T w99 Saes
() &9 g # g & 999 997 I«@ES

(4)%3%?4713%@@%@_3@%%

Which country has the largest network of railways in the world ?

(1) USA (2) Russia (3) China (4) India
AT H I BT FEd FST Aeas e T F B ?

(1) guag (2) =4 (3) == C(4) uRa

In which of the following countries, Falkland island is a political dispute :

(1) India-Mynamar - (2) Russia-Japan

(3) China-Japan (4) Argentina-Britain
Frfafaa & @ fpg 3 § wihcls &9 T I ek 7
(1) ARE-=iHrT (2) wE-sTTaT |

(3) F-star (4) rSFErT-farde

PG-EE-July-2024/(G cography)(SET-Z)/(C)
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. N . s . r . 9]
65. Which of the following countries border are separated by Radcliffe line

(1) India-Tibet (2) India-Pakistan

(3) Afghanistan- Pakistan (4) India- Nepal

Frafafad & @ Rt 3o = dior Yefrrs Yar @ ofe Bl & 7
(1) wa-fossa (2) ARa-aifeRet=

(3) STHIMRI-TfheaT (4) SART-ITe

66. Which of the two countries are separated by Palk straight ?
(1) India and Srilanka
(2) Malaysia and Vietnam
3) indonésia and Mélaysia
(4) Myanmar and Indonesia
qeh STasHEHe T & 3901 I ST HT & ¢
(1) 9IRT 3R .%ﬁa'—cm
() TR ST R
(3) SSrARE ofx FAREr
(4) =HER R gsMiRmEm
67. Which of the following is correct statement ?
(1) Russia is the largest produc;:r of petroleum in the world
(2) Venezuela is the largest producer of Lithium in the world
(3) Sovkhoz was the state owned farm in former Soviet Union

(4) Kolkhoz was the state owned farm in former Soviet Union

PG-EE-J uly~2024/((}cography)(SET—Z)/(C)
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Frafifed 3 Q@ Ae-ar susr g D7

(1) =9 g ﬁgﬁ%ﬁﬁ H AN GST IIGH B

(2) FguET g F Rl A R SwEE @

(3) AEEST yd AfREe dw ¥ e B @i g a9 e
(4) e gd QT W o @ @i aen O o

68. Which of the following is correct statement ?
(1) Grassiaﬁds in USA are known as Pampés
(2) Grasslands in Africa afe known as Steppes
(3) Australian forests are known as Veid~ ks
4) Equatbrial .fore'sts in Br.azil are known as Llanos and Selva

Pt d & Be-ar woe @@y 7

(1) guee & o & farl & e S éq‘ﬁ_wlvu_wm%
() evfr & ur & AarE B 9w & ww F o om
() SR S B Aes B ww ¥ oww o ¥
@) areieT & e St @ o oY dedr $ w9 F o omer ¥

69. Which onec of the following is wrong sfat_ement Von Thunen model of agricultural

location ?

(1) It is based on isotropic physical surface

(2) Transport cost is proportional to distance

(3) Von Thunen model of agricultural location was.not a normative model

(4) Von Thunen model is based on the prevailing condition in ccmral qumany

PG-EE-July-2024/(Geography)(SET-Z)/(C) P.T.O.
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70.

71

C

FN T W A gAT Afsw A FrsfiRea § 7y fr-ar e TId e 7
(1) 58 meagifues Ny was ux aenfa 8

(2) afges @ T H amgurh 8rit 8

(3) B T B A AT Hisw b HiFS Hise ol o

(4) A9 AT Afsd Fem iR F e Rafr gv armend &)

Which one of the following city is headquarter of Food and Agriculture Or
(FAO)?

(1) Rome (2) Paris (3) London
Wﬁﬁﬁﬁ?—waﬁ?@aaﬁ?ﬁm(m@ﬁ)wg@ﬁﬂ%?
(1) = ) aRE - (3) e 4) safE

(4) Zurich

ganization |

Which one of the following is the correct explanation of the concept of demographic |

dividend ?
(1) There is exponential growth of population
(2) There is balanced growth of population

(3) Per capita incoine is very high

(4) When working population ratio is high which has the potential for high economic

growth | |
Rrefifad & @ FF-a1 SAieasa avieT & STEuarRoT % g8 e & ?
(1) sreear § A gha &t 8
‘(2)aaﬁwﬁfﬁ§%aq@aﬁ?ﬁ%
(3) uftr =afks ey agd oIt B B

(4) @ HrEisfa SAEEAr oTgd offees BT B, R S=w enfefg R &

PG-EE-J uly-2024/(Geography)(SET-Z)/(C)
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72. Which one ol the Tollowing options about geographical arca inhabited by Iiskimos is
most suitable answer ?
(@) Greenland
(b) Greenland and North Canada
(¢) Greenland. North Canada and Eastern Siberia
(d) Greenland. North Canada, Eastern Siberia and Alaska
(1) Only a ' (2) aandb
(3) a,bandc (4) a,b,candd

TRPHH! ERT I9Q T G &5 & g § Frefrag § @ se-ar fOeed
qEd IUGTH I B ?

(2) dcis |

(b) Fedis R ITL FHAST

(c) Fcis, ITY HAST AR gdT A

(@) Fds, Tl warer, T aEaRar R eTen
(1) e a (2) a3<b

(3) a, bR e (4) a, b, c 3 d

73. Which of the following regions is inhabited by Nordic race people ?

(1) Northern liurope (2) Mediterranean

(3) West Asia (4) Tundra region

Frfafag § @ d-a1 &= s Sy & AT SR a9 g3 8§ 7

(1) I9d g9 (2) HE AR

(3) ufy=w wigrr (4) Zgr1 8= _
PG-EE-July-2024/(Gcography)(SET-Z)/(C) P.T. O.
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: : . oy . ) Jetence cultivation 9
74.  Which onc of the [ollowing is not an example of sedentary subsisten

(1) Ganga-Kosi plain in Bihar

(2) Indus basin Pakistan

(3) Wheat cultivation in Australia

(4) Paddy cultivation in Bangéldesh

Fretfefem & & H-a1 wh REE Frafe S &1 gaeeT 7@ © 7
(1) R & T-$HRY &1 Y=

(2) Ry IR g™

(3) STrERrT ¥ N @ o

(4) SRSt § e @y @?ﬁ

75. 'Oriza Sativa' is associated with which of the following crops ?

(1) Wheat | (2) Maize -
(3) Rice | (4) Tobaéco

Ao e Frafiiad ¥ ¥ Fra waw @ e ¥ 2
(1) T - (2) T

(3) = (4) chareg

76. Which of the following statement éorrectly define "Conurbation" ?

(1) When at least one metropolitan city and many cities in its suburb merge together
with expansion of cities due to population growth.

(2) When onc metropolitan city connected with many suburh cities by efficient
highways and rail routes

(3) When there are number of small towns developed between two metropolitan cities

(4) A city with a population of more than ten million

PG-EE-July-2024/(Geography)(SET-Z)/(C)
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Frafifes 5 @ @SF-ar suw o e @ adt @ Qg s B 7

() 59 F7 A B T merry gex ol SUd U ¥ 9wt ST
gﬁ:%ms@%ﬁwr%nmwwaﬁﬁﬁwﬁmﬁ%

(°)W§ﬂ?ﬁﬁﬁqﬁmﬁmﬁqs@ﬁ€gsﬂmaﬁihqﬁﬁ
ST B/

(3) 59 A TR et F N wE B weT R &
4) =@ Wiems @ ofes oy o sr=v )

77. Donbas region or Donets Basin is famous for the production of :

(1) Coal | (2) Iron ore

(3) Gold (4) Bauxite

Siare 3 T SAza A e S B R wRiE B 7
(1) = 2) AE TR '
(3) | () JeEET

78.. Which country is largest producer of milk ? |

(1) Brazil . (2) Denmark
(3) India ~ (4) USA
T B FEY Il Ik o HE-AT® P
(1) =t (2) g:f’ﬂ?é

S (3) WRa (4) FTaY

79. The enormous volume of dust swept across steppe lands of Asia and deposited in the
north-central China is known as :

(1) Loess (2) Regur
(3) Terra Incognita (4) Terra Rossa. soil

q@m%@cﬁ@ﬁmw—qwzﬁ?ﬁwﬁg@aﬁﬁswwaﬁ
T @Y A ST AT 8

(1) Sea (2) TR
(3) T =i (4) = =
PG-EE-July-2024/(G cography)(SET-Z)/(C) P.T.O.
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80. Which of the following countries has Savanna type climates :

81.

(1) South Afiica (2) Victnam
(3) Sudan (4) Argentina
FrfoRea § @ f5q A1 @ SIoarg damr g6 & 8 7
(1) SfEFoT SThiehT | | (2) freerm

(3) =™ (@) ot

Which of the following statement is not correct :

(1) Fogs are drier than mists and they are prevalent where warm currents of air con

in contacts with cold currents
(2) Frozen dew is known as hoverfrost .
(3) Transformati.on of water vapour into water is called condensation
(4) Evaporation is the loss of heat
Friffee & & Br-a1 Hor TE 7 B ?
(1)m§qﬁwﬁaﬁﬁﬂﬁwﬁ%aﬁrwaﬁmmgm
gar 1 W aRIE S ARl § o F oneh ¥ '
(2)@@%@%@@%%@1?%%%
(3) ST Aoy & Uil H g WO FHEAe §

(4) arefieRyer SHET T B 8

PG-EE-July-2024/(Geography)(SET-Z)/(C)
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82. Match the occan currents and their geographical arcas :

Ocecan Currents Geographical areas

a. Bengucla (i) South castern South Africa coast

b. Labrador (ii) Japanese coast

c. Kurosiwo (iii) South Western Africa continent

d. Agulhas (iv) South of Greenland
a b ¢ d

(1) i) @G @A) (@{v)

(2) (i) (Gv) (@) (i)

(3) (i) @(v) () @)

@ () Gi)  Gi)  Gv)

TEEFTT g8t 3R 39 e &= o1 - B &Y

TEEFE gRY AR A
2 Fer () T off aRr owReE qe
b. TEER (ii) ‘SO qe '
c. FHATHAT (iif) &F&roT qf?e%nﬁ.emﬁw EEIEW)
d. eryeeT - (iv) Wecls & afRror o

a b ¢ d
() Gi) G @G 3G
2) (i) (v) @) (i)
3) (i) (v) @) @)
@ Gy Gi) G (v
PG‘EE-July-2024/(Gcography)(SET-Z)/(C)
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83. The characteristics of Doldrums belt is best cxplained by :
(1) Moderate pressure
(2) High pressure and high speed winds
(3) Low pressurc and calm winds
(4) Low pressure and strong winds
S A ) R @B aad oredl a¥e § TEA T Y
(1) 79 =9
(2) == aEn?r SR w=g TRy Al ward
(3) F T A s

(4) F9 TEE SR T =any

84. Flat topped sca mounts are called as :

(1) Plateaus . (2) Shoals
(3)-Octatishelves .. 4) Guyots
Fure o arr TR gddt B et St B

. (1) R | (2) omT
(3) HEEFE et (4) TEes

85. In carth's interior, Asthenosphere is situated between :

(1) Earth crust and Mantle (2) Mantle and inner core
(3) Inner core and outer core (4) Mantle and outer core
qedt & ariafiE T ¥, TERREER B A Rem 2 o

(1) gedt =t gl &Y Hed (2) Fewt o stiRes HR

(3) eriafi HIT iR aEd X (4) Hew O A e

PG-EE-J uly'~2024/(Gcography)(S'ET-Z)/(C)
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g6. Which mstrument is used to measure relative humidity ?

87.

(1) Vacuum bulb thermometer

(2) Pedometer ‘

(3) Baromcter

(4) Wet and dry bulb thermometer

AIVET STRAT B A9 & g Bg SYHLOT 1 ITANT RHaT S 2 7
(1) FgA sa emiiex

(2) AereY

(3) e

(4) T SR T T e

Which of the following planet's average distance from sun is wrongly mentioned ?

Planet o Averagé distance from sun in miles
(1) Mercury = 36,000,000
(2) Venus | ~ 87,000,000
(3) Earth 92,900,000
(4) Mars | . ' 141,500,000
Frfefiag 8 @ fp o8 & 9§ 6 @ Tog 9a8 T8 T 7
e 9 | ofa @ Hiw #
(1) 9o ?56,000,000
(2) U=k 87,000,000
(3) geft 92,900,000
4) e 141,500,000

P.T.O.
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88. Approximate distance between two longitudes on carth’s cquator is :
(1) 111.3 Kms (2) 121.7 Kms
(3) 101.7 Kms (4) 105.3 Kms |
Tt A sper Y we @ it A @ orgAtE K0 P E 7
(1) 111.3 & | (2) 121.7 AT
(3) 101.7 B (4) 105.3 fpHT

89. What is the time difference between two longitudes on earth ?
(1) 1 Minute - ‘ "(2) 2 Minutes
3) 3'Minutes ‘ (4) 4 Minutes
gezﬁwa.%sﬁaﬁ%aﬁawma;ww%?
(1) 1 Frre @) 2 Fre

(3) 3 e | 4) 4 BFe

90. Which of the following is not a vfeature of wind erosion ?
| (1) Hammada | (2) Inselberg
(3) Zeugen . ' | (4) Kame
Freifafag & @ HA-G1 a1g SRS H RAAwar 758 Y o
(1) semar ) VW
(3) @ - (4) >n

PG-EE-July-2024/(Geography)(SET-Z)/(C)




g1. Match the following countrics and their geographical arcas

Country Geographical areas (million sq. kms.)
a. DBrazil : (i) 9.98
b. Australia (i1) 7.74
c. Canada | | (1ii)9.59
d. China | . (iv) 8.51

a b C d
MG GG
@@ G @ i)
G Gi) O () G
@G Gi) () G) |
R 2sTt o @ iR &t P B Y -

2T Ao 8 (R et fope)
R (i) 9.98 | |
b SirSRE | (i) 7.74
. | (iii) 9.59
4 = ~ (iv) 8.51

1) Gy Gv) G 6

@G G) @ G

@) Gii) () Gv) (@)

@) (@) (i) (@v) (D) |
PG-EE-July-2024/(Geography)(SET-Z)/(C) B b,
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92. Match the following countries and their population :

Country Approximate population (in millions)
a. Indoncsia (i) 220
b. Bangladesh (ii) 270
¢.  Mexico (iii) 170
d. Nigeria - ' (iv) 120

a b ¢ d
() @) i) (v G6)
@ G v @ i)
@) (i) () (v i)
@) G Gii) (v) (i_i)- ‘
Frifefee 3o ofiT Sl Steier &1 e &Y

e TR sTEen (R #)
o SEARTET i NG 90)
b. TR - (1) 270
o MR S G170
d. wmeAR@r () 120

a b ‘¢ d

WGy Gy @ O

(2) (i) (iv) (l) (iii)'

@G 6 v 6

C@we Gy 6@
PG-EE-July-2024/(Geography)(SET-Z)/(C)
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g3. Match the following Countrics and their population ratio of children below 15 years

age :

Country Ratio of children below 15 years age
a. Chad (i) Less than 20 p'erccr'lt

b. Japan ‘ (i1) 20-30 percent

c. Ghana | | (iii)-30-40 percent

d. India (iv) 40-50 percent

a b c d
) G)  Gv) @) Q)
@ )  Gv) @ i)
() (v () )G
@) G) (i) Gv) (i)
Frfafaa 29 oK o@ 15 af & % ong B a=dt B orEE oEEE w

ESIEIC T
S 15 9f A B g B Tt T S
a. TS | () 20vfaea | w|
b, ST (i) 20-30 gfreTE
c. =T (iii) 30-40 wiferare
d. 9d o (iv) 40-50 gfereTa

a b C d
1) G Gv) G @)
) Gy Gv) G i)
@) Gv) )  GiD) ()
@ G) G (v ()
PG'EE-J‘uly-2024/((}cography)(SET-Z)/(C) .
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94. Match the following occupation of workers and associated collor colour:

Workers occupation Collor colour
a. Plumber ' (i) Gold |

b. Clerk (ii) Black

c. Doctor , | (iii) White

d. Mining worker : (iv) Blﬁe

a b C d
M G (v G G
@) Gv) Gi) @) G
S @) GG Gy ()
@ G) - Gi)  Gv) i) b
s & PR s O] dERE 1 5 R Y

HiHRT HT FIEH P T
2w () Qe
b. Tb _ | | (ii) =pretr
c. T | - (iii)a%a
d. T HHA (iv) e

a b ¢ d

(1) G Gv) @) o ()

) Gv) i) @G (i)

®) (i) () ({v) (i)

4) () @iy @v) @)
PG-EE-July-2024/(Geography)(SET-Z)/(C)
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g5. Match the following Country /region and mining area of coal :

96.

Country/region Mining area of coal

a. France (i) Ural mountains

b. Germany (ii) Saar basin

Canada (iii) Ruhr area

A o

Russia (iv) Saskatchewan

a b C d
M G) Gv) (i) @
(2) ) (Gv) (@) (i)
() Gy (i)  3Gv) @)
4 ) G (Gv) (D) |
Frafafad a8 X FEa & @== & & He &7

Je1/8 HIAA B ST &
a. Wid () Fuer wdd
b. SERT (i) WX S
c. ST (i) 8T &=
d &1 . | (iv) G=haa=

a b c d
(1) () Gv) (i) - @3)
(2) Gy (@Gv) (@@ (i)
(3) (i) (i) Gv) (@)
@) (1) (i)  (iv)  (ii).

Which country in Africa continent is largest by population size ?

(1) Nigeria (2) Ghana

(3) South Africa (4) Egypt

ST HETEIT § SHaeE & e 9 9«99 o7 39T S-a1 & ?
(1) =mgsiiar (2) == 2
(3) sferor arhe @) e |

PG-EE-July-2024/(Geography)(SET-Z)/(C)
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97.

98.

99.

100.

: ; : ” in China ?
Which language is the mother tongue of the largest number of people 1N

(1) Tibetan (2) Wei

(3) Hebrew (4) Mandarian
o9 7 gEq otftes @Rl @t Jigengr et 8 7
(1) forseht (2) ¥

(3) fe=w (4) Hef=

Which religion has the largest followers in Japan ?

(1) Budhisam ~ (2) Soka Gokai
" (3) Shinto (4) Judaism
ST ¥ e o B wad ot orEE ¥ 7
) grems (2) wepr BT
@) FE (4) Fgd =
Which of the following is considered the best quality coal ?
(‘1) Anthracite (2) Bituminous
" (3) Peat ' (4) Lignite
1 & & SH-A1 SEer qad o T arer AT Sier § 7
(1) woramge = (2) Frghrra
(3) dre " (4) Rremge
Which one of the following countries is known for dairy farming :
(1) France | (2) Denmark
(3) Italy , (4) Colombia
Pt # & d-ar Qo 38w @ Rie st s § 7
(1) s ' (2) ST

(3) zeoit | (4) T

PG-EE-July-2024/(Geography)(SET-Z)/(C)
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1. Which of the following statement is mof correct

(1) Fogs arc drier than mists and they are prevalent where warm currents of air come

in contacts with cold currents

(2) Frozen dew is known as hoverfrost

(3) Transformation of water vapour into water is called condensation

(4) Evaporation is the loss of heat
Fr=feaa # & @=-ar wu= q@@ 787 8 7
(1)mgaﬁwﬁe®m§@m%aﬁ?a€aﬁﬁ%ﬁéﬁ%ﬁ
g1 @ T gRE Y gred & dud H AR €
(2) ot g NG S AaTHRE F T F AT S B
(3) 5 arsq &1 9§ qiads HEEe HEAn 8
(4) aTERHTOT HAT B EE B

2. Match the occan currents and their geographical arcas :

Ocean Currents

a. Bengucla
b. Labrador
¢. Kurosiwo
d. Agulhas
a b
(1) Gii) (i)
@) Gi) (V)
(3) GiD) ()
@ G i)

c
()
(i)
(i)
(ii)

d
(iv)
(iii)
(i)
(iv)

PG-EE-July-2024/(Geography)(SET-Z)/(D)

Geographical areas
(i) South eastern South Africa coast
(ii) Japanese coast
(iii) South Western Africa continent

(iv) South of Greenland

P.T.O.
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2
D
HETETTT a1l oM 398 Mo A= &1 e ¢ i
HETHRT RIS Ao &=
a. S (i) aferor gdf aferr amdE e
b. =TSR (ii) STaER qe
c. HARFN (iff) &feror fyerdl ol HeTAN
d. STeTE™ (iv) Fete & aferor &
a b c d
(1) (i) Gi) () (iv)
(2) (i) @{v) @G) (i)
(3) (i) (iv) (i) (D)
@ () G G Gv)
3. The characteristics of Doldrums belt is best explained by :
(1) Moderatc pressure
(2) High pressure and high speed winds
(3) Low pressure and calm winds
(4) Low pressure and strong winds
sﬁﬁswé?aﬁﬁﬁwaﬁﬁwﬁaﬁ&m@fmw%
(1) 9m9 =4
(2) =g =amE ST I R A gl
(3) %9 TaE AR 9id &@Y
(4) %9 gaE T AT &A@l
PC

PG-EE-J uly-2024/(Geography)(SET-Z)/(D)



4. Flat topped sca mounts arc called as :

(1) Platcaus (2) Shoals
(3) Ocecan shelves (4) Guyots
gure fid i G gddt B wBT AR B

(1) 98X (2) 9Nt
(3) HETErT darEr (4) TEEH

5. In earth's interior, Asthenosphere is situated between :

(1) Earth crust and Mantle (2) Mantle and inner core
(3) Inner core and outer core (4) Mantle and outer core
geft & oridRe W §, CSERRET fead dre Rea ¥ ?

(1) geaft &t qust ofk Hew (2) FHewr R oTiaf®d HY

(3) ARk HX R aEd HR (4) Hew IR FBd &I

6. Which instrument is used to measure relative humidity ?
(1) Vacuum bulb thermometer
(2) Pedometer
(3) Barometer
(4) Wet and dry bulb thermometer
AE AT F A & e R SusRer &1 Iugnt fear siar @ 7
(1) aFgH god gATHIEY
(2) 9T
(3) ATTET
(4) e oMY g gew eHiHey

PG-EE-July-2024/(Geography)(SET-Z)/(D) P.T.O.



7. Which of the following planet's average distance from sun is wrongly mentioned ?

2. ' : 1
Planct Average distance from sun in miles

(1) Mercury 36.000.000

(2) Venus

87,000,000

(3) Earth 92,900,000

(4) Mars 141,500,000

FfeRed & & fr o o g @ ot g 77 a0 @ 2 7

B gt & ofma gft e #

(1) g - 36,000,000

(2) g | 87,000,000

(3) geait 92,900,000

(4) #7T 141,500,000

8. Approximate distance between two longitudes on earth's equator is :

(1) 111.3 Kms (@) 121.7Kms
(3) 101.7 Kms (4) 105.3 Kms
q&ﬁaﬁww%&wﬁ%&ﬁaﬁ%aﬁaﬁaﬁmﬁﬁfg&m%?
(1) 111.3 faht (2) 121.7 foh
(3) 101.7 Tt (4) 105.3 fpeiy

9. What is the time difference between two longitudes on earth ?
(1) 1 Minute (2) 2 Minutes
(3) 3 Minutes (4) 4 Minutes
9edl 9¥ &1 enadl & dre w9y e ofaw g ® 7
(1) 1 fasre | (2) 2 P=e
(3) 3 e (4) 4 P=E

PG-EE-July-2024/(Gcography)(SET-Z)/(D)
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10. Which of the following is mof a feature of wind crosion ?

(1) Hammada (2) Insclberg
(3) Zecugen (4) Kame
frafaRad # A HI-W arg gz @1 fagwar 78 8 7
(1) &= (2) @t
(3) ST (4) B4
11.  Which one of the following projection is most suitable for navigation ?
(1) Simple cylindrical (2) Polyconic
(3) Mercator (4) Bonne's
Rrfafag § @ @F-a1 g8ger IRAeE & Y g8 S9gS 8 7
(1) T AR 2) e
(3) FHeT (4) =T W

12. Which one of the following is a large scale map ?
(1) Cadastral map (2) An atlas map

(3) Wall map ~ (4) Topographical
ﬁmﬁrﬁaﬁﬁﬁaﬁ?—m@a%ﬁnﬁmmn%?
(1) Hsegal R (2) Tedd e
(3) ST TR | C(4) e

13. On which of the following map projections the grcai circle is shown by straight line ?

(1) Mercator
(2) Bonne
(3) Cylindrical cqual area

(4) Polar Gnomonic stereographic
P.T.O.
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7 fRamEr T
fpferfaa d O fea wHtE=a geyquy g3 Held g F ey 3@ arkl >
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(1) Hhex

(2) A

(3) AATHR T @A

(4) gg et ERamEiss

14. Which of the following is not the property of Bonne' projection ?
(1) Scale remain true on all the latitudes and central meridian
(2) It is not cqual area projection

(3) Equator is shown by simple line

(4) Shape and arca remain true even away from central meridian
Pr=feag & @ P=-9r S T&9T H IO T ?

(1) Y= g9l sreriel ofT 5T HeATE Y@T 9 GE &l ©
(2) @& T A gager T8 ¥ |

(3) %w%@ﬁ-mwgﬂrﬁ@mw%
(4)Waﬁ1%a'%ﬁnqm%@1agsﬁa‘aw%%

15. What is the equivalent of 0 degree Celsius in Fahrenheit scale ?

(1) 8 degree (2) 12 degree
(3) 32 degrec (4) 28 degree
FieEEe Ay § 0 ferlt Afedad & aRET H®v e 7
(1) 8 fe3ht () 12 f&h
(3) 32 felt (4) 28 fe

PG-EE-July-2024/(Geography)(SET-Z)/(D)



16.  Which of the following is used to measure wind velocity ?
(1) Hygrometer (2) Barometer

(3) Barograph (4) Anemometer

P &} foas SwT ag 37 @R @ forg Rear st @ 7
(1) &Tirex (2) AAfrex

(3) R (4) e

17. If atmospheric lines show a value of 1022 mb at Delhi and 116 mb in Kerala, what will
be the month in India ?

(1) January (2) August
(3) May (4) June

A argHsea Y@ Reeh #1022 wredt o) @@ F 116 e @1 wE R
g, O wRd ¥ @9 |1 78T 8N ?

(1) sHaO 2) =
(3) =3 (4) 5

18. What is the scale of India and adjacent countries series maps produced by survey of

India ?
(1) 1:1,000,000 (2) 1:50,000
(3) 1:25,000 (4) 1:10,000

gd offe gfear g Jgr fhe U vRa o ona-urd & W & @ @
AEfEEN &1 YHET = 7

(1) 1:1,000,000 (2) 1:50,000
(3) 1:25,000 (4) 1:10,000
PG-EE-July-2024/(Geography)(SET-Z)/(D) P.T.O.
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20.

21.

Which type of method is most suitable to show population distribution on map ?

(1) Choroplcth (2) Choroschematic

(3) Dot method (4) Circle diagram

AR GRSt ReRer Rart # fie g see @ @ @@ 3ugs
(1) e (2) FHREpafes

(3) Sfe fafy (4) g ARG

What are the bands in visible region of electromagnetic spectrum ?

(1) Blue, Violet, Green (2) Red, Blue, Yellow
‘ (3) Infra-Red. Green, Yellow (4) Blue, Green, Red
frega T W 3 gvg 8= F Yo T ¥ ?

(1) e, S, & (2) @, =i, drer
(3) =HI-IT, &, el (4) e, 81, T

Which of the following statement is correct ?

(1) Mixed framing is when different crops are cultivated simultaneously in the sar
field

(2) Vegetable and flower cultivation in the periphery of big urban centres is
characteristic of intensive agriculture

(3) Rice cultivation in Haryana is a characteristic of intensive agriculture

(4) Wheat cultivation in North America is based on dry farming

Frefofad # @ HrA-a1 HOT Tel® 7

(1)W@ﬁmﬁ%m@ﬁéﬁﬁ@wﬁmwﬁﬁ@?ﬁ :
Sireft B

(2)@9@%ﬁﬁmﬁﬂwﬁaﬁ@ﬁ@?ﬁﬂm§ﬁaﬁ%ﬂw%

(3)aﬁmvnﬁaraaaﬁ@ﬁﬂﬁ§fﬁﬂﬁrsﬁw%

(4) Ferdl amfeer § A A @dl geh adt wosmaRa @

PG-EE-July-2024/(Geography)(SET-Z)/(D)




D

22.  Which one of the following statement is correct :

23.

24.

(1) Paddy cultivation in Punjab is successful because geographical conditions arc most

suitable for paddy cultivation
(2) China is the largest producer of tea in the world
(3) Russia is the largest producer of wheat in the world

(4) India is the largest producer of Maize in the world

fFr=faRag & @ H9-ar waa g@T e ?

(1) doTe § g & S G © Hifs Aifers aRRafEl g # adt 3 fo

qEd I9YTH
(2)%ﬁ=rgﬁmﬁawasraa"éa3rm%
(3) = g § AE H GEd G971 IAEH ©

(4) \RE givar § Aok w1 G ST IdEh B

Which country has the largest network of railways in the world ?

(1) USA (2) Russia (3) China (4) India
gferm & Yo &1 daEd ST Aedwh fha w7 ¥ 7
(1) guag (2) &= (3) =@ (4) 9IRd

In which of the following countries, Falkland island is a political dispute :

(1) India-Mynamar (2) Russia-Japan

(3) China-Japan (4) Argentina-Britain
Frifarfaa # @ fra 391 § wibds d9 g orifas @a & 7
(1) AEa-=i+H1¥ (2) wg-sard

(3) =514 (4) arstdreT-fad

PG-EE-July-2024/(Geography)(SET-Z)/(1))

P. T.O.
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25.

26.

21.

Which of the following countries border are separated by Radcliffe line ?

(1) India-Tibet (2) India-Pakistan

(3) Afghanistan- Pakistan (4) India- Nepal

Frififaa & & fee 3o o S Ysfs Yar & o &xil 8 7
(1) sTRa-fyea (2) ARA-qifehETT

(3) ITHTIETT- IR (4) ARF-aTed

Which of the two countries are separated by Palk straight ? .

(1) India and Srilanka

~ (2) Malaysia and Vietnam

(3) Indonesia and Malaysia

(4) Myanmar and Indonesia

qreh STsHEHeT T ar 0 I AT HIaT & 7

(1) 9Ra MR =fida

(2) FfET X forga™

(3) gEMfarn iR "t

(4) =ER A FEARmET

Which of the following is correct statement ?

(1) Russia is the largest producer of petroleum in the world
(2) Venezuela is the largest producer of Lithium in the world

(3) Sovkhoz was the state owned farm in former Soviet Union

(4) Kolkhoz was the state owned farm in former Soviet Union

PG-EE-July-2024/(Gcography)(SET-Z)/(D)



Frefofea & & @w-w1 ®ue gef B 7

(1) =8 g 7 Aoy & a9 981 JdEs 8

(2) Asquan gFHar # fafes & a9 931 IdEs B

(3) SeE@st gd Afead @ § v $ @it e @ e
(4) dTES gd Afega w9 & o9 B @it aer @d o

28. Which of the following is correct statement ?
(1) Grasslands in USA are known as Pampas
(2) Grasslands in Africa are known as Steppes
(3) Australian forests are known as Veld
(4) Equatorial forests in Brazil are known as Llanos and Sc]\;a
Fr=fafaa § @ SF-a1 ®a9 gd@ e ?
(1)mﬁw%ﬁm¢ﬁaﬁw%wﬁww%
(2) b H 919 & HEMI B R H ®F H ST ST 8
(3) efforag el @ AT & w9 H ST AR 8
(4) Ffie & ey ShEl B amrE R A & w9 § ST Sir ¥

29. Which one of the following is wrong statement Von Thunen model of agricultural

location ?

(1) It is based on isotropic physical surface

(2) Transport cost is proportional to distance

(3) Von Thunen model of agricultural location was not a normative model

(4) Von Thunen model is based on the prevailing condition in central Germany

PG-EE-July-2024/(Gcography)(SET-Z)/(D) P. T.O.
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30.

31.

B

Wmmm%mﬁmﬁaﬁ-mmﬁ TerT R 7
(I)WW@WWWWW%’
(2)%3‘“?&%%%% |

O B I w1 A o3 st o s e
(4)%%'%quvaﬁﬁqaﬁmﬁuﬁwaﬂaﬁa%

Which one of the following city is headquarter of Food and Agriculture Organizati,
(FAO) 2

(1) Rome (2) Paris (3) London =~ (4) Zurich
%ﬁﬁ%—ma@mmﬁw(w@)wm%?
(1) @& @) 4) aRe

Match the following countries and their geographical areas :

Country Geographical areas (mill-ion“sq. klhs.) -
a. Brazil . : (i) 9.98 -

b. Australia _ ’ o (ii) 7.74 |

¢. Canada © o (iii)9.59

d. 'China (iV)-8.51

a b C d |
(1) Giy  (iv) (i) () | | \
(2) Gv) (i) () (i)
(3) Gi) () (v) (i)
@ @)  @Gii)  (Gv) (i)

-~ PG-EE-July-2024/(Geography)(SET-Z)/(D)



frafafaa 29 ik I9a Mo &= =1 e & -

7 Wi @ (e o foed)
a. sTofieT () 9.98
b. sfreferan (ii) 7.74
c. HATST (iii) 9.59
d. == (iv) 8.51

(D) G Gv)  Gi) ()
() Gv) G (@) (i)
() Gi) @  Gv) ()
4 @  Gi) o @Gv) (i)

32. Match the following countries and their population :

Country Approximate population (in millions)

a. Indonesia
b. Bangladesh
c. Mexico
d. Nigeria
a b g d
() G (i) Gv) @)
@ () (v G) (i)
(3) (i) () (v) (i)
) () Gi)  (v) (i)
PG-EE-July-2024/(Gcography)(SET-Z)/(D)

(i) 220
(i) 270
(iii) 170 -

(iv) 120

. T.
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Fr=fafaa 29t ol sad sadem & e &1 -

qw gty seeen (R )
a. gEAfar (i) 220
b. aEmRw (i) 270
c. B (iii) 170
d. [Hfa (iv) 120

a b c d
(1) Gi)  Giy  Gv) (D)
(2) (i) (v ) (iii)
(3) Gil)  G)  @Gv) (i)
@) () ) Gv) (i)

33. Match the following Countries and their population ratio of children below 15 ycar-

age :
Country Ratio of children below 15 years age
a. Chad (1) Less than 20 percent

b. Japan (1) 20-30 percent

c. Ghana (i11) 30-40 percent

d. India (iv) 40-50 percent

a b c d
(D) (i) Gv) (i) ()
(2) () (v) () ()
3) (v) () (i) ()
4 () @iy (@v) ()
PG-EE-July-2024/(GeographyXSET-Z)/(D)
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FrefoRaa 29 ok o9 15 adf @ &9 ong & ==l B FATHET AT H
e &% |

T 15 af & %7 g H T B AFAA
a. 98 (i) 20 wferera & A
b. S9E . (ii) 20-30 siferere
c. T (iii) 30-40 Hferere
d «Ra | (iv) 40-50 sfereTe

a b ¢ d
(1) Gy  (Gv) @i @)
() Gy Gv) @@ (D)
(3) Gv) ()  Gi) ()
4) () (i) @Gv) ()

34. Match the following occupation of workers and associated collor colour :

Workers occupation Collor colour
a. Plumber (i) Gold
b. Clerk (ii) Black
c. Doctor (iii) White
d. Mining worker (iv) Blue

a b C d
(1) (i) (v) (i) ()
(2) (iv) (i) (1) (i)
(3) (i) (1) (v) (i)
@ @) (i) (v) (i)

P.T.O.

PG-EE-July-2024/(Geography)(SET-Z)/(D)
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35.

s @ P srarg ol w1 1 P B

S w1 SEE™ B
a. @Y () |
b | (ii) T
c. SRR ‘ (iii) Th

d @ FEE (iv) e
a b ¢ d ‘

1) G  Gv) G @)

(2) Gv) (i) @ i)

(3) (i) (@)  (v) (i)

@ G  Gi) Gv) (D)

Match the following Country /region and rﬁining area of coal :
Country/region . Mining area of coal’
a. France ' (i) Ural mountains
b. Germany ' (ii) Saar basin

c. Canada : (iii) Ruhr area

d. Russia ~ (iv) Saskatchewan

a b ¢ d
(1) Gi)  Gv) @) @)
@) Gy (Gv) () (i)
(3) Gi)  Gi) (Gv) ()
4) (i) (i) (v) (D)

PG-EE-July-2024/(Geography)(SET-Z)/(D)




36.

37

Fr=fafaa /85 R Fae & @99 8 &1 Ha= HT

/8 HEA H AT A
a. WHig (i) g« gaq
b. S+ (ii) X aAfE=
c. HATST (i) 58T &
d. =g (iv) TEaa=

a b o | d
(1) G  Gv) (i) ()
(2) Gy (Gv) () (i)
(3) () (i) (Gv) ()
@ () i) Gv) (D)

Which country in Africa continent is largest by population size ?

(1) Nigeria (2) Ghana

(3) South Africa (4) Egypt

AFIH HBTEY H SHEET & fedE § G99 G271 291 HA-A1 8 7
(1) rgshiar (2) ==

(3) &faror Sthie 4) Fr=

Which language is the mother tongue of the largest number of people in China ?

(1) Tibetan ‘ (2) Wei

(3) Hebrew (4) Mandarian
a9 # gea cifas QEit @ "Ager sE-dr ¥ 7
(1) fosgcht (2) a5

3) fe== (4) Harf=

PG-EE-July-2024/(Geography)(SET-Z)/(D)

17
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' 38.

39.

40.

41.

Which religion has the largest followers in Japan ?
(1) Budhisam (2) Soka Gokai

(3) Shinto (4) Judaism

sma # R ot & e ettt ergard € 7

(1) gheem (2) @ A

(3) RieY | (4) TR o

Which of the following is considered the best quality coal ?

(1) Anthracite (2) Bituminous

(3) Peat © (4) Lignite
ﬁwﬁ@rzﬁmmmmngmmmm%?
(1) T=&aEe - (2) faghEE

(3) dr= (4) frmge

Which one of the following countries is known for dairy farming :
(1) France (2) Denmark

(3) Italy (4) Colombia

Preg & & -4 3w 398 wifdT B R s ST ¥ 2
(1) wE (2) STH=

(3) ge<it (4) reifeEr

Arrange the location of the following northeastern states of India from north to sou!"

direction ; .
Mizoram, Nagaland; Manipur, Arunachal Pradesh

(1) i-Manipur ii-Nagaland iii-Arunachal Pradesh iv-Mizoram
(2) i-Arunachal Pradesh ii-Manipur iii-Mizoram iv-Nagaland
(3) i- Arunachal Pradesh ii-Nagaland iii-Manipur iv-Mizoram
(4) i-Manipur ii-Arunachal Pradesh iii- Nagaland iv-Mizoram

PG-EE-July-2024/(Geography)(SET-Z)/(D)

SRR ST G AT 5 gl o
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R @ PreRifad g@iee wodt @ e @ 9% @ aRer R # afed
X :
feRH, Armets, AfTgR, eTevTEd wRsT
(1) i-9fgR ii-ATTeiE ili-oTsvIae w_er iv-fEsie
(2) i-STEUTE SR Hi-ARYT iii-FSNE jv-TrTets
(3) i-STBUITE AR {i-ATNS {ii-ARYR iv-FAeRE
(4) i-ATgR {i-eTeuTree SR iii-TE iv-Rren

42. Match the following :

State Coal Areal Mine
a. Jharkhand (i) Birampur
b. Maharashthra (i) Karanpura
c. Orissa (iii) Wardha valley
d. Chhatisgarh (iv) Talcher

a b e d
() (i) @) aGv) @)
(2) (i) (v) @) (1)
(3) (i) (Gv) @) (@)
@) (@) i) (v) (D)
Fr=fafRaa @1 e & -

T PHIAT AT TEH
a. FARGS (i) foregr
b. HeBRTE (i) HTAGA
c. IIrAT (iii) agt =y
d. sdaTe (iv) ATy

a b C d
() Giy (i) (v) (D)
(2) (i) (iv) (i) @)
(3) @) (iv) @) ()
4) (i) (i)  (iv) (D)
PG-EE-July-2024/(Geography)(SET-Z)/(D) P.T.0.
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43. Match the following iron ore mines and their statc of location :

Iron ore Mine
a. Bailadila
b. Mayurbhan]
c. Chikmagloor
d. Singhbhum

a b ¢ d
(1 Gii)y @Gv) (@) (i)
() Gi) (Gv) @i @
(3) () G (v @
4) i) @) Gv) @)

State
(i) Jharkhand
(ii) Chhatisgarh |
(iii) Orissa

(iv) Karnataka

ﬁwﬁlﬁaﬁﬁrgam@mﬁahmmﬁﬁaﬁmmmﬁ

e ITEH
a. Jarsar

a b ¢ d
(1) i) Gv) @@ (@)
() (i) (v) (i) @)
(3) (i) (i) (Gv) @)
(4) (i) ()  (v) (D)

PG-EE-July-2024/(Geography)(SET-Z)/(D)

() FIREs

(i) B<ETE
(iii) ISrET
(iv) F-Iteeh
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44. Assertion (A) : Narmada river form estuary not delta

45.

Reason (R) : Narmada river flow in rift valley

(1) Both A and R are correct and R explain A

(2) Both A and R are conéct but R does not explain A

(3) A s true but R is false

(4) A is falsc but R is true .
A¥HET (A) : THET T Swer 7 afes g FAARH B
HROT (R) @ FHar 7€ xR 9t & aucht 8

(1) A X R a9 @& & o R, A & =amear & 8
(2) A SR R 21 @& B AfFT R, A &t =arer 8t &
3) A 99 & AfpT R o9 B

(4) A 379 2 AfpT R 9 B

Assertion (A) : Maharashtra state is the largest producer of cotton in India.

Reason (R) : Black soils are found in Maharashtra.

(1) Both A and R are correct and R explain A

(2) Both A and R are correct but R does not explain A

(3) A istrue but R is false

(4) A is falsc but R is true

FAFGT (A) : HERIE ToF 9T H HIH H 99 F37 IURH 8 |
HROT (R) : HeNrg 7 &l HE a8 S 2

(1) A 3T R &1 |81 & 8w R, A&l &aren &ar ©

(2) A 3T R @ @@l € @fd R, A & agren F9éf &ar @
(3) A 99 & dfthd R 319 B

(4) A s1ga B @fet R 94 2

PG-EE-July-2024/(Geography)(SET-Z)/(D)

. T.
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46.

47.

Assertion (A) : Punjab state is the largest producer of paddy in India.

Reason (R) : Punjab has hot and humid climatic condition during Kharif scas
supported by well-developed irrigation system.

(1) Both A and R are correct and R explain A

(2) Both A and R are correct but R does not explain A

(3) A s truc but R is false

(4) Ais falsc but R is true

SRHET (A) : GoIE T WA § O bl qEd 991 36D © |

RO (R) : g & @i S B awe ok o siearg @ fefd e
S S o aee @ e R somel & garia B

(1) A 3R R 241 @& & X R, A &l A& %Il @

(2) A 3R R 3} |98 ¥ AfFT R, A @ arer 78 HAr @

B) A 99 2 dfeha R o199 @

(4) ASTaT 2 AP R 9 B

Assertion (A) : Maharashtra state has the largest area under sugarcane cultivation in
India.

Reason (R) : Black soil, good rainfall and irrigation facilities are suitable for
' sugarcane cultivation

(1) Both A and R are correct and R explain A

(2) Both A and R are correct but R does not explain A

(3) A istrue but R is false

(4) A is falsc but R is true

ST (A) @ IRT H T H ERA B AT A9 FT A HoRrs 799 F B
T (R) : e g, ol A ol e GRS B A B Rre guge -
(1) A 3T R T &1 B o R, A & &FRaar &ear
(j)AaﬁTI{ﬁﬂﬁ%%ﬁﬁR,Aa%w@rqﬁm%

(3) A g & dAfd R ITa B

(4) A 3O ® AfFT R T B

PG-EE-July-2024/(Geography)(SET-Z)/(D)




48. Assertion (A) : Karnataka state is the largest producer of coffee in India.

Reason (R) : Coffee is cultivated in Nilgiri hills region in India

(1) Both A and R are correct and R explain A

(2) Both A and R are correct but R does not explain A

(3) A is true but R is false

(4) A is falsc but R is true

SAHBIT (A) : Fled 7T IR F HH B qIQ TST IAEF ¢ |
RO (R) : 9RA 7 a8 qeEl &85 F S99 @ et $H S B
(1) A IR R a1 @& € e R, A & =y &ear

(2) A X R A1 98 & A9 R, A &I aarear 9487 FHar &

(3) A T&r 8 @fbT R 97a B

(4) A Taa @ dfeT R @&t &

49. Assertion (A) : Kerala state is the largest producer of spices in India.

Reason (R) : Well drained alluvial or red and laterite soils, good rainfall and moderate
hilly areas in Kerala are suitable for spices cultivation.

(1) Both A and R are correct and R explain A

(2) Both A and R are correct but R does not explain A

(3) A is true but R is false

(4) A is falsc but R is true

ARFHTT (A) : B TG ART H HA BT 999 g8 IAEH B |

HROT (R) : &3 H 3= o bl arl siefie a1 o ofX dege i), o=t
gt S HeEH erdl & HaW @ @t & feu Suge ¥

(1) A 3T R 41 @@t & 3 R, A &I arer dr &

(2) A 3R R 41 @&t & AfBT R, A &5 aremy 967 @ear 2
(3) A wél 2 afkd R o 2

(4) A 99 2 AfFT R @81 B

’G-EE-July-2024/(Geography)(SET-Z)/(D) P.T.O.



24
ful in certain states of India only.

n and institutional refq,

50. Assertion (A) : Green revolution was success
d irrigatio

assurc

Reason (R) : Provision of HYV seeds,
were the main factors of the success

(1) Both A and R are correct and R explain A
s not explain A

(2) Both A and R are correct but R doe

(3) A is true but R is false
(4) A is falsc but R is true
W(A):gﬁamm%@waam@'. | ,
mm):llwﬁmmm,gﬁﬁﬁmm WA Fe
%fﬁ‘raﬁam%g@ma'
a:n@:rraﬁ'{ﬁT%

(I)AaﬂTRﬁﬁH‘Eﬂ%eﬁTR,AEﬁ
(2)AaﬁTRa=ﬁHéT%éﬁHR,Aaﬁrsm'@qTﬁng%
(3)AW%WRW%' .
(4)A3W6’J%éﬁﬁ=rRm%

cess of :

Roche Mountonnees are the feature developed by the pro

51.
(1) Glacier (2) River
(3) Wind -(4) Underground water
s g R A E R R
(1) feER (2) T&
(3) B » (4) qfFTa ST
52. The grams of water vapor per cubic meter volume of air is known as :
| | (2) Relative humidity |

(1) Static humidity
(3) Absolute humidity (4) Specific humidity
zar & ufq B+ Hrex Ead § S a7 & AW B 39 WY F o= Sl o

(1) @feep sdar (2) aer s
(3) Freder sader (4) Rafarse amgar

PG-EE-July-2024/(Geography)(SET-Z)/(D)
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53. During the parabolic dune formation, the dominant wind direction is :

(1) Poly-dircctional (2) Multi-directional
(3) Bi-dircctional (4) Uni-directional
REAE A B FEtver § A, ggE war @& R{ew ®
(1) dTeh-srree™a (2) AEE-STAREFITA
(3) STE-sSTEREE (4) g N-SEREFRTA

54. Which of the following define the Fjords :
(1) Series of cirques
(2) Series of insclbergs

(3) A deep V-shaped valley formed due to vertical cutting by rivers

25

(4) A deep, narrow and elongated sea commonly extending far inland results from

marine inundation of glaciated valley ‘
fFr=fifa § & o9 woda & o war 7
(1) w5 1 =fer |
(2) AT B =JEaT
(3) ARFT T FHUATERX FHes H HROT I Teh T8 A1-3THIX H =Te

(4) TF T, HHOT AR T FHE S AFAR R REmEsiRd ad & g

AT & IROTHEEY g dh SAqasiy d% Hal el 2

55. Which of the following activities is associated with exogenetic forces ?

(1) Earthquakes (2) Continental formation
(3) Volcanic activities (4) Monadnocks
Frefafad § & - Tafary afesia oo @ 52 & ?

(1) =9 (2) werErdrE fFmior

(3) saTamyE nfafafeat (4) =TSR

PG-EE-July-2024/(Gcography)(SET-Z)/(D)

.T.O.
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56.

57.

d negative growth of population 7

In which of the following decade, India recorde
2) 1901-1911

(1) 1891-1901
.1941
(3) 1911-1921 (4) 1931 <
o I e
mﬁﬁmmﬁmﬁﬁﬂ'@'ﬁ

(1) 1891-1901 (2) 1901-1911

(3) 1911-1921 (4) 1931-1941

Which of the following statement is frue ?
ation of over 2000 are considered urban by censu

(1) Settlements which have popul
~ India
(2) Person who work less than 183 days in a year is considered as main worker -

census of India
(3) A person who can read and write a simple passage with understanding in .

language is considered as literate by census of India

(4) Census of India defined sex ratio as number of males per thousand females

frafefag & & @9-a1 Ha99 g7 8 ?
(l)wﬁm%mzoooam'mmamaﬁ:

HqET ST 8
(2) ARG I ST & FTFAR O a9 ¥ 183 R @ @7 @iy s a0 -

& g 4fee AT Star @
(3)maﬁmm%mw@wﬁﬁwhmsﬁwﬁm%w

wmsrﬁwmmmﬁ,@wqmw% T

(4) 9T 1 T R o @y gy
& § e faar & I AR w3 gt 1

PG-EE-J uly-2024/(Geography)(SET—Z)/(D)
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58. Arrange the [ollowing states of India according to descending order of density of
population in 2011 census :

Uttar Pradesh, Bihar, West Bengal, Keralé
(1) i-West Bengal, ii-Bihar, iii-Kerala, iv-Uttar Pradesh
(2) i-Kerala, ii-Bihar, iii-Uttar Pradesh, iv-West Bengal
(3) i-Bihar, ii-West Bengal, iii-Kerala, iv-Uttar Pradesh
(4) i-Bihar, ii-Kerala, iii-West Bengal, iv-Uttar Pradesh

2011 F ST H ST B g B SEE HH B TgaR AR &
fF=fefaa woat 1 axafaa #% -

IR w=el, faer, ufyew s, e
(1) i-ufegs g7, ii-fEer, iii-3e, iv-8S9x S_er
() -39, ii-fEeR, iii-sux R, iv-ulRem &
(3) i-frer, ii-ufved &, ii-BRd, iv-SaY SR
(4) i-faere, ii-&a, iii-ufREd @, iv-SaX 9_eT

59. Arrange the following states according to descending order of their geographical areas :
Madhya Pradesh, Rajasthan, Maharashtra, Andhra Pradesh
(1) i-Madhya Pradesh, ii-Rajasthan, iii-Maharashtra, iv-Andhra Pradesh
(2) i-Rajashan, ii-Madhya Pradesh, iii-Maharashtra, iv-Andhra Pradesh
(3) i-Rajasthan. ii-Maharashtra, iii-Madhya Pradesh, iv-Andhra Pradesh
(4) i-Maharashtra, ii-Rajashan, iii-Andhra Pradesh, iv-Madhya Pradesh
Fr=afafaa 74t 1 39 Ao &= & Ta0d w7 B oTgaR aaftad &
Heyg Yagl, TOTEI, Hass, 31y g9
(1) i-"eg 9291, -1, i Hes, iv-3iiy 9l
(2) i-TrSAEATA, Qi-HEA UALT, {i-HERS, iv-aiiy val
(3) i-TSTEATA, i HETS, Qii-Hed 9390, iv-afiy uy)
(4) i-HBTSZ, Q- TS, Qii-3ATH URQT, iv-Hqey gagl

PG-EE-July-2024/(Geography)(SET-Z)/(DD) P.T.O.
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60. Arrange the order of the following rivers of India from south to north :
Cauvery, Godavari, Periyar, Krishna

(1) i-Periyar, ii-Cauvery, iii-Krishna, iv-Godavari

) i-Cauvery, ii-Periyar, iii-Krishna, iv-Godavari

3) 1-Krishna, ii-Cauvery, iii-Periyar, iv- Godavari

4) i-Kri T o ,
@i Krishna, jj- Godavari, ij- Cauveri, iv- Periyar

2) -, ii-Afer, Ui~ iv-Tierad
() i-Fwm, iR, i-URAR, jv-tiemed
@) i-F=m, ii-Mered, dii-wRe, iv-afer

61. Broadly, Indian agriculture practices :
(1) Commercial farming
(2) Subsistence agriculture
(3) Plantation cultivation
*(4) Shifting cultivation
Me AR G, IRAT FN gmfEr -
(1) arforfsgs @dt
) frate iy
(3) I @t
4) 77 &R

PG-EE-J uly-2024/(Gcography)(SET-Z)/(D)



62. Nagarjuna Sagar Dam is constructed on :

63.

64.

(1) Krishna river (2) Taptiriver

(3) Cauvery river (4) Mahanadi river
ST AR ST @ Fmtor fe x fear &7

(1) F=m & (2) arelt

(3) A TN | (4) FeTEr ALl

Which state has the longest coastline in India ?

(1) Tamil Nadu _ (2) Andhra Pradesh
(3) Maharashtra ~ (4) Gujarat

ARG F qd S« qean e g @B 7 |

(1) afFeTg (2) oTfer FasT

(3) TR (4) gera

Kakrapar is an energy plant of :
(1) Hydro elcctricity

(2) Coal based thermal plant

(3) Nuclear plant

(4) Wind encrgy plant

FIFAR FRTET FHor @ B

(1) st faga
(2) FHrEe aqrenfyd a9

(3) wxHTYy HAA
(4) gaq FHoll G494

PG-EE-July-2024/( Gcography)(SET-Z)Y(D)

P. T O,




30

65. At which of the following places confluence of Alaknanda and Bhagirathi 15 located ?

(1) Prayagraj (2) Karn Prayag

(3) Dev Prayag | (4) Rudra Pfayag

P 7 @ et e o e ofi e S R @
(1) TR (2) @oT FATT

(3) 3F = (4) T& AT

66. Which of the following is nof situated in Himalayan Mountains ?

(1) Karakoram (2) Namcha Barwa
(3) Nanda Devi (4) Kanchenjunga
Rrefafad & @ @9 RuE wda & Rea 787 & 7

(1) HTHRHA (2) A= AT
(3) war 24t | (4) HES

67. Which of the following is not a pastoral community ?

(1) Bhutias (2) Bakkarwals
(3) Gaddis (4) Khasis
g & @ @ o aEl qgEE T R 7
(1) #fear (2) FEFHAT
(3) T (4) @

68. Largest arca under forests in India is in the state of :
(1) Orissa (2) Madhya Pradesh
(3) Karnataka (4) Chhattisgarh
wRd & =t & sioifd wad g &% e v § R 7
(1) 3rar (2) Heg w9
(3) FAte® (4) BeETG

PG-EE-July-2024/(Geography)(SET-Z)/(D)



70.

71.

72.

Which one of the following port is nof located on eastern coast of India ?
(1) Paradecp (2) Okha (3) Ennore (4) Tuticorin
Frfofed & @ Ha-ar dawme 9ra & gdt e 97 Raa 747 & ?
(1) TRy (2) afran (3) TR (4) TR

Where is Sir Creck located on Indo-Pakistan border ?

(1) Gujarat (2) Rajasthan
(3) Punjab " (4) Jammu and Kashmir

T A ARk €A 9T e Rer ¥ 7
(1) TR (2) T
() W (4) s SR T

In which of the following countries iron producing areas of Pyrenees are located ?
(1) USA (2) U.K.

(3) Germany (4) France

Prer & @ fpa 39 § URST & e SaEs & Red € 7

(1) guag (2) go o
(3) ST (4) wid

Which one among the following is not a condition to designate a settlement urban in
India ?

(1) Minimum population of 10,000

(2) Atleast 75% male population is working in non agriculture activities

(3) Density of population should be at least 400 persons per sq. km.

as urban by government

P.T.O.

(4) There should be a municipality or it should be notificd

PG-EE-July-2024/(G cography)(SET-Z)/(D)
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ot ¥ A o s B P awl @l A B
FET R ?
(1) =g ST 10,000
(2)W§W7S%g’mawﬁﬁ?a§fﬁqﬁﬂ%®ﬁfﬁfm%
(3)mﬁwwmwaaﬁq4oowﬁﬁqﬁraﬁ%ﬁrmﬂ%m
(@aﬁq&swmﬁmaﬁm%qmgawm%ﬁ%wﬁmﬂ

T ST =R

73. Which among the following is/are correct ?
I. Rio de Jancrio is the capital of Brazil
II. Damascus is the capital city of Saudi Arabia
I1I. Ankara is the capital of Turkiye
(1) I I and 111 : - (2) Tand III
(3) Only III " (4) All are correct
frefafaa & & $9-a1 @8 8/8 7
I fr €1 SR s @t qorar 8
1. g AHE G H S 8
1. ST gl I AL 8
(1) LI 3fre 11 (2) 11 3N 111
3) e I (4) @sht wedr ¥

74. Which among the following is/are correct statements ?
I New York is the largest city of USA
II. Ottawa is the largest city of Canada
I1I. Christchufch is the largest city of New Zecaland
(1) Only I (2) I'and 11
(3) L I and 111 (4) None of the above

PG-EE-July-2024/(Geography)(SET-Z)/(D)
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77.
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& A A BT wo e R 7

1. sy :T}ﬁﬁg P T TT 9T B

(1) @ 1 | @11
(3) L, 11 &% 111 (4) IqirE & F B @
Which of the following is not located in Persian Gulf ?

(1) Kuwait 4 ' (2) Qatar

(3) Yemen - (4) UAE
Prefefag & 4 @ wra @ @l F Read 7@ w7
(1) B (2) FeR

(3) T (4) 79

In Indonesia, shifting cultivation is known as :

(1) Milpa . (2) Caingin

(3) Ladang (4) Ray

ggMfam o, oA @t H gd A A S S
(1) forerar (2) AR

(3) @& OIS

Which one is/are correct about Malthus theory of population ?

I. Population increase in geometrical progression

II. Positive checks include use of birth controlling methods like vascctomy.
tubectomy ctc.

I11. Population double itself in 25 ycars

(1) Onlyl - (2) T'and 11l

(3) Only 111 (4) Allare correct

P.T. O.
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3,87
e @ e Riata B 81 Gl -4 /8 i

. safedtr wfy & sdEan 3 o & e P Fafa i

1. @R oita 3 gew Tasd), |
IqanT enfae B

L 25 adt 7 orreear Qph @ o 8 .

(1) 3a« 1 (@ 1

() @ 11 (4) @l wA E

78. Which onc of the following is not a type of iron ore :

(1) Hematite (2) Magnetite

(3) Birnessite 4) [Limonite.

Wﬁa%—mmm'mw 788 ?
(1) e (2)%%2132,

(3) feAEmEe 4) ﬁfzﬂmzz _

Which one of the following is a major iron ore mining area of Australia ?

(1) Western Australia ~ (2) Darling Basin

(3) Queensland (4) New South Wales

ﬁw%f@aﬁﬁaﬁa-maﬁemaﬁrqg@rmmwaa%?

(1) o=y i (2) st A
(3) Fradts | (4) =1 WY A

80. Which one of the following is not major oil producing area/region ?
(1) North Sca (2) Southern Sahara
(3) Pennsylvania  (4) Masjidi -Sulaiman
maam-mmaﬁmm/ﬁﬂwﬁ?
(1) I8 a@rre (2) aferoh e ’
(3) dfgeatar (4) AR ey

PG-EE-July-2024/(Geography)(SET-Z)/(D)
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In which of the following streams, the course of flow is determined by the original
slope of land ?

(1) Insequent (2) Obsequent

(3) Subsequent (4) Consequent

?ﬂ%@ﬁﬁ@mwﬁmwmﬁﬁﬁ%wméﬁaﬁam
?

(1) SFpacht | (2) segaeht

(3) warit (4) orgart

Which one of the following is the largest fresh water lake ?

(1) Caspian sca (2) Mediterranean sea
(3) Superior (4) Victoria
Prafafed & @ D-d0 w=d ot M arl @@ e B ?
(1) B arr (2) YT IR

(3) gaiax (4) FerRRan

Match the following Volcanoes and country where they are located :

Volcanoes Country
a. Cotopaxi (1) Tanzania
b. Kilimanjaro (ii) Italy
¢. Mount Elbrus (ii1) Ecuador
d. Mount Etna (iv) Russia

a b v d
(1) (i) Gv) (i) (@)
(2) (i) (iv) () (D)
(3) (i) (i)  (iv) (i)
@) (i) (i) (@(v) (D)

P.T. O
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ﬁ#ﬂﬁ%ﬁ*ﬁﬁmﬁwﬁaﬁram%ﬁma%ﬂimfmmqaﬁ
sl | 3T
a e (i) et
b. PR (i) g1
| T (1if) TSI
d. H&T Wedr (IV)W |

1 O mGe v G )
8 @ () @ O G
1 G G O @
@ @ G () D)
N ! 84. Match the following ri\;ers and their tributaries :

1 : 1 River | B , -Tfibﬁtary
t li | ‘a. Rhine : - (i) Aare. -t
’ # b. Amazon (ii) Tao.
¥ i c. Colorado (iii) Madeira
5 d. Yellow (iv) Green

| v a b c d

) Gi) Gv) G G
@) Gy Gv) () (i)

il @) Gi) @ 0

4) () (i) (v) (i)
PG-EE-July-2024/(Geography)(SET-Z)/(D)
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it Al T I T REt & e H

qea® A
a. U (i) o
b. AT | (ii) @mef
. RIS (iif) TERT
d. ot (iv) &8

a b C d
(M Gi) Gy G @0
() () Gy @@ (i)
(3) (i) G Gv) @)
@) () Gi) Gy @)

85. Match the following climatic symbols and climatic regions as per Kocppen's

classification :

Symbol Climatic region
a. Bwh (i) Sub - Arctic Taiga
b. Aw (ii) Mediterranean
c. C (iii) Desert
d. Dfe (iv) Tropical Savana

a b ¢ d
(1) i) Gv) (@
@) Giy (v @iy @
3) (i) () () @)
@) () (v () (i)
PG-EE-July-2024/(Geography)(SET-Z)/(D) P.T.O.
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H
o srerarg, &
a. Bwh (i) II-SHCH Ealll
b. Aw (i) ‘T‘W '
c. C (iii) IFEAH
d. Dfe (iv) SRS dTd FATT

a b c d
(1) (i) @v) (@) @)
@) G  (v) (i) O]
(3) (i) (i) Siv) (1)
@) (@) Gv) () (i)
Which of the follow1;ng typés of clouds are situated at the highest in the sky and seldom

produce rain on earth ?

(1) Stratus (2) Nimbus
(3) Cirrus (4) Cumulus

Freffefaa & @ frd o & 90T ST ¥ 999 3 o gx Reg a0
oM gedt av Ff-Fq anf wea ¥ ?

(1) ¥ed (2) Freag
) et () Fge

PG-EE-July-2024/(Geography)(SET-Z)/(D)
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. which?one of the following feature is nor associated with the process of underground
water

(1) Dolines (2) Uvalas

(4) Eskers

| e d QA Rl e o @ s @ dt 7@ R
(1) S

(3) e

(3) Polljes

(2) Iad

(4) TERd

88. Which of the following countries has the longest coastline ?

(1) USA (2) Canada
(3) Russia (4) China
Prefefag § & ReE 3w @ qever @99 @ § 7

, (D) TeEg ' (2) TSt
(3) &4 (4) ==

89. Which is the correct arrangement of the atmospheric layers from nearest to farthest
from earth surface ?

(1) Troposphcre - Ozonosphere - Stratosphere - lonosphere
(2) Troposphere - Stratosphere - Ozonosphere - lonosphere
(3) Stratosphere - Troposphere - Ozonosphere - lonosphere

(4) Stratosphere - Troposphere - Ionosphere - Ozonosphere

gt ot |eE @ Frhead @ TRY O IYHSHI Ol B TS wr P
g7

(1) ersmieel - SMSIAEREY - 9T Hsd - F-HsSd
(2) & - AT "HSE - SIIHIEGHIER - STaTHSH
(3) 9HAY Hed - eHSd - STOAEHEY - STTHSH

(4) GHA Hed - eMHSA - STEFHSH - SNSIHIRBIER
PG-EE-July-2024/(Geography)(SET-Z)/(D)
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. i as
90. Match the following winds and their geographlcal are

Winds Geographical areas
a. Mistral (i) Egypt
b. Sirroaco (ii) Central plateau of France - |
c. Bora »(iﬁii) Blowout from Sahara desert towards Mediterrancan sca
d. Khamsins (iv)'Adriaﬁc sea region |

a b C d
{ W G v @) 6
/ () Gi)  Gi) Gv) @)
@) Gi) () @) @

4) () (@Gv) () (i) | o

a Prgw () P |
! b. ferd (ii) s 1 B0 TBX
c. @rr (iii) FERT AT § qHA TR A R sivense

d. @fe (iv) ufgaifess @

() Gii) (v) Gi) ()

(2) (i) (i) (iv) ()

(3) (i) (i) <i§> (i)

@ @ Gv) (i) (i)
PG-EE-July-2024/(Geography)(SET-Z)/(D)
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92.
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Which one of the following i
N 0 lovfrmg is the correct explanation of the concept of demographic
(1) There is exponential growth of pdpulation
(2) There is balanced growth of population
(3) Per capita income is very high

4) Whe i . ) : ’ )
@) growtnhworklng population ratio is high which has the potential for high economic

. A A B iR ami % SEaRen B gd A ®
(1) Ve F afig g o &
(2) S ¥ dgf ghs ach @
(3) sy =#R6 o T offers o

(4) == Bl SeeE e a:rfézs"a?m%, Ry S=a offds famrE H
AT Bt B ,

Which one of the following options about geographical area inhabited by Eskimos is
most suitable answer ?

(a) Greenland

(b) Greenland and North Canada

(©) Greenland, North Canada and Eastern Siberia

(d) Greenland, North Canada, Eastern Siberia and Alaska
(1) Only a (2) aand b

(3) a,band ¢ (4) a,b,candd
mmmﬂqﬁﬁﬁﬁﬂaﬁ%aﬁﬁﬁwﬁﬁﬂﬁﬁéﬁmwﬁw
Y IgY<h 3T 37

(a) T=ciS

DEESERSIES IFA HAST

(©) e, wd Fer T g A

(@) Hrdts, Ferdl e, g AT ST ST
(1) a< a (2) a3l b

(3) a, b3 ¢ (4) a, b, c 3 d
P.T. O.
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93.

94.

95.

Which of the following regions is inhabited by Nordic race people ?

(1) Northern liurope 2) Mediterranean

(3) West Asia (4) Tundra region

v 3 & A & s ok B A g aa g & 7
(1) S8 @ (2) gHeT FR

(3) fe=r wferm (4) gar A

) 1
Which one of the following is not an example of sedentary subsistence cultivation :

(1) Ganga-Kosi plain in Bihar
(2) Indus basin Pakistan |

(3) Wheat cultivation in Australia

(4) Paddy cultivation in Bangaldesh

Brffag § @ F-a1 T TREN Frate @dl & SEer 78§ 7
(1) frer & -t &1 Aad |

(2) Ty afe= aifeped

(3) eeferar & AE H A

(4) FivemRer 7 o H S

'Oriza Sativa' is associated with which of the following crops ?

(1) Wheat (2) Maize
(3) Rice (4) Tobacco
e Afegr Frafafaa § @ e waa § gefoa 8 7
k- 2) w

(3) |rae (4) deeR

PG-EE-July-2024/(Geography)(SET-Z)/(D)
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96. Which of the following statement correctly define "Conurbation" ?

(1) When at Icast one metropolitan city and many cities in its suburb merge together

with expansion of cities due to population growth.

(2) When one metropolitan city connected with many suburb cities by efficient
highways and rail routes

(3) When there are number of small towns developed between two metropolitan cities

(4) A city with a population of more than ten million

Frefifea & & fm-ar s g TR0 @ @d 1 § aienia Far ¥ 7

() S8 %9 q %9 T Fewrriy el QX IqH ST H HF 9@ STAHEA
e & HRoT el B RBraR & A o A s & s ¥

(2) 9 TH ABFIG X hE IO A § FHIA IR AT IA-HE A
ISt 8|

(3) S A HEFIIT B B S & Bl 98X f[awiaa B |
(4) =g fems @ sifge STl g e |

97. Donbas region or Donets Basin is famous for the production of :
(1) Coal : ‘ (2) Iron ore
(3) Gold (4) Bauxite
SarE 85 41 sHed AfaT fhEs Idrd & g afas B 7
(1) =rFe (2) 8 STaEh
(3) € (4) dierarge

PG-EE-July-2024/(Geography)(SET-Z)/(D) P.T.O.
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98.

100.

Which of the following countries has Savanna type climates .

D
Which country is largest producer of milk ? ' ‘ ﬁ
(1) Brazil | (2) Denmark
(3) India (4) USA
T FH TR TS IUESH Y AT B 7
(1) sohe . (2) 9T
ORUS (4) ZQad

The enormous volume of dust.swept across steppe lands of Asia and deposited in the
north-centra_l China is known as :
(1) Loess (2) Regur

(3) Terra Incognita (4) Terra Rossa soil

@m%éﬁ@ﬁ@w—qwﬁﬁﬁwﬁwaﬁﬁswwi
TH ®9 H ST AR B |

(1) <" @) TR

(3) ¥ FHITT (@) T e A

(2) Vietnam
(4) Argentina

(1) South Africa
(3) Sudan ‘ |
ﬁwﬁ‘rff@aﬁﬁﬁa‘a%ﬂa‘a’ra—mﬂe TG™T ThR Hl & ?

(1) aferor eTshraT - (2) fgaam

(3) gz (4) STt

PG-EE-July-2024/(Geography)(SET-Z)/(D)
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